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AU _2@°UA 12Eé°3s 4,563,659.8| 859,223.6 859,223.6| 178,299.5 178,299.5( 2,216,978.2 741,791.7| 420,704.0| 95,567.9| 96,419.5
31 Arasl
AUAZ20LT 12Eé°d 4,403,659.8| 859,223.6 859,223.6| 178,299.5 178,299.5( 2,216,978.2 741,791.7| 420,704.0| 95,567.9| 96,419.5
31 Arasl
2pE2T2Ugk 12802TdatAlacU 2,761,703.3| 554,378.4 554,378.4( 154,491.9 154,491.9( 1,284,439.3( 249,544.7| 183,899.0| 76,579.1| 79,356.1
31 Arasl
_ABUAT Tx3AT140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 2,761,703.3| 554,378.4 554,378.4( 154,491.9 154,491.9( 1,284,439.3( 249,544.7| 183,899.0| 76,579.1| 79,356.1
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 2,355,968.6| 516,767.6 516,767.6| 124,589.5 124,589.5| 1,063,972.6( 226,747.4| 158,386.5| 61,155.7| 63,909.0
- &3 - 3T AAUY»A, 1ABUST3Y EASE&8AUY»A N3 T1éal 8,172.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3fAY»f
- a303030C313Y, 13T 33Y 7 »T3I3Y 3 397,562.01 37,610.8 37,610.8( 29,902.4 29,902.4 220,466.7| 22,797.3| 25,512.5| 15,423.4| 15,447.1
136=3[a0Y»AC &= -3 hail
12&20asAladuUCBE @1 2482UgU°BE 1,206,818.7| 277,996.7 277,996.7( 23,807.6 23,807.6 744,522.0| 387,494.1| 224,305.0( 12,932.8( 10,983.3
O?ép' O‘Bél()@
31 Atadu
P3AaiYST313Y I13Eé»h 521,514.2| 113,811.2 113,811.2( 11,998.0 11,998.0 305,376.7| 66,794.2( 127,622.5( 11,352.4| 9,147.7
31 Arasl
- YY»f-» W CT 13é3(a0AlasYY»hi 360,465.7| 80,975.1 80,975.1 2,137.2 2,137.2 216,798.5| 44,149.4| 85,629.8| 8,988.7| 7,237.3
- TaUasY33t 13é3(a0AladYY»ii 11,270.7 6,243.4 6,243.4 40.0 40.0 4,634.2 1,302.2 2,848.7 41.6 36.0
- T=2AC 136=3(a0AlaiYY»h 110,909.2( 22,272.7 22,272.7 2,471.8 2,471.8 62,189.9 11,071.3| 34,1440| 1,852.1| 1,554.4
- 233NAT=3-A313Y I3Eé»f 20,210.0 4,320.0 4,320.0 640.0 640.0 10,640.0 2,480.0 5,000.0 320.0 320.0
- F&dloC  83AUS TaRasUY»AC T3R0S T3ta0AlasY 18,658.6 0.0 0.0 6,709.0 6,709.0 11,1141 7,791.3 0.0 150.0 0.0




€eT

20lae=T 01-01-01

1 2 3 4 6 7 8 9 10
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 297,604.1| 87,500.0 87,500.0 6,168.1 6,168.1 170,494.1| 142,420.8| 20,875.0 303.4 305.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 161,869.4 51,235.6 51,235.6 1,388.4 1,388.4 91,813.1| 57,979.4] 31,807.5 90.0 316.0
31 Afadu
- IS 13Y 1363(ajAladYY»h 1,420.1 600.0 600.0 42.0 42.0 500.0 100.0 400.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 6,974.8 300.0 300.0 196.8 196.8 4,393.7 194.4 3,200.0 30.0 95.0
- DO IBTT3T3Y 1363(aAlaiYY»h 7,310.1 1,585.6 1,585.6 499.6 499.6 3,898.8 1,000.0 2,332.5 30.0 161.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 500.0 0.0 0.0 500.0 500.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3acAlasYY»h 200.0 0.0 0.0 0.0 0.0 200.0 200.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 144,440.5( 48,750.0 48,750.0 150.0 150.0 82,660.0( 56,485.0] 25,875.0 30.0 30.0
- AYIN3YaA pYAHAC 3 1363a0AlaiYY»h 1,023.9 0.0 0.0 0.0 0.0 160.6 0.0 0.0 0.0 30.0
ZUE U~3eY3 -CU313Y 1363(a6Ala0YY»AC Onéup»iiasl 274.3 0.0 0.0 0.0 0.0 261.7 0.0 0.0 0.0 20.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0Y Y»ii 274.3 0.0 0.0 0.0 0.0 261.7 0.0 0.0 0.0 20.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 113,148.9 2,000.0 2,000.0 402.4 402.4 107,295.7| 102,292.4 3,200.0 240.0 120.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 113,148.9 2,000.0 2,000.0 402.4 402.4 107,295.7| 102,292.4 3,200.0 240.0 120.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 112,407.8 23,449.9 23,449.9 3,850.7 3,850.7 69,280.7| 18,007.3| 40,800.0 947.0| 1,074.6
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 20,602.5 5,286.2 5,286.2 646.0 646.0 10,698.7 3,095.8 5,800.0 185.8 172.9
- TASYEAANN3ICY YiasA»i 81,844.0| 12,395.8 12,395.8 3,000.0 3,000.0 55,3155 11,901.5| 35,000.0 741.2 881.2
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 6,127.9 1,934.5 1,934.5 204.7 204.7 3,266.5 3,010.0 0.0 20.0 20.5
- D30l YA3 W 313(CY 3 YiaiA»i 3,833.4 3,833.4 3,833.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 84,536.9 0.0 0.0 0.0 0.0 84,536.9 84,536.9 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 84,536.9 0.0 0.0 0.0 0.0 84,536.9| 84,536.9 0.0 0.0 0.0
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 84,536.9 0.0 0.0 0.0 0.0 84,536.9| 84,536.9 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 218,805.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. TBUSBYARANY»f UGeSt- SICY T3S T»AA4a0AlA0YY»ACY 3,989.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 3,989.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 214,816.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYAZ06CT 846U T»YOC3Y»i NBUSIYOY»ACY 190,160.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2[E AYAS4CT 13 U3RYAANY»f 24,655.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
€a0k2E2T2U Ua2éTURs 21 IT°Ué2Aab21U°s 91,000.0| 21,000.0 21,000.0 0.0 0.0 70,000.0 0.0 0.0| 6,000.0/ 6,000.0

=1 ATadu




veT

20lase=T 01-01-01

1 2 3 6 7 8 9 10
Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 91,0000| 21,0000 21,000.0 0.0 00| _ 70,0000 0.0 00| 6,000.0] 6,000.0
Ya3ewY»h (léoc»Co)
31 Atadu
- 2 YAZE T Y»A pidic»Co 91,000.0| 21,000.0 21,000.0 0.0 0.0 70,000.0 0.0 0.0] 6,000.0| 6,000.0
2UE ~‘| ZEéoé 40,795.2 5,848.5 5,848.5 0.0 0.0 33,480.0| 20,216.0 12,500.0 56.0 80.1
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 3,736.0 848.5 848.5 0.0 0.0 2,170.8 1,416.0 0.0 56.0 80.1
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 37,059.2 5,000.0 5,000.0 0.0 0.0 31,309.2 18,800.0 12,500.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 160,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 160,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 150,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIIYY»AC TSACT 3t T»A3Yana-ail 150,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE DEQU=120 Dk2adUos 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3-I3N»T3%AT313Y I3Eé»i 10,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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D 8 D D D D D D D 8 — u@_ :mg (Q_
11 12 13 14 15 16 17 18 19 20 21
AU)ZQOUA 12Eé°5 101,103.2( 137,671.3| 117,073.8| 110,723.5| 120,503.6| 102,388.9| 74,332.6| 98,698.2| 343,977.5 27,266.7| 15,029.0
31 Arasl
AUAZ20LT 12Eé°d 101,103.2( 137,671.3| 117,073.8| 110,723.5| 120,503.6| 102,388.9| 74,332.6| 98,698.2| 343,977.5 27,266.7| 15,029.0
31 Arasl
2pE2T2Ugk 12802Tda0AlaU 83,962.2( 114,670.2| 95,667.8| 83,608.5| 99,259.1| 84,328.2| 59,893.6| 73,670.8| 253,741.5 20,241.3| 13,033.0
31 Arasl
. A3VAT 1x3AT140 SREST3T3A0»A " NS T»E3 1x3AY»f 83,962.2( 114,670.2| 95,667.8| 83,608.5| 99,259.1| 84,328.2| 59,893.6| 73,670.8| 253,741.5 20,241.3| 13,033.0
31 Arasl
- 2RE 'I'éf)Y»ﬁC SREST3T3A0»A " NS T»E3B Tx3AY»A 66,977.8| 90,986.8( 75,795.2 66,584.9| 79,043.4( 67,278.5( 48,356.4| 58,751.0| 245,568.8 20,241.3| 13,033.0
- &3 - 3T AAUY»A, 1ABUST3Y EASE&8AUY»A N3 T1éal 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8,172.7 0.0 0.0
Tx3fAY»f
- a303030C313Y, 13T 33Y 7 »T3I3Y 3 16,984.4| 23,683.4 19,872.6 17,023.6| 20,215.7 17,049.7| 11,537.2| 14,919.8 0.0 0.0 0.0
[36340V»AC &3A- 3 1fiail
12&20a0AlasuUCBE ©1 2462UgU°dA 11,047.4| 16,873.2 15,373.3| 21,020.7 15,164.5 11,978.0| 8,378.3| 8,971.4| 85,468.1 3,024.3 1,996.0
0°p” ©5200
31 Atadu
P3AaiYST313Y I13Eé»h 9,377.9 14,280.8 12,739.2 19,118.3 13,1215 8,485.3( 6,322.2 7,014.7| 29,425.5 1,733.5 1,194.8
31 Arasl
- %Y»f - » Gl 13é3(a5AIa0Y Y»fi 7,557.2 11,941.8 10,319.2 16,108.8 10,322.8 5766.0] 4,3425( 4,435.0( 11,796.3 998.7 528.5
- TaUasY33t 13é3(a0AladYY»ii 42.8 59.1 79.2 42.1 53.4 61.2 30.9 37.0 80.8 13.0 4.5
- T3§lQ 13é3(a5AlasY Y»fi 1,457.9 1,828.6 1,748.3 1,289.4 2,079.2 1,905.0 1,525.6 1,734.1 13,388.4 481.8 461.8
- 233NAT=3-A313Y I3Eé»f 320.0 280.0 360.0 320.0 320.0 320.0 320.0 280.0 3,410.0 240.0 200.0
- ﬂéﬁUUQ ” é3ﬁﬂ3féﬁéﬁUY>>ﬁC T3A0313ta0Ala5Y 0.0 171.3 232.5 1,358.0 346.1 433.1 103.2 528.6 750.0 0.0 0.0




9eT

20lae=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 408.5 1,165.2 986.9 405.8 658.2 1,660.8 635.9 668.6| 30,745.0 188.3 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 85.0 185.6 193.0 270.0 169.7 372.7 208.0 136.2| 13,765.0 201.9 150.0
31 Afadu
- IS 13Y 1363(ajAladYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 30.0 80.0 98.0 150.0 81.2 223.7 123.0 88.4 132.3 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 25.0 50.0 55.0 45.0 58.5 79.0 45.0 17.8 709.3 29.6 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3acAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 30.0 30.0 30.0 30.0 30.0 30.0 30.0 30.0] 12,812.1 150.0 150.0
- AYIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 25.6 10.0 45.0 0.0 40.0 10.0 0.0 111.3 22.3 0.0
ZUE U~3eY3 -CU313Y 1363(a6Ala0YY»AC Onéup»iiasl 0.0 17.0 149.0 0.0 19.6 10.3 43.0 2.8 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0Y Y»ii 0.0 17.0 149.0 0.0 19.6 10.3 43.0 2.8 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 80.8 212.3 127.3 160.0 186.2 215.0 179.4 282.3 2,341.6 169.4 119.5
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 80.8 212.3 127.3 160.0 186.2 215.0 179.4 282.3 2,341.6 169.4 119.5
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 1,095.2 1,012.3 1,177.9 1,066.6 1,009.3 1,233.9 989.8 866.8 9,191.0 731.2 531.7
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 169.0 293.1 185.1 207.6 182.9 93.4 167.5 145.6 977.8 96.2 56.7
- TASYEAANN3ICY YiasA»i 900.4 682.0 972.8 831.2 800.0 1,111.2 795.2 698.8 8,121.6 632.0 475.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 25.8 37.2 20.0 27.8 26.4 29.3 27.1 22.4 91.6 3.0 0.0
- D30l YA3 W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
31 Afadu
. TBUSBYARANY»f UGeSt- SICY T3S T»AA4a0AlA0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
31 Afadu
-AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3,989.5 3,989.5 0.0
I3%U3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYAZ06CT 846U T»YOC3Y»i NBUSIYOY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2[E AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
€a0k2E2T2U Ua2éTURs 21 IT°Ué2Aab21U°s 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0( 6,000.0( 16,000.0 0.0 0.0 0.0

=1 ATadu




LET

20lase=T 01-01-01

11 12 13 14 15 16 17 18 19 20 21
Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 6,000.0|  6,0000| 6,0000| 60000 60000 60000| 60000 16,0000 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Atadu
- 2 YAZE T Y»A pidic»Co 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0 6,000.0| 6,000.0( 16,000.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 93.6 127.9 32.7 94.3 80.0 82.7 60.7 56.0 778.4 11.6 0.0
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 93.6 127.9 32.7 94.3 80.0 73.5 60.7 56.0 28.4 11.6 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 9.2 0.0 0.0 750.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE DEQU=120 Dk2adUos 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3-I3N»T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




8ET

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

20lae=T 01-01-01

Pa1T=1¢ =Yi=VaslA

S ATa0l ASH 17= - fofiG

TanT=1GA GRE=VAIAIRY, &» W 3T3Y 1262 T30USY NSYAZ&»TST3Y 7 w3AST0=CY 1263 12AUSY USAUCYY»AC &=Na=Vail

(V2ESASAY»AC SRESTST3W»AC US84T)

31 Afaol Aer
T=T=20a0V»AC

~i > > > > > ?’)- > . 1(-C>~>_ > > : > : > > >
=8| 98 |-~ B8 13 28| FE8|L B o8 |S» Bl S B LR 28
s2| 02 |5.2| F2| §2|LEd|wsd| g2 |viei|E 2| BE| i
=8| GF 728 > 3 V| ceB | zlLB8| RBE Ni=2&8 | © & 3 @8
HEHRPSIHBHEHE IR AR IR
8 8 e e IC 0 e 8 fg e 8 > e 2o i < o & e EL Q} ’0‘,): e | >0 & M > e
= M -0 0 < no PtV S =50 =M ‘=292 0 f?:--(") =N gm
o W ] 8 W o W 0 W S 0’)_ Eif| kil 8 i} ) jg Eif| o Eif| Imo i} W
<0 80’) 0 00 20 N ] 0 0 ’ 0 ! 0 70 20
& > > > ~>:_L~>_ \(:.5 > 8 ~>:_L~>_ > > 8 > 8 > 5 > >
22 23 24 25 26 27 28 29 30 31 32 33
AU)ZQOUA 12Eé°5 16,555.3| 23,549.9| 61,204.2( 12,300.9| 19,157.9| 15,579.0| 13,080.1( 12,619.9 17,040.4| 18,692.0( 16,612.8( 35,525.2
3 ATasl
AUAZ20LT 12Eé°d 16,555.3| 23,549.9| 61,204.2( 12,300.9| 19,157.9| 15,579.0| 13,080.1( 12,619.9 17,040.4| 18,692.0( 16,612.8( 35,525.2
3 A4l
2pE2T2Ugk 12802Tda0AlaU 13,544.5| 18,717.3| 19,004.8( 10,886.1| 16,912.2| 12,726.8| 10,867.3| 10,522.1 14,656.4| 13,403.1( 14,486.7( 32,847.7
3 A4l
. A3VAT 1x3AT140 SREST3T3A0»A " NS T»E3 1x3AY»f 13,544.5| 18,717.3| 19,004.8( 10,886.1| 16,912.2| 12,726.8| 10,867.3| 10,522.1 14,656.4| 13,403.1( 14,486.7( 32,847.7
3 ATasl
- 2RE -I-éOY»ﬁC SREST3T3A0»A " NS T»E3B Tx3AY»A 13,544.5| 18,717.3| 19,004.8( 10,886.1| 16,912.2| 12,726.8| 10,867.3| 10,522.1 14,656.4| 13,403.1( 14,486.7( 24,675.0
- &3 - 3T AAUY»A, 1ABUST3Y EASE&8AUY»A N3 T1éal 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8,172.7
Tx3fAY»f
- a303030C313Y, 13T 33Y 7 »T3I3Y 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
136=3[a0Y»AC &= -3 hail
12&20a0AlasuUCBE ©1 2462UgU°dA 3,010.8| 4,832.6| 42,199.4 1,414.8 2,236.9 2,852.2 2,212.8 2,097.8 2,380.6 5,288.9 2,126.1 2,672.9
O?ép' ©daid
=1 Afadu
P3AaiYST313Y I13Eé»h 2,0845( 3,819.4 1,983.5 784.2 1,306.4 2,094.5 1,631.6 1,383.0 1,105.1 4,338.2 1,100.1 1,172.9
3 A4l
- %Y»fi -»>UCl 13é3(a5AIa0Y Y»fi 1,116.8 1,976.0 352.0 173.1 299.3 1,120.8 213.9 322.3 212.1 2,715.5 443.7 0.0
- TaUasY33t 13é3(a0AladYY»ii 4.2 10.0 5.9 0.0 7.0 4.5 5.2 0.0 0.0 4.4 10.0 0.0
- T3é’1§ 13é3(a5AlasY Y»fi 763.5 1,553.4 1,415.6 491.1 760.1 769.2 1,292.5 900.7 613.0 668.3 446.4 852.9
- 233NAT=3-A313Y I3Eé»f 200.0 280.0 210.0 120.0 240.0 200.0 120.0 160.0 280.0 200.0 200.0 320.0
TG 6Sh0S T ARGBUNAC 1oR0= T STa0NaDY 00 00 0.0 00 00 00 0.0 0.0 00 7500 0.0 0.0




6€T

20lase=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32 33
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 50.5| 29,250.0 79.6 50.2 36.5 0.0 50.0 259.8 0.0 55.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 163.3 150.0| 10,146.0 150.0 150.0 109.2 150.0 156.3 161.8 266.1 2114 360.0
31 Afadu
- IS 13Y 1363(ajAladYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 0.0 0.0 0.0 0.0 0.0 14.2 0.0 0.0 0.0 0.0 78.1 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 13.3 0.0 108.9 0.0 0.0 0.0 0.0 6.3 11.8 62.1 28.3 75.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3acAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 150.0 150.0| 10,037.1 150.0 150.0 95.0 150.0 150.0 150.0 150.0 105.0 250.0
- AYIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 54.0 0.0 35.0
ZUE U~3eY3 -CU313Y 1363(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 129.1 195.0 75.0 70.0 150.0 185.7 105.9 75.6 231.2 100.0 179.5 261.2
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 129.1 195.0 75.0 70.0 150.0 185.7 105.9 75.6 231.2 100.0 179.5 261.2
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 633.9 617.7 744.9 331.0 580.3 426.3 325.3 432.9 622.7 584.6 580.1 878.8
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 152.1 80.0 25.1 26.6 125 155 35.5 304 121 60.1 95.1 188.8
- TASYEAANN3ICY YiasA»i 475.0 537.7 719.8 304.4 563.2 410.8 285.0 400.0 601.1 524.5 465.0 690.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 6.8 0.0 0.0 0.0 4.6 0.0 4.8 25 9.5 0.0 20.0 0.0
- D30l YA3 W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. TBUSBYARANY»f UGeSt- SICY T3S T»AA4a0AlA0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OQ| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYAZ06CT 846U T»YOC3Y»i NBUSIYOY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2[E AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
€a0k2E2T2U Ua2éTURs 21 IT°Ué2Aab21U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu




044

20lase=T 01-01-01

22 23 24 25 26 27 28 29 30 31 32 33
Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Atadu
T2EVASe T Yon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 8.8 0.0 0.0 0.0 3.4 0.0 0.0 4.6
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 0.0 0.0 0.0 0.0 8.8 0.0 0.0 0.0 3.4 0.0 0.0 4.6
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE DEQU=120 Dk2adUos 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- UBE3-I3N»T3%AT313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




114’

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 01
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

20lae=T 01-01-01

SH AT AST 1A= - fofiC

TARTS1CA CREZVAAISY, A»T3T3Y
T36313AU3Y NBYAS ST 3SISY
T3AST0BCY 1363 T3A/0U3Y
U=AlCYY»AC &=3Na=vail
(YBESASAV»AC SRESTSTUU»AC

TaRT=1Ch CRE3YA0AIRY, B3T3y
T26313/03Y IBYASa» 313V
TIASIU3CY T263T73AU3Y U3AUCYY»AC
a=la=vail (YSE2A3ha0Al6YY»fC
SRESTITWAC U264T)

1S3V 0pb I Y»AC

NGUY=Varia- aiu

U3ear)
31 Aracl Aewr 3 Ataol Aer 3 Ataou Aer
PA1T=30C 3Yi=YasUA T=7r3h/a0Y»AC \— T=73ha0Y»Ac \— T=73ha0Y»ic
> ;g > ;g >
> > O > > > > >
o8 o' 3 =z [0} :0')_ (?.)' 3 iz \< ('73(")3 e £ i< @ iz 3 = > U] (")_ © (")_
ce5e| 82 [sn28g| X |FRifs el 8 5 0 o
@ (1) 18 Ui b Ui ul 9,5’ . !JJ Ui o] ' 0 " x 8 a0 “F ul o] AUl - \=
cm:mmzc o5 u._kmzc 0] m\-._uzc mzc = [0} 0 n [0} "
oM 20 M SL - 10 o =0 = M M o Dl N
- 8 Eif| S A2 > =D M W M L 8 Eif| > = N ‘=
85 n | 8"°F < al "5y <0 0 < 80 =
z% > > 5 > - (_)’~>_ zmc > > 8
34 35 36 37 38 39 40 41 42 43
AU _2@°UA 12Eé°3s 13,745.1( 14,680.2 11,338.9( 567,120.8 288,883.4| 221,025.1( 57,212.3| 160,000.0| 100,000.0( 60,000.0
31 Arasl
AUA20LT 12Eé°8 13,745.1( 14,680.2 11,338.9( 567,120.8 288,883.4| 221,025.1( 57,212.3 0.0 0.0 0.0
31 Arasl
2pE2T2Ugk 12802TdatAlacU 10,799.3( 11,426.8 9,666.1| 494,200.5 252,009.2| 189,579.3| 52,612.0 0.0 0.0 0.0
31 Arasl
_ABUAT Tx3AT140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 10,799.3( 11,426.8 9,666.1| 494,200.5 252,009.2| 189,579.3| 52,612.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 10,799.3( 11,426.8 9,666.1| 384,971.8 196,374.4| 147,699.3| 40,898.1 0.0 0.0 0.0
- 43- 37w RalY»A, 1ASUST3Y EASE&aieaUY»A N3 W ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3fAY»f
- a303030C313Y, 13T 33Y 7 »T3I3Y 3 0.0 0.0 0.0 109,228.7 55,634.8| 41,880.0| 11,713.9 0.0 0.0 0.0
136=3[a0Y»AC &= -3 hail
12&20asAladuUCBE @1 2482UgU°BE 2,945.8| 3,253.4 922.8| 72,232.0 36,509.6| 31,122.1| 4,600.3 0.0 0.0 0.0
0ceg” °daid
31 Arasl
P3faiYST3T3Y ISEé»h 2,039.5| 1,323.2 331.1| 59,198.6 30,652.0| 25,624.9| 2,921.7 0.0 0.0 0.0
31 Arasl
- YY»f-» W CT 13é3(a0AlasYY»hi 1,205.0 118.6 0.0 47,779.8 26,046.9| 20,683.4| 1,049.5 0.0 0.0 0.0
- TAU&GY3E 13é3(adAladYvY»i 9.2 0.0 2.9 263.2 152.1 1111 0.0 0.0 0.0 0.0
- T=2AC 136=3(a0AlaiYY»h 665.3| 1,044.6 208.2 9,950.1 3,653.0 4,464.9( 1,832.2 0.0 0.0 0.0
- 243Nai=3-A313Y I2Eé»i 160.0 160.0 120.0 1,120.0 800.0 280.0 40.0 0.0 0.0 0.0
- F&dloC  83AUS TaRasUY»AC T3R0S T3ta0AlasY 0.0 0.0 0.0 85.5 0.0 85.5 0.0 0.0 0.0 0.0




44"

20lase=T 01-01-01

34 35 36 37 38 39 40 41 42 43
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 200.1 505.0 20.0 2,696.9 1,057.2 832.0 807.7 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 184.0 840.0 215.0 3,161.9 796.7 1,952.7 4125 0.0 0.0 0.0
31 Afadu
- IS 13Y 1363(ajAladYY»h 0.0 0.0 0.0 278.1 50.0 228.1 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 0.0 40.0 0.0 1,804.0 208.5 1,230.0 365.5 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 34.0 300.0 40.0 579.8 458.2 74.6 47.0 0.0 0.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYA3ICY eYY1C 13¢3acAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 150.0 500.0 175.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 500.0 80.0 420.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y 1363(a6Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 12.6 0.0 12.6 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 1363(a0Ala0Y Y»ii 0.0 0.0 0.0 12.6 0.0 12.6 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 84.2 120.3 90.0 931.8 596.0 286.3 49.5 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 84.2 120.3 90.0 931.8 596.0 286.3 49.5 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 438.0 464.9 266.7 6,230.2 3,407.7 2,413.6 408.9 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 46.6 44.5 0.0 2,819.1 840.9 1,678.8 2994 0.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 391.4 380.0 266.7 2,834.5 2,074.5 665.0 95.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 0.0 40.4 0.0 576.6 492.3 69.8 145 0.0 0.0 0.0
- D30l YA3 W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. TBUSBYARANY»f UGeSt- SICY T3S T»AA4a0AlA0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- 62020260312, 13213V~ & =12y =f 408,373.0 0.0 0.0[  408,373.0 408,373.0 0.0 0.0
126210V»AC A3 =T
- R=AT3CY ~ U20e3CY UBAUCYY»AG SRE3T1a0V»AC 80,000.0 0.0 0.0 0.0 0.0 0.0 0.0
&3 - "3Uhail
1282020A0a000°8£ ©1 2a52000°8£ 896,011.5|  3,700.0 3,700.0{ 3335775 333,577.5| 24,4340 24,434.0
0°ég™ Coadv
=1 ATaiU
P3AANVSTST3Y [SEé»f 256,048.3 0.0 0.0  211,2543 211,254.3] 10,294.0 10,294.0
=1 ATasU
- TaRT3&V=T3Y ~ u3VT3Y 13¢3aARVY»AG 1SEéxi 10,294.0 0.0 0.0 0.0 0.0] 10,294.0 10,294.0
- %WY»ii-» 0 GT 1363[a0A&0Y Y»h 151,792.3 0.0 0.0 141,792.3 141,792.3 0.0 0.0
- Talasv3t 1=63aoAlasyVoi 3,252.9 0.0 0.0 1,252.9 1,252.9 0.0 0.0




16T

20lase=T 01-01-02

1 2 3 4 5 6 7
- 13AC 13é3aAlasyY»h 37,309.3 0.0 0.0 27,309.3 27,309.3 0.0 0.0
- 283NaT=3-(=313Y I13Eé»h 8,040.0 0.0 0.0 3,040.0 3,040.0 0.0 0.0
- Ta0l0C ~* =303 TanaslY»iac 1303 T3EaoAlasy 36,559.8 0.0 0.0 34,059.8 34,059.8 0.0 0.0
- 2AT 3 - »AST»EEZT3Y ISEé»h 8,800.0 0.0 0.0 3,800.0 3,800.0 0.0 0.0
an1a0a00Y»C ~* RAc= - S(aGAlAYY»AC 1S Eéxf 83,006.2 0.0 0.0 20,506.2 20,506.2 0.0 0.0
a=u=y=-i=Cy Sk 1=63laiAlady Y»fi¢ O»éupxiiatl 227,404.9 3,700.0 3,700.0 81,264.9 81,264.9| 14,140.0 14,140.0
31 Afadu
- I3NES13Y 13¢63a0AIa5Y Y1 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1 98,269.7 0.0 0.0 64,129.7 64,129.7| 14,140.0 14,140.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 14,633.8 3,700.0 3,700.0 8,933.8 8,933.8 0.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 871.0 0.0 0.0 71.0 71.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C 13¢3acAlasYY»h 500.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064064=313Y 13Eé»h 23,200.0 0.0 0.0 200.0 200.0 0.0 0.0
- AYAIN3YaA pYAHAC 3 1363a0AlaiYY»h 87,930.4 0.0 0.0 7,930.4 7,930.4 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0AIa0YY»AC Onéup»iiasl 11,000.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 11,000.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 129,210.0 0.0 0.0 2,210.0 2,210.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 120,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- @»U»YBY»AC ~ SAUSTaRaUY»AC AYAZ6CT Yana-ail = 9,210.0 0.0 0.0 2,210.0 2,210.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 189,342.1 0.0 0.0 18,342.1 18,342.1 0.0 0.0
31 Afadu
- AZSESYIST3(CY YIaiA»A = N=- a6 50,217.2 0.0 0.0 10,217.2 10,217.2 0.0 0.0
- TASYEAANT3ICY YiasA»i 77,896.4 0.0 0.0 7,896.4 7,896.4 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 11,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaoAnii 10,228.5 0.0 0.0 228.5 228.5 0.0 0.0
- D3 a0l YA3S W 313(CY 3 YiaiA»i 40,000.0 0.0 0.0 0.0 0.0 0.0 0.0
. 62~®2P0369006 5,269,452.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA36Q-I- TASUSRYARNY»f A»TSIBY NS3¢ 3 5,269,452.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYAS6CT 1ASU3RYARANY»A 5,269,452.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 47,053.3 0.0 0.0 3,259.4 3,250.4 1,886.2 1,886.2
31 Afadu
U TCA=T Ta0Ala0YY»h 43 T2E3 T3S 13Y (NBE3AST313Y) 6,000.0 0.0 0.0 0.0 0.0 0.0 0.0
1=%0=1 >?ﬁ§lé(~)AUé(~)YY» ficY
31 Afadu
_—_U iCA=T Ta0AlaYY»i 3E R3NAA N> 3aY1a0 6,000.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY




[4<1%

20lase=T 01-01-02

1 4 5 6 7
D3fI»h, A= 1 S1CA 1x2NY»h W A0A»N, ANAYU ‘ 4,897.1 0.0 0.0 1,897.1 1,897.1 0.0 0.0
2623 T3A03Y T3 USTSA1STY»AC Ta0UC6 TCA=ET 400

»Y UCUI=Y6 YT=wU=0p

2F 1=Eé»h 36,156.2 0.0 0.0 1,362.3 1,362.3| 1,886.2 1,886.2
4a u£U2082T20 ZTTE1U°3E T1a1 126695 567,797.3 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

DEDUZ120 Bk2a0U°8 567,797.3 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

poUg°8 ©1 PEU&sAUaU0°5 300,000.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 A7 400

~P»YU»AC ~ RCVABAIADYY»1C RCY SH=nathiasy 250,000.0 0.0 0.0 0.0 0.0 0.0 0.0
—P»YU»iC ~ RCYAOABIYY»NC TSACT 3t T»N3Yana-aU 50,000.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 238,583.3 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

S INSYEAAN =Y 6=00=1analY »h 50,250.0 0.0 0.0 0.0 0.0 0.0 0.0
S 1S 12Y 620021 anaiuy»h 70,000.0 0.0 0.0 0.0 0.0 0.0 0.0
—2EU»ir V3ol - 3RS TARE0UY»A 118,333.3 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@UZ120 0Eza00°5 29,214.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400

CUSE=- 13 n /AT 2137 126 29,214.0 0.0 0.0 0.0 0.0 0.0 0.0




€47

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 01
EUUC 02 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»1C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NaLT2TV»AC

20la6e=T 01-01-02

SH AT AST 1A= - fofiC

2126121 2Ak»uC N2AIC

3/4F_~»_|-"I'ﬁéY3UCY - Y& Y» fc
N=SUST=30-C Y»ALiu3yY

TaRT=1Ch CRE3VA0AIRY, B3T3y
T26212R0=Y (2Vi=ar =13y -
TIA2U=Y 1262313002y

P3AT3(CY 1=é3(aAl=Y
USAUYC R=UST=1-C
U=0e3i0Y T=62la6A=Y

M»A313A0 -T1a1 & 1313y U3AUCYY»AC T3na0asAlasyY»fic YiasA3T3Y EA3E4iU3Y
&= %20 20400 (VRESA=naokoVY>ic | N=U=T=h-C %=n-=260=Y
SRESTSTIWAC USEAT) yay:
e ) ) £ £ 3 ArasU A 3 AfaU Aer 3 A4 Aer 31 AfaoU Aer
113 33 33 - ~ s - ~ . - P - ~ .
BatT=1G =Yi=vaUa - I=wsa0v-ic | o | T3 sma0vsic - =0 340V»AC - IS 3a0V»AC
B B B B
0 = 0 = 0 = 0 =
\E l% ;;% \E l% ;;% \E l% ;g *E l% i;%
< >R < >R < >R < >R
R 28 R 28 RN 28 RN 28
P n 0 P n 0 > 0 n > 0 n
m oF m oF m oF m oF
;— > ;— > ;— > ;— >
< 8 0 < 8 0 < 8 0 < 8 0
> > > >
8 9 10 11 12 13 14 15
AU)ZQOUA 12E68°56 5,269,452.0 5,269,452.01 9,000.0 9,000.0 58,333.3 58,333.3| 1,199,014.0 1,199,014.0
=1 Afasl
AUAZ0LT 12Eé°5 5,269,452.0 5,269,452.0| 9,000.0 9,000.0 0.0 0.0 689,550.0 689,550.0
=1 Afasl
2pE2T2Ugk 12802T0a0Alasu 0.0 0.0 0.0 0.0 0.0 0.0 130,000.0 130,000.0
=1 Afasl
. A3UAT 1x3AT40 3RE3T3T3A0»A " NST»E3 1x3AY»fA 0.0 0.0 0.0 0.0 0.0 0.0 130,000.0 130,000.0
=1 Afasl
- ZBE3'I'éOY»ﬁC SREST3T13A0»A N3 I»E3 1x3AY»h 0.0 0.0 0.0 0.0 0.0 0.0 50,000.0 50,000.0
- a3f- 3T RaUY»A, TASUBT3Y ENSBE&ieaiUY»A " NS al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tx3AY»A
- p=030=0C= T3, ST B S13Y SF 0.0 0o0[ 00 0.0 0.0 0.0 0.0 0.0
[363060Y»C A=A - 34U
“RSRT=GY ~ UBUE3CY USAUCYY»AC SREST1&0V»AC 00 00 0.0 0.0 0.0 00| 80,000.0 80,000.0
a=f- = rRal
jZéZUéﬁAUéﬁ)UUoélE o7 2482U0gU°dE 0.0 0.0 0.0 0.0 0.0 0.0 534,300.0 534,300.0
OPeg” @oadd
=1 Afasl
P3RAYST3T3Y IBEé»i 0.0 0.0 0.0 0.0 0.0 0.0 34,500.0 34,500.0
=1 Afasl
TaRTSEVII3Y -~ i3VI3KY 1363 aAa0TY»1G 1SEemh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IR > U CT 1363100 Yo 0.0 0.0 0.0 0.0 0.0 00|  10,000.0 10,000.0
- TAU&Y3E 13é63(a0AIaY Y»hi 0.0 0.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0




1251

20lase=T 01-01-02

8 9 10 11 12 13 14 15
- 13AC 13é3aAlasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 10,000.0 10,000.0
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 5,000.0 5,000.0
- Ta0l0C ~* =303 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 2,500.0 2,500.0
- 2AT 3 - »AST»EEZT3Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0 5,000.0 5,000.0
an1a0a00Y»C ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 62,500.0 62,500.0
a=u=y=-i=Cy Sk 1=63laiAlady Y»fi¢ O»éupxiiatl 0.0 0.0 0.0 0.0 0.0 0.0 128,300.0 128,300.0
31 Afadu
- I3NES13Y 13¢63a0AIa5Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0
- D3UST31-53CY 13¢3[a0AIa6YY»1 0.0 0.0 0.0 0.0 0.0 0.0 20,000.0 20,000.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 2,000.0 2,000.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0 0.0 0.0 0.0 0.0 800.0 800.0
- T»Y6303(CY " NSYASICY eYY1C 13¢3acAlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 500.0 500.0
- U»fil3[3064064=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 23,000.0 23,000.0
- AYAIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 80,000.0 80,000.0
ZUE U~3eY3 -CU313Y I363(a0AIa0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 11,000.0 11,000.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 11,000.0 11,000.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 127,000.0 127,000.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0 0.0 0.0 0.0 0.0 120,000.0 120,000.0
- @»U»YBY»AC ~ SAUSTaRaUY»AC AYAZ6CT Yana-ail = 0.0 0.0 0.0 0.0 0.0 0.0 7,000.0 7,000.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 171,000.0 171,000.0
31 Afadu
- AZSESYIST3(CY YIaiA»A = N=- a6 0.0 0.0 0.0 0.0 0.0 0.0 40,000.0 40,000.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 70,000.0 70,000.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 11,000.0 11,000.0
- T»Y6303ICY " NSYASICY eYY1C YlaoAnii 0.0 0.0 0.0 0.0 0.0 0.0 10,000.0 10,000.0
- D3 a0l YA3S W 313(CY 3 YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 40,000.0 40,000.0
. 62~®2P0369006 5,269,452.0 5,269,452.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA36Q-I- TASUSRYARNY»f A»TSIBY NS3¢ 3 5,269,452.0 5,269,452.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYAS6CT 1ASU3RYARANY»A 5,269,452.0 5,269,452.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 9,000.0 9,000.0 0.0 0.0 25,250.0 25,250.0
31 Afadu
U TCA=T Ta0Ala0YY»h 43 T2E3 T3S 13Y (NBE3AST313Y) 0.0 0.0 0.0 0.0 0.0 0.0 6,000.0 6,000.0
1=%0=1 >?ﬁ§lé(~)AUé(~)YY» ficY
31 Afadu
- UTCAST TatAlasYY»i 3F R3NAHIA aN»1=24&Y140 0.0 0.0 0.0 0.0 0.0 0.0 6,000.0 6,000.0

T3W3T»AA4AIAGYY»ACY




20lase=T 01-01-02

8 9 10 11 12 13 14 15
D3fI»h, A= 1 S1CA 1x2NY»h W A0A»N, ANAYU ‘ 0.0 0.0 0.0 0.0 0.0 0.0 3,000.0 3,000.0
2623 T3A03Y T3 USTSA1STY»AC Ta0UC6 TCA=ET 400

»Y UCUI=Y6 YT=wU=0p

2F 1=Eé»h 0.0 0.0] 9,000.0 9,000.0 0.0 0.0] 16,250.0 16,250.0
4a u£U2082T20 ZTTE1U°3E T1a1 126695 0.0 0.0 0.0 0.0 58,333.3 58,333.3| 509,464.0 509,464.0
= A7 400

DEDUZ120 Bk2a0U°8 0.0 0.0 0.0 0.0 58,333.3 58,333.3| 509,464.0 509,464.0
= A7 400

poUg°8 ©1 PEU&sAUaU0°5 0.0 0.0 0.0 0.0 0.0 0.0] 300,000.0 300,000.0
=1 A7 400

~P»YU»AC ~ RCVABAIADYY»1C RCY SH=nathiasy 0.0 0.0 0.0 0.0 0.0 0.0] 250,000.0 250,000.0
~P»YU»AC ~ RCYASAROYY»MC TSACT =t [»n=Yana-aol 0.0 0.0 0.0 0.0 0.0 0.0]  50,000.0 50,000.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0 58,333.3 58,333.3| 180,250.0 180,250.0
= A7 400

S INSYEAAN =Y 6=00=1analY »h 0.0 0.0 0.0 0.0 0.0 0.0] 50,250.0 50,250.0
S 1S 12Y 620021 anaiuy»h 0.0 0.0 0.0 0.0 0.0 0.0]  70,000.0 70,000.0
—2EU»ir V3ol - 3RS TARE0UY»A 0.0 0.0 0.0 0.0 58,333.3 58,3333|  60,000.0 60,000.0
20E pE@UZ120 0Eza00°5 0.0 0.0 0.0 0.0 0.0 0.0] 29,2140 29,214.0
= A7 400

CUSE=- 13 n /AT 2137 126 0.0 0.0 0.0 0.0 0.0 0.0] 29,2140 29,214.0

SST
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 01
EUUC 02 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»1C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NaLT2TV»AC

Pa1T=1¢ =Yi=VaslA

S ATa00 ASH 175 fofiC

“tailuxh- T @alA»ie
T T3TI313Y

'I'»ﬁUCY3E"(>>ﬁC"I'>?O31ﬁU3Y
T eA3E3AIU3Y 1x30

=i Af a0 AST
T=02R80V»AC

\—
\@©
=
0 oG
= 25
. S
5 28
S 0 n
Ul S ’0‘.):
S >
<L 8 0
>
16 17
AU _2@°UA 12Eé&°3s 7,657.7 7,657.7
3 ATasl
AUAZ20ET 12Eé°d 7,657.7 7,657.7
3 A4l
2pE2T2Ugk 12802Tda0AlascU 0.0 0.0
3 A4l
_ABUAT Tx3AT140 SREST3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0
3 A4l
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 0.0 0.0
- a3 - 37 nalY»A, 1HSUST3Y EA3EAealUY»0 N3 1 al 0.0 0.0
x3fAY»f
- Z3Of3l:1:’3(')@3-|-3Y, 13'!'3]-?? T A»T313Y 3¢ 0.0 0.0
1=3¢3a0Y»iAC &3 - "3 nasu
- N2AT3ICY " U=0é3ICY UBAUCYY»AC SRE3T1a0Y»AC 0.0 0.0
&3i-"371Ral
jZéZUéﬁAUéﬁuuoéﬁE o7 2a462UgU°sE 0.0 0.0
O°Peg” @oadd
3 A4l
P3AaYST313Y I1SEé»h 0.0 0.0
3 A4l
- AAT3EY3T3Y " p3YT3CY 1363(aiAlAiYY»AC 13 Eéxh 0.0 0.0
- YY»f-» W CT 13é3(a0AlasYY»hi 0.0 0.0
- TaU&iY3t 1=3é3acAlasy Yr»h 0.0 0.0

20la6e=T 01-01-02



LST

16 17
- 13AC 13é3aAlasyY»h 0.0 0.0
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0
- Ta0l0C ~* =303 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0
- 2AT 3 - »AST»EEZT3Y ISEé»h 0.0 0.0
Tan1ai0aiUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a=u=y=-i=Cy Sk 1=63laiAlady Y»fi¢ O»éupxiiatl 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa5Y Y1 0.0 0.0
- D2U3T31-53(CY 1363[a0Ala5Y Y»i 0.0 0.0
- DO IS TT3T3Y 1363(40AIa0YY»h 0.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 0.0 0.0
- T»Y6303(CY " NBYASICY 8YY1C 1363(40AlA0Y Y » i 0.0 0.0
- U»fil3[3064064=313Y 13Eé»h 0.0 0.0
- AYIN3Y4H7 pYadlAc 3E 1=363a0AlaiY Y»i 0.0 0.0
ZQE U:3eY3 -CU313Y I363(a0AIa0YY»AC Onéup»iiasl 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0
AYA36CT Yana-ail = a3Na3YaoU (1363[acAlasyY»n 0.0 0.0
YlaoA»fi)
31 Afadu
- P»YU»iC " T3¢40l0Y»AC AYASOCT Yaia-ail " A3N&a3Yaiu 0.0 0.0
- @»U»YBY»AC ~ SAUSTaRaUY»AC AYAZ6CT Yana-ail = 0.0 0.0
a=Na=vas
Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0
31 Afadu
- AZSESYIST3(CY YIaiA»A = N=- a6 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0
- T»Y6303(CY " NBYAZ(CY 8YY1C YIasA»h 0.0 0.0
- D3 a0l YA3S W 313(CY 3 YiaiA»i 0.0 0.0
562~®2I{Ué1690°6 0.0 0.0
31 Afadu
AYA36Q-I. TASUSRYARNY»f A»TSIBY NS3¢ 3 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- 2[E AYAS6CT 1ASU3RYARANY»A 0.0 0.0
ZQE ~‘I 2Eé°6 7,657.7 7,657.7
31 Afadu
U TCA=T Ta0Ala0YY»h 43 T2E3 T3S 13Y (NBE3AST313Y) 0.0 0.0
1=%0=1 >?ﬁé’lé16AUé(~)YY» ficY
31 Afadu
- UTCAST TatAlasYY»i 3F R3NAHIA aN»1=24&Y140 0.0 0.0

T3W3T»AA4AIAGYY»ACY

20la6e=T 01-01-02
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16 17
B=NT>n, ASA K S1CN 1xSAY» - 1 alA»N, anavl ‘ 0.0 0.0
263 73AU3Y T3 USTSALSTY»AC Ta0UCo TCR=éT 40U

»Y UCUIBY6 YIS w030

2 1SEé»h 7,657.7 7.657.7
2a u£02062120 Z11£10°0K T1a1 126895 0.0 0.0
31 Afal

DEDUZ12U OkeadUod 0.0 0.0
=1 Afal

po0s°8 @1 PEUAAU200USS 0.0 0.0
31 Afal

~P»YOAC ~ BCYABADYY»AC BCY SR RasARY 0.0 0.0
~ YOG~ RCYADADYY»C TSACT St T»h=Yana-aoU 0.0 0.0
2°g°020°8 ©1 &2002120a600°0 0.0 0.0
3 Afal

- TASYeAAN 1 20Y 83002 1ana00Y»h 0.0 0.0
1SS 13Y 63n0S1anao0y>n 0.0 0.0
~2E D>V 3Voh -~ 62002 1a0a00V»1 0.0 0.0
2UE pEGUZT20 #2009 0.0 0.0
31 Afal

- USES T3l 1o/ 1313 1SEéh 0.0 0.0

20la6e=T 01-01-02
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabor» 20y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 01 p=AYC 01

EUNG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P3i»ET31 N 5 - | »é30&(3T
200a56=3T N 01-01-03

20lae=T 01-01-03

St ATaol AST TS - fofiC

PP 1»8A3YAIAIAYY»AC DCe34%-3CY TS T»AAA0AIATY Y»ACY 2prss3li3vi=Y
V> AT={=26400340A16YY»AC DB W3V P2VA= 8y T aARY &3 TCA=TAARIYY»AC
a=la=va 3Y13(3T640AIBY Tx3AY»h AY145Y»ta0AIA5YY »Fi
AY2=2U»YA = a0 Aew 3 A4l Aer = Afao0 Aew
o =66 T3 7=3fa0Y»AC T3 7=/a0Y»AC =30 3A40Y»AC
PALT3IC 3YT3YaiUA - 40U=HA -
(N3%30 \— \— g \—
1R30Y»hiar) B o B o i B
. = . - = g . >
iyl 25 0 @ 25 0 < 0 G
< = G s Q i G L.z = <
= Sig - S G i< = - 8
< C 2 < <L =) M <L e
X .- X > =& | =F X )
3 Qn 3 < Qn £ 3 -
f (S f " (S ) f 0
d von d <« von HERNN d D
> Rl 1] > N Rl 1] !- m > m
< e 0 <L e 0 Hol i < —
m > 8 m > _m: :w 8
8 8 b3
D
Z
1 2 3 4 5 6 7 8 9
AU _2@°UA 12E&°8 3,549,373.8[ 2,390,442.6 2,390,442.6 550,172.4| 30,224.4] 484,033.5| 35,9145  70,000.0 70,000.0
=1 ATaiU
AUAZGET 12EE°8 3,540,923.8| 2,390,442.6 2,390,442.6| 550,172.4| 30,224.4| 484,0335| 35,9145  70,000.0 70,000.0
=1 ATaiU
2pE212Upk 1280210a0A0a00 209,505.3 3333 3333 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiU
_A3UaT 1x3A140 SREST 313000~ NS 1263 13V 209,505.3 3333 3333 0.0 0.0 0.0 0.0 0.0 0.0
SR YEL
- 2RESTA0V»AC SRES T3 T30 -~ N2 1263 1X3AY A 164,953.1 3333 3333 0.0 0.0 0.0 0.0 0.0 0.0
- g303030C313Y, IS 313Y ~ &» 13137 3 445522 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1263[a0Y»AC &3 -3 Thail
1262020AU2600°8K °1 2a52UgU°3k 325,327.2 4,200.0 4,200.0 0.0 0.0 0.0 0.0 0.0 0.0
0Peg” °8a00
=1 ATaiU
P2RAV=T=1=Y 1=Eé»h 40,0785 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Afadl
UY»R-»> 1 Gl 1263acA&oY Y»n 24,2885 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&0Y 3¢ 13631a0AlaaY Yoh 80.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-T13AC 1363laAa0Y Vi 15,149.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7 8 9
- 283NaT=3-(=313Y I13Eé»h 560.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 177,301.7 4,200.0 4,200.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 103,704.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 99.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 534.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 6,991.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»Ail3[3064064=3T3Y 13Eé»h 1,475.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 94,602.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyy»i 647.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 647.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 3,595.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»h ™ N3 - 406 1,365.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 2,060.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAni 159.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D37 ail YA 3T3CY 3 YiaiA»i 10.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 62~®2P03690°6 550,172.4 0.0 0.0| 550,172.4( 30,224.4| 484,033.5| 35,914.5 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 550,172.4 0.0 0.0| 550,172.4( 30,224.4| 484,033.5| 35,914.5 0.0 0.0
31 Afadu
- AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 550,172.4 0.0 0.0| 550,172.4( 30,224.4| 484,033.5| 35,914.5 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéoé 2,455,918.9| 2,385,909.3 2,385,909.3 0.0 0.0 0.0 0.0 70,000.0 70,000.0
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 9.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 2,455,909.3| 2,385,909.3 2,385,909.3 0.0 0.0 0.0 0.0 70,000.0 70,000.0
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 8,450.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D{EQL"JZ?ZU PExAOUCS 8,450.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
Dc"['{ﬂoa 1 bEUaAUauUCS 8,450.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»AiC ~ RCYABAIAGYY»AC O»éup»iasu 8,450.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabor» 20y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 01 p=AYC 01

EUNG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

20lae=T 01-01-03

S ATl AS W 1A= -fiofiG

DD SAT20CY - 4RI»AC

TaRT=1Ch CRE3YA5AI=3Y,

YSE3n3naiAl=y B T s A £ e
2rae=U=EY SESVETRC [ o e Ty
23R AY3T3Y §A»T3T3Y TZAZ ANV (ISANAVY WA _»BA3YAAIAIYY»AC R»YU»AC
asfray=1sy SA=RA0=T2R-C 1=e3130U3Y USAUCYY»AC VaiU
- 4N T40400Y»f Aot a3fia=yal
ATt A (YSE=n=faAavY-fic
A== Y450 SRE3T313YU»NC U3ear)
3 ATaoU Aer 3 Ataol Aer 3 ATaoU Aer 3 ATaoU Aew
S TS0 =RA0V»AC T=3A40V»AC TS0 =RA0V»AC T2 =RA0V»AC
Pali3IC 3Yi13YalUA
\— \— (?')_ \— (?')_ \—
\© \© — \© - \©
< > < 2 < £ " < £
2 e A K R N ‘- R R = o
= 3 = | s8Fgs | = 52 [Sx3E| 2 s
> 0] > S>> 0')- =4 8 > > c =5 T = > > c
35 \— 35 %I% & & :0')_ 3 g l(?: ;_‘ i :!J:é l(?: 35 54 z(?;
] & £ ferbl | & e neii] £ 1
< :0')_ < i 105): e S < i m"” =7 105): %J < i m"”
e TR I \J ml
8 U] o =
¢ 8
10 11 12 13 14 15 16 17 18
AU _2@°UA 12Eé°3s 125,000.0 125,000.0| 36,955.2 36,955.2( 273,751.0| 260,057.4 13,693.6 8,450.0 8,450.0
=1 ATaiU
AUA20LT 12Eé°8 125,000.0 125,000.0| 36,955.2 36,955.2( 273,751.0| 260,057.4 13,693.6 0.0 0.0
=1 ATaiU
2pE2T2Ugk 12802Tda0AUa0U 0.0 0.0| 17,790.6 17,790.6| 191,381.4( 179,689.1 11,692.3 0.0 0.0
=1 ATaiU
_ABUAT Tx3AT140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0| 17,790.6 17,790.6| 191,381.4( 179,689.1 11,692.3 0.0 0.0
SR YEL
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 0.0 0.0] 13,985.5 13,985.5| 150,634.3 141,038.8 9,595.5 0.0 0.0
- 02020260313, IS W =T13Y  Br i =13Y SF 0.0 00| 38051 3,805.1| 40,747.1| 38,650.3 2,096.8 0.0 0.0
13631a0V»AC A=A -3 TR&U
12&20asAlasuUCBE @1 2482UgU°BE 125,000.0 125,000.0| 19,164.6 19,164.6| 82,360.0( 80,368.3 1,991.7 0.0 0.0
0ceg” °daid
=1 ATaiU
P3faiYST3T3Y ISEé»h 0.0 0.0| 1,8944 1,894.4| 38,184.1| 37,275.9 908.2 0.0 0.0
=1 ATaiU
%>R - > 1 CT 1263a0AE0Y Yo h 0.0 0.0 0.0 00| 24,2885 24,0124 276.1 0.0 0.0
- TaU&iY3t 1=3é3acAlasy Yr»h 0.0 0.0 0.0 0.0 80.9 74.8 6.1 0.0 0.0
- T=2AC 136=3(a0AlaiYY»h 0.0 0.0| 1,8144 1,814.4| 13,334.7 12,748.7 586.0 0.0 0.0
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10 11 12 13 14 15 16 17 18
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0 80.0 80.0 480.0 440.0 40.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 125,000.0 125,000.0( 15,000.0 15,000.0| 33,101.7| 33,061.7 40.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 1,3735 1,3735 7,727.9 7,183.3 544.6 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0 99.6 0.0 99.6 0.0 0.0
- D3UST31-53CY 13¢3[a0AIa6YY»1i 0.0 0.0 135 135 521.4 326.4 195.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 60.0 60.0 6,931.9 6,856.9 75.0 0.0 0.0
- U»Ail3[3064064=3T3Y 13Eé»h 0.0 0.0| 1,300.0 1,300.0 175.0 0.0 175.0 0.0 0.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 197.2 197.2 450.0 370.0 80.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 0.0 0.0 197.2 197.2 450.0 370.0 80.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 699.5 699.5 2,896.3 2,477.4 418.9 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»h ™ N3 - 406 0.0 0.0 186.4 186.4 1,179.3 879.3 300.0 0.0 0.0
- TASYEAANN3ICY YiasA»i 0.0 0.0 513.1 513.1 1,547.4 1,458.5 88.9 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAni 0.0 0.0 0.0 0.0 159.6 139.6 20.0 0.0 0.0
- D37 ail YA 3T3CY 3 YiaiA»i 0.0 0.0 0.0 0.0 10.0 0.0 10.0 0.0 0.0
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 9.6 0.0 9.6 0.0 0.0
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 0.0 0.0 9.6 0.0 9.6 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8,450.0 8,450.0
31 Afadu
D{EQL"JZ?ZU PExAOUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8,450.0 8,450.0
31 Afadu
Dc"['{ﬂoa 1 bEUaAUauUCS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8,450.0 8,450.0
31 Afadu
- P»YU»AiC ~ RCYABAIAGYY»AC O»éup»iasu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8,450.0 8,450.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC -4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 01
EUC 03 126G Th=-fvAC - TaT N2 W= =1 K= T=6a00Y»7C T»iAT=YaUY A6w
[SE6»AC WY 1»63-Cr313Y 1363130-U3Y NaLT2TV»AC

S ATa0l ASH 1A= - fofiG

P3[EE13YC D3V a» 1 aiAIBYA
840 T»A»Y TSAT3YCR RYAAN»EAS
T=a=T6aiA=0p
T3=T»A40AlasY Y»AC Tadlco
U3T1aio 131 13¢3a0AlasYY»Ac
1CU=6 Tx3AU3Y 13Eé»i

3 Ataol Aewr
o T313a0V»AC
Pali3IC 3Yi13YalUA

5

piem

i oS

= R

. Bag

3 28

> 00

f >

d 0

5 i

3

19 20
AU 20°UA 12E6°5 94.602.6 94.,602.6
=1 ATaiU
AUA20LT 12Eé°8 94,602.6 94,602.6
=1 ATaiU
ZpE=12Ugk 1280215a0AUa00 0.0 0.0
=1 ATaiU
_ABUAT Tx3AT140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0
SR YEL
- 2RE3TA0Y»AC SRES TS T3A0» " NS T»E3 Tx3Y»fi 0.0 0.0
530306313, 1313137 - & 1313 3E 0.0 0.0
3¢3140V»AC &3-S 1adl
1282020AU2000°8E ©1 2a6=UpU°8k 94,602.6 94,602.6
0°ég™ Coadv
=1 ATaiU
b=REI =TT 15Ee 0.0 0.0
3r ATédU
IR > I CT 1363100 Vo 00 0.0
- TaU&sY=3E 1=363a0AlaiY Y» 0.0 0.0
TT3AC 1563 ANa0TYoh 00 0.0

20lae=T 01-01-03
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19 20
- 283NaT=3-(=313Y I13Eé»h 0.0 0.0
Tan1ai0aiUY»AC =~ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 94,602.6 94,602.6
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0
- D2U=T31-53(CY 1363[a0Ala5Y Y»i 0.0 0.0
- DO IS TT3T3Y 1363(40AIa0YY»h 0.0 0.0
- U»Ail3[3064064=3T3Y 13Eé»h 0.0 0.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 94,602.6 94,602.6
AYA36CT Yana-ail = a3Na3YaoU (1363[asAlasyY»n 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0
31 Afadu
- TAZE»YIST3ICY YiasA»h ™ N3 - 406 0.0 0.0
- TASYEAANN3ICY YiasA»i 0.0 0.0
- T»Y6303(CY " NBYAZ(CY 8YY1C YIasA»h 0.0 0.0
- D37 ail YA 3T3CY 3 YiaiA»i 0.0 0.0
562~®290369006 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 0.0 0.0
31 Afadu
- AYASOCT TA3USRYARNY»f UCeS%- 3ICY 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
=0E 128655 00 00
31 Afadu
D3>, é’l?'ﬁ"l'31(lﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Up
2 ISEé»f 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 0.0 0.0
31 Afadu
DEQPZiZU PExAOUCS 0.0 0.0
31 Afadu
Dc"['{ﬂoa 1 bEUaAUauUCS 0.0 0.0
31 Afadu
- P»YU»AC " RCYAGAIAGYY» G O»éupx»fiaiu 0.0 0.0

20lae=T 01-01-03
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§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y ase»C US6CY 0D
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363T3/-U=Y 01 p=AYC 03
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC
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i e Y a ™ A n e - AT&dU Aér 31 A1adu Aé 31 At1adu Aé
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1 2 3 4 5 6 7
AU >~2®?UA 12Eé°5 141,604.8 58,347.3 58,347.3 18,936.0 18,936.0 64,321.5 64,321.5
31 Atadu
AUAZ20ET 12Eé°d 141,604.8 58,347.3 58,347.3 18,936.0 18,936.0 64,321.5 64,321.5
3 A4l
2pE=T200k 128021620A0a50 68,547.8| 49,6118 49,6118 18,936.0 18,936.0 0.0 0.0
31 Atadu
. A3VAT 1x3AT40 SREST3T3A0»A " NS T»E3 1x3AY»f 68,547.8 49,611.8 49,611.8 18,936.0 18,936.0 0.0 0.0
3 A4l
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 60,452.2 41,516.2 41,516.2 18,936.0 18,936.0 0.0 0.0
- =0=0=0C313Y, IS TSI - Br =13V 3 8,095.6 8,095.6 8,095.6 0.0 0.0 0.0 0.0
126210V»AC A3 - =T
jZéZUéﬁAUéﬁUUOB/E o7 2a462UgU°sE 8,663.5 8,663.5 8,663.5 0.0 0.0 0.0 0.0
O°Peg” @oadd
3 A4l
P3AaYST313Y I13Eé»h 5,053.1 5,053.1 5,053.1 0.0 0.0 0.0 0.0
3 A4l
- %Y»A-» 0 Cl 13é3(a6AIadYY»h 3,791.6 3,791.6 3,791.6 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 26.5 26.5 26.5 0.0 0.0 0.0 0.0
“T=3AC 12631a0Ka0Y V»hi 1,035.0 1,035.0 1,035.0 0.0 0.0 0.0 0.0
-2330a1=- =137 1SEe»n 200.0 200.0 200.0 0.0 0.0 0.0 0.0
ManTa0a0UY»1C ~ BACS - SIABARIYY»NC 12 Eé»h 197.6 197.6 197.6 0.0 0.0 0.0 0.0
a3U=Y=-A3CY SE 1=631a0AIa0Y Y »AC O»eUp»iady 1,265.9 1,265.9 1,265.9 0.0 0.0 0.0 0.0
3 A4l
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20la5e=T 01-03-01

1 2 6 7
T DSUS13n- 23T 1563Ia0Aa3YY o 305.0 305.0 305.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(a0Ala0YY»h 802.0 802.0 802.0 0.0 0.0 0.0 0.0
TA>763031CY ~ NSYASICY 8YVAC 1363 a0Aa0YY»h 10.0 100 100 0.0 0.0 0.0 0.0
- U»AT3(20406521T3Y 13Eé»i 50.0 50.0 50.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAOAC SE 1363 R0N&Y YR 98.9 98.9 98.9 0.0 0.0 0.0 0.0
2U‘E U~3éY‘3 -CH31I3Y 13¢3a0Ala0YY»AC O»étpu»iiaiu 22.2 22.2 22.2 0.0 0.0 0.0 0.0
31 Atadu
TO3aY3 -G 3137 1263100 Voh 22 222 222 0.0 0.0 0.0 0.0
AVASGCT Vaia-ai0 ~ &=N&=Yall (1=26=R0AR6V Y - 1,045.0 1,045.0 1,045.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Atadu
TBYInAC -~ T3GAI0Y»AC AYASOCT Yana-ail ~ a3Na3Yail 775.0 775.0 775.0 0.0 0.0 0.0 0.0
DIV 3YoRC - 63U 1ARAUV»AC AYASGOCT Yana-ail 2700 270.0 270.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,079.7 1,079.7 1,079.7 0.0 0.0 0.0 0.0
31 Atadu
T qIR2EVIET2ICY VidbAn ~ N2 -&06 1 291.2 291.2 291.2 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashnn 699.6 699.6 699.6 0.0 0.0 0.0 0.0
TAV63031CY - NSYRSICY 8YYAG VIAbA 88.9 88.9 88.9 0.0 0.0 0.0 0.0
éc‘;;l(‘)fEZE‘2 120 Ua=2éeT1ues @i I°eUé2Aab21u°s 64,321.5 0.0 0.0 0.0 0.0 64,321.5 64,321.5
31 Atadu
BA6CESTY 0-VAAPY 1i=U=TY 3w =N=Tr aA=0n 64,3215 0.0 0.0 0.0 0.0 64,3215 64,3215
Ya3euY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 64,3215 0.0 0.0 0.0 0.0 64,3215 64,321.5
2UE 12E6°8 72.0 72.0 72.0 0.0 0.0 0.0 0.0
31 Atadu
P3AlI»A, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, af]aYu ‘ 40.0 40.0 40.0 0.0 0.0 0.0 0.0
IS63T3USY W3 USTSA1S1Y»i¢ 1a0UC6 TCA=67400
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 32.0 32.0 32.0 0.0 0.0 0.0 0.0
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=4 =4 a2l 22
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé°3s 966,508.1 223,973.4 223,973.4| 124,842.8 124,842.8| 9,866.0 9,866.0| 25,543.9 25,543.9
31 Arasl
AUAZ20LT I12Eé°d 966,508.1 223,973.4 223,973.4| 124,842.8 124,842.8| 9,866.0 9,866.0| 25,543.9 25,543.9
31 Arasl
2pE2T2Ugk 12802Tda0AlacU 311,469.9 200,888.5 200,888.5| 110,581.4 110,581.4 0.0 0.0 0.0 0.0
31 Arasl
_ABUAT Tx3A140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 311,469.9 200,888.5 200,888.5| 110,581.4 110,581.4 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 269,024.6 158,443.2 158,443.2| 110,581.4 110,581.4 0.0 0.0 0.0 0.0
- z30?»g?ég3'l'3\'(, 13'|'3'I'?\'( EES S R 42,445.3 42,4453 42,445.3 0.0 0.0 0.0 0.0 0.0 0.0
1=3¢3a0Y»iAC &3 - "3 nasu
12&20a0AlasuUUCBE @1 24a82UgU°BE 35,178.5 22,861.1 22,861.1| 12,317.4 12,317.4 0.0 0.0 0.0 0.0
O?ép' eEN
31 Atadu
P3faiYST3T3Y ISEé»h 21,375.0 17,509.0 17,509.0 3,866.0 3,866.0 0.0 0.0 0.0 0.0
31 Arasl
- YY»f-» W CT 13é3(a0AlasYY»hi 14,895.3 12,015.1 12,015.1 2,880.2 2,880.2 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é63acAlasy Yr»h 112.1 84.6 84.6 27.5 275 0.0 0.0 0.0 0.0
- T34C 13é3acAlasYY»h 4,668.3 3,847.0 3,847.0 821.3 821.3 0.0 0.0 0.0 0.0
- 233Na13-A313Y IBEé»i 590.0 453.0 453.0 137.0 137.0 0.0 0.0 0.0 0.0
- F&dloC  83AUS TaRasUY»AC T30S T3ta0AlasY 1,109.3 1,109.3 1,109.3 0.0 0.0 0.0 0.0 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 2,889.9 907.4 907.4 1,9825 1,982.5 0.0 0.0 0.0 0.0
a3U3Y=3-A3(CY 3F 1=363(4a0Ala0YY»AC O»élu»iiasy 6,476.0 1,299.4 1,299.4 5,176.6 5,176.6 0.0 0.0 0.0 0.0
31 Arasl
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20la5e=T 01-03-02

1 2 4 6 7 8 9
T DSUS13n- 23T 1563Ia0Aa3YY o 10315 1,0315 10315 0.0 0.0 0.0 0.0 0.0 0.0
- DO ISTT3T3Y 136340AlA6YY»A 5,278.5 101.9 101.9 5,176.6 5,176.6 0.0 0.0 0.0 0.0
- U»AI320640608313Y 12Eé»f 64.0 64.0 64.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaAdN pYAOAC SE 1363 R0N&Y YR 102.0 102.0 102.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0Aa0VI»TC 0»6Up»iiall 49.6 49.6 49.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TO3aY3 -G 3137 12631a0Na0YVoh 296 296 296 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ &=Na=Yai0 (126=A0Ra Vo 5155 3113 3113 204.2 2042 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
O IV 3YoRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 5155 3113 3113 204.2 204.2 0.0 0.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 3,872.5 2,784.4 2,784.4 1,088.1 1,088.1 0.0 0.0 0.0 0.0
31 Atadu
- ASE»YIRT3(CY YiaiA»n ~~ N=- 406 1,719.9 1,151.8 1,151.8 568.1 568.1 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 2,095.1 15751 15751 520.0 520.0 0.0 0.0 0.0 0.0
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 575 575 575 0.0 0.0 0.0 0.0 0.0 0.0
562~®2PU&690°6 617,691.9 0.0 0.0 0.0 0.0 9,866.0 9,866.0| 25,543.9 25,543.9
31 Atadu
AVAS6CT 1i=USRYARNY »h &0 1 212V N1 131G SF 617,691.9 0.0 0.0 0.0 0.0| 9,866.0 9,866.0| 25,543.9 25,543.9
USTSASTY»icY
31 Atadu
“2E AVASOCT TnSUSRYARNY i 617,691.9 0.0 0.0 0.0 0.0| 9,866.0 9,866.0| 25,543.9 25,543.9
éaOfEZEZTZU Ua=2étuos 21 1°Ué2Aab21U°s 1,944.0 0.0 0.0 1,944.0 1,944.0 0.0 0.0 0.0 0.0
31 Atadu
éééQ3E3-l-3Y 0-YalAIBY 1A3UST3Y 3 3N3nraiAlSup 1,944.0 0.0 0.0 1,944.0 1,944.0 0.0 0.0 0.0 0.0
Ya3&uY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 1,944.0 0.0 00| 19440 1,944.0 0.0 0.0 0.0 0.0
ZUE~ 1 2Eé°6 223.8 223.8 223.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3AI»A, &SAT31CA Tx3AY»A " waild»i, afnava 223.8 223.8 223.8 0.0 0.0 0.0 0.0 0.0 0.0

T363T3A0=Y 13Apsh USTSASTY>AC Ta0UC6 10A=6T40U
»Y UCUIBY6 YIS 030
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=1 ATadu
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= -

5 i
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<L 2 3
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10 11
AU b~2®?UA 12Eé°5 582,282.0 582,282.0
31 Afadu
A‘L"JA:Z(‘)/E 1 12EEé°0 582,282.0 582,282.0
31 Afadu
2PI§?T§UZ/E 12802T18a0AUasU 0.0 0.0
31 Afadu
. ﬁ3~Uél' X3 140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0
31 Afadu
- 2RE3TA0Y»AC SRES TS T3A0» " NS T»E3 Tx3Y»fi 0.0 0.0
- Z3C~)f3t:1f3é(23-l-3Y, 1IYI3Y 7 AT 3I3Y 3 0.0 0.0
136=3[a0Y»AC &= -3 hail
jZéZUéﬁAUéf)UUOé/E °i1 25020gU°sE 0.0 0.0
0°eg” 26a00
31 Afadu
D?ﬁ?ﬁY?-l-'\”-l-?’Y I3Eé»i 0.0 0.0
31 Afadu
- WY»h -»WCT 13é3aiAla5YY»i 0.0 0.0
- TaU&sY3E 1363a0AlaiY Y» i 0.0 0.0
- T3AC 13é3(a0AlasYY»i 0.0 0.0
- 2a3Nai 3-A=13Y I3Eé»n 0.0 0.0
- F&dloC  83AUS TaRasUY»AC T30S T3ta0AlasY 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
a3lU=3Y=2- =30y 3k 1363a0AlagYY»AC O»étu»fiadl 0.0 0.0

20la6e=T 01-03-02
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10 11
- D3U3T31-53CY 1363[a0AIA6YY»1i 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 0.0 0.0
- U»AI320640608313Y 12Eé»f 0.0 0.0
- AYIN3YaA pYAHAC 3 1363a0AlaiYY»h 0.0 0.0
2EUSEY= -0 =Ty 1363 1R0Aa0VI»TC 0»6Up»iiall 0.0 0.0
31 Atadu
TO3aY3 -G 3137 12631a0Na0YVoh 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3vaol (13¢31a0AlasyYV»h 0.0 0.0
YiaoA»h)
31 Atadu
OV 3YoRC 63U TanalUY-AC AYASGCT Yana- &l - 0.0 0.0
asNa=vail
UlaAon (FAR=Y0Y»h) 0.0 0.0
31 Atadu
T qIR2EVIET3ICY Vidbhn ~ N2 -&06 1 0.0 0.0
TInSYeRan 13Ky Viabhon 00 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaiAnii 0.0 0.0
. 62~®2DU aspUes 582,282.0 582,282.0
31 Atadu
AVAS6CT 1i=USRYARNY »h &0 1 212V N1 131G SF 582,282.0 582,282.0
USTSASTY»icY
31 Atadu
“2E AVASOCT TnSUSRYARNY i 582,282.0 582,282.0
820EE212U Ua=e1U°8 o1 1°U8=2Aap=10°8 0.0 0.0
31 Atadu
éééQ3E3-|-3Y 0-YalAIBY 1A3UST3Y 3 3N3nraiAlSup 0.0 0.0
Ya3&uY»h (ulase»Co)
31 Atadu
T2EVASe T Yon HaicnCo 0.0 0.0
ZUE~ 1 ZEéoé 0.0 0.0
31 Atadu
D3AI»A, &SAT31CA Tx3AY»A " waild»i, afnava 0.0 0.0

T363T3A0=Y 13Apsh USTSASTY>AC Ta0UC6 10A=6T40U
»Y UCUIBY6 YIS 030

20la6e=T 01-03-02
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& T3T3Y 136373003 2ATT30sY NB0SVOC | & WSTSY S¢3TOAAAY | . ooy o mvssxkian
TSASIUBCY 1363 T13A03Y SRESTST34C T»Yrnay! aa=T-cy '
U3AlCYY»iC a3Na3vaiu a=la=vail
AY1=20»YA o L o L o L o .
135 __3U1 Al aoL~J Ae ] _?Ul Al aoLg Ae ] __3U1 Al aoL~J Ae ] __3U1 Al aoL) Ae ]
PALT=1C 3V T=VaiUA . 8H0=RA - =1 =/40Y»AC - 1= 3R40Y»AC - IS 2i40V»iC - 1= =3140Y»AC
(N3%=3d < Repe-oy < < > < >
i A =n 0 [ 0. 0.
s 0w 2 > c &0 g0
< O - T > < &M < I - < -
2 Sam g o RN = 2 nm 2 00
> \m- o0 @ 2 > ’05): ‘A S \— P ‘=
0 n s hE 0 0 &> 0 0 0 m 0 0 m
s w.2T 02 s Qi€ s L s oW
< =3 N < il < -t < -
XA & 8 2
1 2 3 4 5 6 7 8 9 10
AU _2@°UA 12Eé°3s 239,964.2| 129,886.4| 128,071.0| 1,815.4| 1,231.8 1,231.8| 31,345.0 31,345.0| 77,501.0 77,501.0
3 A4l
AUAZ20LT 12Eé°5 239,964.2| 129,886.4| 128,071.0| 1,815.4| 1,231.8 1,231.8| 31,345.0 31,345.0| 77,501.0 77,501.0
3 A4l
2pE2T2Ugk 12802Tda0AlascU 76,594.1 75,528.3 73,735.9( 1,792.4( 1,065.8 1,065.8 0.0 0.0 0.0 0.0
3 A4l
_ABUAT Tx3A140 SREZT3T3A0»A ~ NS T»E2 Tx3AY»f 76,594.1 75,528.3 73,735.9( 1,792.4( 1,065.8 1,065.8 0.0 0.0 0.0 0.0
3 A4l
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 62,088.5| 61,022.7 59,230.3| 1,792.4( 1,065.8 1,065.8 0.0 0.0 0.0 0.0
- 53030363 13Y, 131313 - 1313y 3E 14,505.6| 14,505.6| 14505.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
126=2(a0Y»AC &3 -"=Thasl
12&20a0AlasuUCBE ©1 2462UgU°dA 53,958.7 53,860.7 53,837.7 23.0 98.0 98.0 0.0 0.0 0.0 0.0
0°ep” ©5200
31 Atadu
P3AaiYST313Y I13Eé»h 51,235.2 51,151.8 51,151.8 0.0 83.4 83.4 0.0 0.0 0.0 0.0
3 A4l
SR -»> W CT 1263a0Aa0Y Y»h 42102 4,571 4,157.1 0.0 53.1 53.1 0.0 0.0 0.0 0.0
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- 1363 T3S 13Y 13¢3a0Ala6YY» 1 104,312.2 0.0 0.0 0.0 0.0 0.0 0.0 104,312.2| 52,528.6| 47,183.6| 4,600.0
- U»fil3[3064004=313Y 13Eé»h 1,100.0 100.0 50.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 2,147.2 92.4 92.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 8,900.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 8,900.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 2,755.6 455.6 390.0 65.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-ail = 2,755.6 455.6 390.0 65.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vas
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 11,2314 3,273.0 2,656.0 617.0 1,098.7 0.0 1,098.7 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 4,308.4 1,209.7 1,062.3 147.4 1,098.7 0.0 1,098.7 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 6,187.1 1,627.4 1,187.4 440.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 735.9 435.9 406.3 29.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 136,809.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 136,809.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 136,809.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 13,733.5 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. TBUSBYARANY»f UGeSt- SICY T3S T»AA4a0AlA0YY»ACY 2,000.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OQ| 1A3U3RYAANY »A UCe3Y- 3(CY 2,000.0 2,000.0 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 11,7335 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3C')Q-I- IASUSRYAANY »f a» T 313Y " N3U3IYU=3(CY a3 11,7335 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIY Y»ACY
€a0L2E2T2U Ua=2éTU®s 21 IT°Ué2Aab21U°s 9,177.8 9,177.8 9,177.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu




08T

20lase=T 01-06-01

1 2 3 4 5 6 9 10 11
Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 9.177.8| 9.177.8 9.177.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Atadu
- 2 YAZE T Y»A pidic»Co 9,177.8 9,177.8 9,177.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 691,284.4 79.8 42.4 37.4( 120,000.0| 120,000.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 1,283.8 79.8 42.4 374 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 689,000.6 0.0 0.0 0.0 120,000.0| 120,000.0 0.0 0.0 0.0 0.0 0.0
A3Na06 1T 3ICY UGGAdY»h 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 1,138,842.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 1,138,842.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 749,437.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 7494375 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o7 é23g2T1adaigued 389,404.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- 2E U»»Y3Y»A ~ 63A03TaRa0UY»A 389,404.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363T37-U=Y 01 p=AYC 06

EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

20lae=T 01-06-01

St ATa0l ASH TR - fofiC

p=U=RE=AN=(CY u=YT1¢

a»13T3Y -4l

Z‘XéﬁﬁlY»ﬁC ) 393'I'éé§A'U3[Ju ’ N=3R i?éU3Y, -éﬁpﬂ?:ﬁU?’Y, o S
TS T»AAU3Y CAZT3Y=36140 a» 1313y a0eaiuY=eCnasAlasyYY»nc = é»BUCT AR Ta3YalAlBY
3Y61=3603Y N3TT3I¢ -Y3N=3TWU3Y 31%.3(CY 1=é3a0Alasy
SRE3T3YUY»A u3ﬁ>>+éE§16[J"(>>ﬁQ »ATRaRT 3BE3'I'?YUY»[~‘|C
173 -Ci CAST3Y30640U
e s syAr = ATail AT =h ATacl A6 =i Afadl AeT =i Afadl Ae
17=3jCc Vi3 n - i, ! . . . "
Batr=1e =Yr=vasua \— 1313Aa0Y»AC \— 1371 3A4a0Y»AC \— 1313Aa0Y»AC \— 13713Aa0Y»AC
SRl = = poprs E
wn > wn > P
\lmE 3% :(f)- “D: > \lmE g;g{ \lmE 3% :(f)- “D: > \lmE 'mg“>' . ’%E}I;%
= SLlg < £ = ga=lg < CR
3 7oA i >c i 7oA i oy C
ﬁ \o °(U o) lg ﬁ (VY] ﬁ N O(U N lg ﬁ lmC ] 0 % 0]
j e i T oF T el e T | Fr=SE
g 2.2 0 3 S8 3 0. 2= 0 3 i
< 0 > Q- % w = 0 > O\ % ) L
—— 2 8 U] - 2 ok ul
NoRE=] > NOR=1 - (.)‘~>_
a0 207
12 13 14 15 16 17 18 19
AU _2@°UA 12Eé&°3s 5,516.3 5,516.3| 193,835.9 193,835.9 6,217.2 6,217.2| 136,809.5 136,809.5
3 ATasl
AUAZ20ET 12Eé°d 5,516.3 5,516.3 31,541.2 31,541.2 6,217.2 6,217.2| 136,809.5 136,809.5
3 A4l
2pE2T2Ugk 12802Tda0AlascU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
_ABUAT Tx3AT140 SREST3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- a3 - 37 nalY»A, 1HSUST3Y EA3EAealUY»0 N3 1 al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TX3fY»ii
- ﬂ3(~)j3t:1',3*é(23'|'3Y, 13'!'3]'?? T A»T313Y 3¢ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=3¢3a0Y»iAC &3 - "3 nasu
12&20a0AlasuUCBE ©1 24a62UgU°dA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0ceg” °daid
3 A4l
P3RaYSISI3Y ISEé»fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 A4l
- YY»f-» W CT 13é3(a0AlasYY»hi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T=2AC 136=3(a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 233NAT3-A313Y I3Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 01-06-01

12 13 14 15 16 17 18 19
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0AlA0Y Y»AC O»éup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3U3T31-53CY 1363[a0AIa6YY»1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-ail = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vas
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek £E20°8 0.0 0.0 0.0 0.0 0.0 0.0| 136,809.5 136,809.5
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ A>W 313 I3W3T»AQ4a0AIAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 136,809.5 136,809.5
31 Afadu
- @aipeCIC=Y» aa YCYSYEST3Y a»n313Y 0.0 0.0 0.0 0.0 0.0 0.0 136,809.5 136,809.5
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 5,516.3 5,516.3 0.0 0.0 6,217.2 6,217.2 0.0 0.0
31 Afadu
. TBUSBYARANY»f UGeSt- SICY T3S T»AA4a0AlA0YY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
-AYA3OQ| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U3T»A&40AIA6Y Y»ACY
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI3I1C 3 5,516.3 5,516.3 0.0 0.0 6,217.2 6,217.2 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3C')Q-I- IASUSRYAANY »f a» T 313Y " N3U3IYU=3(CY a3 5,516.3 5,516.3 0.0 0.0 6,217.2 6,217.2 0.0 0.0
3¢ T A3ICY 133 T»RA40AIY Y»ACY
€a0L2E2T2U Ua=2éTU®s 21 IT°Ué2Aab21U°s 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

=1 ATadu




€8T

20lase=T 01-06-01

12 13 14 15 16 17 18 19
Ba6CE=1=7 0-VAR=Y 1h=U= 157 S n =R=Tn aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (léoc»Co)
31 Atadu
T2EVASe T Yon HaicnCo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0] 31,541.2 31,541.2 0.0 0.0 0.0 0.0
31 Atadu
P3A1»M, é’l?ﬁ"l'31@ﬁ fX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, éf]{?lYU ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0] 31,541.2 31,541.2 0.0 0.0 0.0 0.0
A3Na06 1T 3ICY UGGAdY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
éla LLI/EUZUéZTZU 2TTEIUCHE T1ai 12Eé°5 0.0 0.0] 162,294.7 162,294.7 0.0 0.0 0.0 0.0
31 Atadu
D/E@QZfZU ofkxaoU°d 0.0 0.0] 162,294.7 162,294.7 0.0 0.0 0.0 0.0
31 Atadu
Dc"qﬂoa °7 bEUasAVasuUCH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TB»YUmAC -~ RCYAORIGIYY»AC TSACT 3t T»A3Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@'f’zf’U%UOé o1 é28g21a0a000°8 0.0 0.0] 162,294.7 162,294.7 0.0 0.0 0.0 0.0
31 Atadu
- 2E U»»Y3Y»A ~ 63A03TaRa0UY»A 0.0 0.0] 162,294.7 162,294.7 0.0 0.0 0.0 0.0




8T

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

YOG 7-fit NaTT3TAT pade» 1 3i0Y TSES»AC -afl=eyY3T3Y 1363137- 037 01 p=AYC 06
EUKG 01 136C 1A= -ivfiC - TaT KBS 21 K3 WT20400Y»AC T»AT3Va0Y Asr
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

20lae=T 01-06-01

S ATl AS W 1A= -fiofiG

DD T3é63T13n40AIBYY 3¢€AYA»A
3YR3AA - &luC T21367RC
S T3T3Y TACT»C
& wan3u3A=YasUY»ic Taduco
U3waio1a0 1=3é3(a0Ala6YY»Aco
820140 »T3Va5 W Y»AC N3RICY
TalCr»C N=3U=T=0-¢ a3Na3vail

2g0) T26=31=3haA=Y
=¢3T640A1=0p
CA=T=Y=6140
§D==3i=UI=TC
USAT=NAZ oA
1430=RY4AN3ICY TA=-Ch

P=U=RE=AN=CY p=YI¢G
=¢=16aAIE0p
CAST3Y=6140 ¥» I RAY3ICY
N=e3a=TasAl=Y
Unoasy=TasAl=yY N=U=h
Yan=a=nasAi=yY 1A= -Ch

P3U3RE3ANZICY p=3YIC
=¢3T64a0AR0u
CA=T=2Y=6740 D3AT=CY
I3fEEienashi=yY
SRCST3Y3603Y TA=3-Ch

1 e = e AR 3 Araol Aer 3 Ataol Aer 3 Ataol Aer 3 A1aol Aew
173 33 33 - o .- . .- . ~ . - ~ .-
BatT=1G =Yi=vaUa - I=13ha0Y»AC - 1= 13ha0Y»AC - 1= 2A40Y»AC - 1= =h40Y»AC
E — = = E
0 385 0 o 0 0% 0 o
= () - 5’” = l% ;;% = l% ;;% = l% ;;%
< f% L0 @ < > k=] < > k=] < > k=]
> -1 > 00 > 0 n > 00
U} 0 2= U] 5 E 0] 5 ) 5
g w'S O g S0 g S0 g 4]
< N2 - < w < w < w
=0T s 2 2 =Ry
8 M ot > > >
20 21 22 23 24 25 26 27
AU _2@°UA 12Eé&°3s 908,703.6 908,703.6( 28,224.1 28,224.1| 993,886.9 993,886.9( 137,370.9 137,370.9
31 Arasl
AUA20LT 12Eé°8 908,703.6 908,703.6( 28,224.1 28,224.1| 216,277.1 216,277.1 6,955.5 6,955.5
31 Arasl
2pE2T2UgkE 12802TdatAlacU 798,082.4 798,082.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_ABUAT Tx3AT140 SREST3T3A0»A ~ NS T»E2 Tx3AY»f 798,082.4 798,082.4 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 607,160.6 607,160.6 0.0 0.0 0.0 0.0 0.0 0.0
TSR S TR, ThUST3Y ERSEARA0T»n ~ N1 a0l 113,154.0 113,154.0 0.0 0.0 0.0 0.0 0.0 0.0
TX3fY»ii
- 2303036C313Y, 137 313Y " W 3I3Y 3¢ 77,767.8 77,767.8 0.0 0.0 0.0 0.0 0.0 0.0
136=3[a0Y»AC &= -3 hail
12&20asAladuUUCBE @1 2482UgU°BE 108,417.2 108,417.2 0.0 0.0 0.0 0.0 0.0 0.0
0°ep” 232060
31 Arasl
P3AaYSIS13Y ISEé»h 84,352.7 84,352.7 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
IR -» WGl 1263 R0Aa0Y Vi 55,1017 55,1017 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&iY3t 1=3é3achlasyYr»h 365.0 365.0 0.0 0.0 0.0 0.0 0.0 0.0
“T=AC 1363la0Aa0Y Yoh 4,200.0 4,200.0 0.0 0.0 0.0 0.0 0.0 0.0
- 283Nai=3-A313Y I2Eé»i 1,920.0 1,920.0 0.0 0.0 0.0 0.0 0.0 0.0




8T

20lase=T 01-06-01

20 21 22 23 24 25 26 27
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 15,578.0 15,578.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2AT 3 AT »EEZT3Y ISEé»h 7,098.0 7,098.0 0.0 0.0 0.0 0.0 0.0 0.0
Man140a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéxi 2,200.0 2,200.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63a0AlA0Y Y»AC O»éup»hasl 3,804.8 3,804.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- I3NES13Y 13¢63a0AIa6Y Y1 50.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3U3T31-53CY 1363[a0AIa6YY»1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 700.0 700.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1363 T3S 13Y 13¢3a0Ala6YY» 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 1,000.0 1,000.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaiA pYAGAC 3 1363a0AlasYY»h 2,054.8 2,054.8 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a0Ala0YY»AC Onéup»iiasl 8,900.0 8,900.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
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31 Atadu
- @3EY3-Cu 313V 13¢3(a0Ala0YY»h 217.5 217.5 2175
AYA~36C-I- Yania-ail - A3Na3YaiU (13é3lacAlasYY»i 6,705.0 6,705.0 6,705.0
YlaoA»fi)
31 Atadu
- P»YU»AC " T3éa0l0Y»AC AYAROCT Yana-ail ™ A3Na3Yail 500.0 500.0 500.0
DIV 3YoRC - 63003 1ARAUY»AC AYASGOCT Yana-ail 6,2050| 6,205.0 6,205.0
asNa=vail
UlaAon (ZAR=Y0Y»h) 49,9909| 49,9909 49,990.9
31 Atadu
T qIR2EVIET3ICY VidbAon ~ N2 -&06 1 7.5825| 75825 7,582.5
TANSYeAAN T 3T Yiashwn 41,2754| 41,2754 41,275.4
TAV63031CY - NSYRSICY 8YYAG VIAbA 9355 9355 9355
TDST&T YAS T ST3CY SE ViaoAnh 1975 1975 1975
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 5,0005| 50005 5,000.5
31 Atadu
846CE>1=Y 0-VAAPY 1n=0= 127 S n=R=ln aA=Uj 5,0005| 5,0005 5,000.5
Ya3ewY»h (laoc»Co)
31 Atadu
T2EVASe T Yon HaicnCo 5,0005| 5,0005 5,000.5
2UE ~‘| ZEéoé 20,600.0| 20,600.0 20,600.0
31 Atadu
D3RI»n, A=A S1CR Tx2RT»n T alkoR, AHaT0 ‘ 600.0]  600.0 600.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 20,000.0| 20,000.0 20,000.0

20lae=T 03-01-03



Tce

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC - aRT=26V=2T3Y 1263T20-03Y 03 p=AYC 02

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P3i»ET31 N 5 - | »é30&(3T
200as6=3T N 03-02-01

S ATa00 ASH TR fofiG

=1 ATadu

USES=natisy oAT=A=A T262asAl=Y
S1A=-Mic N=U=T=0-¢
P ey s sy | evai=u=A=vaY»ic
-ASe»Y 31 : 201 313Y é.3Né.3Yé(~)U
NCUY=ATC &=Na=vasl
AY1=(»YA — —
13ég St ATagu AeT St ATadu Aer
PALT=IC 3YT=VaiUA - &U=RA = 13713na0Y»A¢ = 13713na0Y»A¢
(N=%=f e =
133V RAT [ul > = [ul > =
R - TF 5 = T 5
< = 2 0 =8 < =20 =3
A .—(f)lc A mlcl_mzc
o 102: \m m x 0 > = \m m x 0
(f) m -:-UZC (f) m —:_QIC
d V0= o V0 =0
< | sEFRE | = | GEFLY
8= ol 8= ol
1 2 3 4 5
AU _2@°UA 12Eé&°d 1,283,518.6| 10,853.7 10,853.7| 1,272,664.9 1,272,664.9
=1 AtasU
AUA20LT 12E€°8 1,283,518.6| 10,853.7 10,853.7| 1,272,664.9 1,272,664.9
=1 ATaiU
2pE2T2Ugk 12802Tda0AlacU 1,145,077.6| 10,437.7 10,437.7| 1,134,639.9 1,134,639.9
=1 ATasU
_ABUAT 1x3i1T40 SRESTST3A0»0 NS> Tx3Y»h 1,145,077.6| 10,437.7 10,437.7| 1,134,639.9 1,134,639.9
=1 ATaiU
- 2RE3TA0Y»AC SRES TS T3A0» " NS T»E3 Tx3Y»fi 1,136,908.6| 10,437.7 10,437.7| 1,126,470.9 1,126,470.9
-'Z3(7Jf3l:1:’30@3-|-3Y, 13'!'3]-?? EES SR 8,169.0 0.0 0.0 8,169.0 8,169.0
13é3(a0Y»iC &30 - "3Triail
12&20a0AladUUCBE 1 2482UgU°dE 119,625.8 411.0 411.0 119,214.8 119,214.8
O?é}b' eEN
3r ATéiU
P3fAYSTI3T3Y ISEé»fi 58,433.4 40.0 40.0 58,393.4 58,393.4
=1 ATaiU
- WY»h -»WCT 13é3aiAla5YY»i 31,632.7 0.0 0.0 31,632.7 31,632.7
- TAUAYS3E 13é63(a0Ala0Y Y»ii 4,215.0 0.0 0.0 4,215.0 4,215.0
- T3AC 13é3(a0AlasYY»i 8,331.7 0.0 0.0 8,331.7 8,331.7
- 2a3Nai 3-A=13Y I3Eé»n 12,160.0 40.0 40.0 12,120.0 12,120.0
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 2,094.0 0.0 0.0 2,094.0 2,094.0
Man1a0a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéx 4,473.6 84.0 84.0 4,389.6 4,389.6
a3(U3Y=-iA3(CY 3E 13¢3a0AlasY Y»AC O»€tu»fiaiu 1,010.5 55.0 55.0 955.5 955.5

20lae=T 03-02-01



(444

1 2 4 5
T DSUS13n- 23T 1563Ia0Aa3YY o 4555 0.0 0.0 4555 4555
- DO ISTT3T3Y 136340AlA6YY»A 40.0 40.0 40.0 0.0 0.0
- U»AI320640608313Y 12Eé»f 515.0 15.0 15.0 500.0 500.0
2EUSEY= -0 =T 1363 R0Aa0VI»TC O»6Up»iiall 699.0 0.0 0.0 699.0 699.0
31 Atadu
TP -G 3137 12631600 Voh 699.0 0.0 0.0 699.0 699.0
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 54713 200 200 54513 54513
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 54713 200 200 54513 54513
asNa=vail
UlaAon (FAR=Y0Y»h) 495380| 2120 212.0( 49,3260 49,326.0
31 Atadu
TREE VIS T3ICY Vidohoh -~ N2 - 2061 10,7430 77.9 779  10,665.1 10,665.1
- A03TY T »E313Y SAA3YuY»h 509.6 0.0 0.0 509.6 509.6
TANSYeAAN T 3T Yiashnn 342494 1189 1189| 34,1305 34,1305
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 152 152 152 0.0 0.0
TDST&T YAS T ST3CY SE ViaoA h 4,020.8 0.0 0.0 4,020.8 4,020.8
8a0k=t=120 Ua=e1U°8 ©1 1°U6=Aap=10°8 15,759.0 0.0 00 15,7590 15,759.0
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 127 S =R=ln aA=Up 15,759.0 0.0 00| 15,7590 15,759.0
Ya3ewY»h (léoc»Co)
31 Atadu
“THVESRAR=1C SV0V»E0 o i TSRT=T -~ T =nCu=IY 15,759.0 0.0 00| 157590 15,759.0
Y&3&W Y»fi piaic»Co
ZUE~ 1 ZEéoé 3,056.2 5.0 5.0 3,051.2 3,051.2
31 Atadu
D3AI»fA, A3AW31CA Tx3AY»A " waild»i, afava 3,056.2 5.0 5.0 3,051.2 3,051.2

T263T3A0=Y 13Apsh USTSASTY>AC Ta0UC6 10A=6T40U
»Y UCUIBY6 YIS 030

20lae=T 03-02-01



€ce

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr =0y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 03

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200as6=3T N 03-03-01

20lae=T 03-03-01

St ATa0l ASH TR - fofiC

pp =[0=y=1a=T3Y

WSV 2T0AC
R=AT=1CA T=wr=hasly

125213V Qb TY»AC

PD 12T 3A2YY»C

=1 ATadu

13 3R3Y¢ &3Na3Yail | 3a3Naral 1=é3lail=yY NCUY=Yana-4iU a3Nasvasl
a3Nasvail
AY13(0»YA = A0 As =1 A4l As = ATa00 As =1 AT400 A6
S 136C - T3 3Ra0V»AC - T3r3fad»ic | « | T=r=ra0v»fc - T3 T3/a0Y»AC
PA1T=1C =Y =YailA - 430=RA N, — N, N, N,
(R=v=h 0 ] 0 RS 0 - 0 -
1A3UY»Aar) = 0 . = =4 _;g; s 6— & s 6— .
= TS . —A . -3
5 § i 5 s 5 Tw 5 "
3 > 3 [0 5 - > Fralie
0] VR U] 0= U] M < U] M
g 20 g e 0 g a0 g a0
< n - < (’H’) %J < 2 °(E % 2 0(2
o =R A A
5 o
1 2 3 4 5 6 7 8 9
AU_20°0A 12E&°8 2,030,140.6| 106,590.4 106,590.4| 283,430.5 283,430.5] 500.0 500.0| 1,639,619.7 1,639,619.7
=1 A7 400
AUAZOET 12E6°8 2,029,640.6| 106,590.4 106,590.4| 283,430.5 283,430.5 0.0 0.0] 1,639,619.7 1,639,619.7
=1 Afasl
2pE2120pk 1200218a0A0a0U 1,672,434.9| 88,867.2 88,867.2| 224,125.0 224,125.0 0.0 0.0 1,359,442.7 1,359,442.7
=1 Afasl
_SUAT 1x3nT140 SRES TS 1310 NS 103 [ x31Y»A 1,672,434.9| 88,867.2 88,867.2| 224,125.0 224,125.0 0.0 0.0 1,359,442.7 1,359,442.7
=1 Afasl
- 2RESTA0V»AC SRES W ST 20050 -~ N2 1562 1xSAY»A 1,427,291.0 76,202.9 76,202.9| 175,330.5 175,330.5 0.0 0.0] 1,175,757.6 1,175,757.6
- 2020200313, B33y - A1 3137 3F 2451439 12,664.3 12,664.3| 48,794.5 48,7945 0.0 0.0] 183,685.1 183,685.1
1=26310Y»AC &=3A- =1 nal
12620a6AUa600°8K ©1 2a020sU°0k 348,758.4| 17,609.4 17,609.4| 54,570.7 54,570.7 0.0 0.0] 276,578.3 276,578.3
0°er” ©3a00
=1 Afasl
P=Ray = 1213y 12E6xh 303,7165| 8,795.4 8,795.4| 46,334.1 46,334.1 0.0 0.0| 248,587.0 248,587.0
=1 Afasl
YA -»> W CT 1263a0Aa0Y Y»h 209,211.1]  5,999.6 5,999.6] 30,187.6 30,187.6 0.0 0.0] 173,023.9 173,023.9
- TaUaoY =t 1=6=la0kasy Y»n 5,472.6 319.2 319.2| 1,192.0 1,192.0 0.0 0.0 39614 3,961.4
“T=AC 1=26=1a0Aa0Y Y1 841329 1,717.2 1,717.2| 12,094.0 12,094.0 0.0 0.0] 70,3217 70,321.7
-2&3Nai = -2 13Y 12Eé»h 2,559.4 759.4 759.4 520.0 520.0 0.0 0.0 1,280.0 1,280.0
~A0I0C 6310 1aNa0UY»1C T 2n0= 1 SLa0Aia0y 2,340.5 0.0 0.0] 23405 2,3405 0.0 0.0 0.0 0.0
ManTa0a0UY»1C ~ BACS - SIABARIYY»NC 12 Eé»h 7,016.6| 3,772.9 3,772.9 421.7 4217 0.0 0.0 2,822.0 2,822.0
A=1U=3Y= A=Y = 126=3a0Aa0y Y»1C 0»@Up»nasy 10,1174  2,300.6 2,300.6| 2,644.4 2,644.4 0.0 0.0 51724 5172.4




vee

20lae=T 03-03-01

1 2 4 6 8 9
T DSUS13n- 23T 1563Ia0Aa3YY o 4.676.8 30.0 30.0 910.0 9100| 0.0 0.0 3,736.8 3,736.8
- DO ISTT3T3Y 136340AlA6YY»A 1,767.2 681.6 681.6 0.0 0.0 0.0 0.0 1,085.6 1,085.6
- T3E63T3AT3Y 136340AlasYY»A 1,734.4 0.0 0.0 1,734.4 1,734.4 0.0 0.0 0.0 0.0
- U»AI320640608313Y 1=Eé»f 1,939.0 1,589.0 1,589.0 0.0 0.0 0.0 0.0 350.0 350.0
2EUSEY= -0 =Ty 1363 R0Aa0YI»TC O»6Up»Tiall 12020 0.0 0.0 0.0 00[ 00 00 12020 1,202.0
31 Atadu
TO3aY3 -G 3137 12631a0Na0YVoh 1,202.0 0.0 0.0 0.0 00| 00 0.0 1,202.0 1,202.0
AVAS6CT Vara- a0~ &=Na=Yai0 (126=A0Ra Vo 15314 1757 1757 310.7 310.7] 00 0.0 1,045.0 1,045.0
YiaoA»h)
31 Atadu
O IV 3YoRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 15314 1757 1757 310.7 310.7] 00 0.0 1,045.0 1,045.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 25,1745 2,564.8 2,564.8 4,859.8 4,859.8 0.0 0.0 17,749.9 17,749.9
31 Atadu
- ASE»YIRT3(CY YiaiA»n ~~ N=- 406 17,019.7 359.8 359.8 3,5633.1 3,633.1 0.0 0.0 13,126.8 13,126.8
- TH3YEAARW3(CY YiaiA»h 6,721.4 2,160.0 2,160.0 1,235.0 1,235.0 0.0 0.0 3,326.4 3,326.4
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 1,101.4 5.0 5.0 917 917| 00 0.0 964.7 964.7
TDST&T YAS T ST3CY SE ViaoA h 332.0 0.0 0.0 0.0 00| 00 0.0 332.0 332.0
8a0k=t=120 Ua=e1U°8 ©1 1°U6=Aap=10°8 5,868.0 0.0 00| 44280 44280 00 00 14400 1,440.0
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 127 S =R=ln aA=Up 5,868.0 0.0 00| 44280 44280 0.0 0.0 1,440.0 1,440.0
Ya3ewY»h (léoc»Co)
31 Atadu
- 2 YA Y»h piaic»Co 5,868.0 0.0 0.0 4,428.0 4,428.0 0.0 0.0 1,440.0 1,440.0
2UE 12E6°8 25793| 1138 1138 3068 306.8] 0.0 00 21587 2,158.7
31 Atadu
D3>, é’l?'ﬁ"l'31()ﬁ fX?ﬁY>>ﬁ - 'I'éﬁUA))ﬁ, éf]{?lYU ‘ 2,579.3 113.8 113.8 306.8 306.8 0.0 0.0 2,158.7 2,158.7
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ US13A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Up
éh"?l liI/EUZUé2 12U 2ITEIUCBE T 1ail 12Eé°d 500.0 0.0 0.0 0.0 0.0 500.0 500.0 0.0 0.0
31 Atadu
D{EQL"JZTéU oFzaoUed 500.0 0.0 0.0 0.0 0.0 500.0 500.0 0.0 0.0
31 Atadu
ZUE P/EQQZ 12U @E=aoU°d 500.0 0.0 0.0 0.0 0.0 500.0 500.0 0.0 0.0
31 Atadu
- USE3 - I3 T3%AT313Y I3Eéxi 500.0 0.0 0.0 0.0 0.0 500.0 500.0 0.0 0.0




Gee

8§32 3VC DBVASA» T AIBY 2016 ATSTSYC 8» W 3T3Y idse»C US6CY 0D
Of»YUC 7-fi1 NA1T2TAT paic» W 2ICY T2Eex»AC -af136Y2T3Y 1263137 U3Y 03 u=AYC 03

EUNC 02 136G 1A= -AvfC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200a56=3T N 03-03-02

20la6e=T 03-03-02

SH AT AST 17= - fofiC

PP US40 CA= Ta0YUY»fiC
A3 ASYC
SRESTST3UC
&3Ma3YU3Y I=Eé»A

P2YASICY &= a=YC
-A=e»YI=1¢ &=Na=Yail

S T2T3R40ABYY»ACY

AVL-ATT=T A - USYCAToiC,
+an0=-»Y»AC ~ TT3Y»AC

1303 fiasAlasy

2y I x3fay=TaA=Y
-ART»AAT T26= T2RACAY»ACY
ChinY6 U Tai6=1
136=3[40AlasYY»AC 1C0=6

+aEN=T14064il

AY1=20»YA o . Lo . o . L
135 S ATalU Ae S ATaU Aéw St ATalU Aén St ATalU Ae
PALT=IC 3YT=Y45UA - 45U3RA - I=13A40Y»A¢ = I3T13A40Y»MA¢ = 131 3A40Y»AC = I3713A40Y»AC
(N=1%=0 = = > < <
1ABUY»AAT 0 . 0 U 0 - 0 =
A3UY»Nar) = ’%A%_’ § = If;(% ;g < (?')_ I>£ x ’gg
< B = < -3 < -_—5 < ?.; g
3 22wl 3 s 3 o 3 22
> LS S K40 S = - > 00
m neSh " N m M ic m 5
d Q. d e d d 0 d 0
< Loyl = o = o S S
< 50 < 0% < RN < 20
zmc > o >
1 2 3 4 5 6 7 8 9
AU _2@°UA 12E&°% 126,688.5( 46,684.1 46,684.1| 75,454.4 75,454.4 1,550.0 1,550.0 3,000.0 3,000.0
=1 Afaiu
AUAZ0ET 12EE°d 126,688.5( 46,684.1 46,684.1| 75,454.4 75,454.4 1,550.0 1,550.0 3,000.0 3,000.0
=1 ATadu
2pE2T2Ugk 12802Tda0A0a0U 36,258.9| 36,258.9 36,258.9 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afagu
L ASUar 1x3A140 SRESTST310»0 " NS T»E2 Tx3AY»f 36,258.9| 36,258.9 36,258.9 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afadu
- 2RE3TA0Y»AC SRES TS T30» NS T»E3 Tx3AY»fi 29,406.3| 29,406.3 29,406.3 0.0 0.0 0.0 0.0 0.0 0.0
- 12130?9?6(23]'3?, 13'|'3'I'?\'( EES SR 6,852.6( 6,852.6 6,852.6 0.0 0.0 0.0 0.0 0.0 0.0
13é3(a0Y»iC &30 - "3Triail
12&2020AUA0UUCHE @1 2582UgU°sE 11,155.8( 9,605.8 9,605.8 0.0 0.0 1,550.0 1,550.0 0.0 0.0
O?ép' ©daid
=1 ATV
P3R4y ST3T3Y I3Eé»i 5,190.6( 5,190.6 5,190.6 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afaiu
- WY»h -»WCT 13é3aiAla5YY»i 2,630.3| 2,630.3 2,630.3 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3E 1363a0AlaiY Y» i 15.8 15.8 15.8 0.0 0.0 0.0 0.0 0.0 0.0
- 134G 1363la5AiaYY»ii 1,433.5| 1,4335 1,433.5 0.0 0.0 0.0 0.0 0.0 0.0
- 283Nai=3-/=13Y I3Eé»n 400.0 400.0 400.0 0.0 0.0 0.0 0.0 0.0 0.0
- Ta0l0C ~* =30 TanaslY»iac 1303 T3EaoAlasy 711.0 711.0 711.0 0.0 0.0 0.0 0.0 0.0 0.0
Man1a0a00Y»MC ~* RAc= - S(aGAlAYY»AC 1S Eéx 1,871.9| 1,871.9 1,871.9 0.0 0.0 0.0 0.0 0.0 0.0
a3lU=3Y=2- =30y 3k 1363a0AlagYY»AC O»étu»fiadl 2,229.6 679.6 679.6 0.0 0.0 1,550.0 1,550.0 0.0 0.0
=1 ATadu




9¢¢

20la5e=T 03-03-02

1 2 3 4 5 6 8 9
- I3NEST13Y 13¢63la0AIa6Y Y1 1,500.0 0.0 0.0 0.0 0.0 1,500.0 1,500.0 0.0 0.0
- D3U3T31-53CY 1363[a0Ala6YY»1i 138.5 138.5 138.5 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 176.1 176.1 176.1 0.0 0.0 0.0 0.0 0.0 0.0
- T3ES T3S 13Y 13¢3a0AlasYY» 1 50.0 0.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0
- U»fil3[3064064=313Y 13Eé»h 270.0 270.0 270.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3VYAHA uYAUAC 3 1=63(asAladYY»h 95.0 95.0 95.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C-I- Yana-ail -~ a3Na3Yail (13é3lasAladyY»i 421.8 421.8 421.8 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 421.8 421.8 421.8 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 1,441.9| 1,441.9 1,441.9 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiasA»n ™ N3 - 406w 307.6 307.6 307.6 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 1,019.0| 1,019.0 1,019.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAnii 115.3 115.3 115.3 0.0 0.0 0.0 0.0 0.0 0.0
. 62~®2P03690°6 788.8 788.8 788.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
. ﬁ3~U3BYéﬁNY>>ﬁ UCe31%-3ICY T3HUST»NAAAIEGYY»ACY 788.8 788.8 788.8 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OQI 1A3U3RYAANY »A UCe3Y- 3(CY 788.8 788.8 788.8 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
eaok=t=1 20 U&a=2éT1uU°s ©i 1°eUé=2Aap210°s 78,454.4 0.0 0.0| 75,4544 75,454.4 0.0 0.0 3,000.0 3,000.0
31 Afadu
éééQ3E3-l-3Y 0-YalAlRY 1303 13Y 3w 3N3rasAl=lu 78,454.4 0.0 0.0| 75,4544 75,454.4 0.0 0.0 3,000.0 3,000.0
Ya3&uY»f (ulase»Co)
31 Afadu
- 2 YA3eY»ii plaic»Co 78,454.4 0.0 0.0| 75,4544 75,454.4 0.0 0.0 3,000.0 3,000.0
2UE ~‘| ZEéoé 30.6 30.6 30.6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D3>, é?ﬁj|'31(;ﬁ TX?ﬁY>>ﬁ - 'I'él’f)UA»ﬁ, aﬁaYu ‘ 30.6 30.6 30.6 0.0 0.0 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1Ch=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn




lec

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabor 20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 03 p=AYC 04

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

SH AT AST 1A= -fiofiC

Pb 1= =E3Y4a0AI=Y
a=la=vail

= ATasl Aewr

AVIZU»YA - TST3R40V»AC
U =66 2 =
Pa1T30C 3VT=3ValA - 86U=fiA 0 =z
(=s=n = 2
ASUY»RAT) - Ry
N M
S Eil|
J i
< (*H')
a
1 2 3
AU _ 2@°UA 12E&°5 640,696.2| 640,696.2 640,696.2
SEWYEN
AUA=20KAT 12E&°8 640,696.2| 640,696.2 640,696.2
31 ATasU
2pE2T2Upk 12802T6a0A0200 536,317.2| 536,317.2 536,317.2
SEWYEN
L A=UAT 13740 SRESW T30 " N3 T3 T3V 536,317.2| 536,317.2 536,317.2
3 ATasu
- 2RE3TA0V»AC SRESTST3A0»A ~ NS T»E3 1x3AV»f 514,796.0| 514,796.0 514,796.0
- 62020260312, 13213V~ & =12y =k 21,521.2| 21,5212 21,521.2
3630a0Y»iC &3 - 3Thail
12&82020A0a00U°8£ ©1 2482UpU°8k 104,141.4]| 104,141.4 104,141.4
0ceg” ©da6%
3 Afasu
P37iaV=T=T3Y ISEeéxf 78,789.1| 78,789.1 78,789.1
SEWYEN
- %>R -»> Gl 1=2é63{aAlasyVri 58,758.9| 58,758.9 58,758.9
- Tal&sY3t 1=3é63[a0Ala6v Vi 268.8 268.8 268.8
- T340 1363aAaYY»h 16,121.4| 16,121.4 16,121.4
- 2530a7=-A=13Y [SEé»h 3,640.0] 3,640.0 3,640.0
TanTa0aiUv»AC ~ BAcS - SlacAlasYY»AC TSEé»h 983.0 983.0 983.0
a3lU=y=- 73y SE 1363{atAlasYY»AC 0»é0p»fiadl 10,907.4| 10,907.4 10,907.4
3 Afasu
- 13AEST3Y 13¢3[a0Ala0V V» i 300.0 300.0 300.0
- D303T30-53CY 1363[40Ala6V V> 6,367.4| 6,367.4 6,367.4
- OIS T I213Y 1363a0Ala0VY »i 3,180.0] 3,180.0 3,180.0

P31»ET31 N 5 - | »é308(3T

200as6=3T N 03-04-01

20lae=T 03-04-01



8¢

1 2 3

- T3ES T3S 13Y 13¢3a0Ala6YY» 1 40.0 40.0 40.0
- U»fil3[3064004=313Y 13Eé»h 800.0 800.0 800.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 220.0 220.0 220.0
AYA~30C| Yafia-ail - A3Na3YaiU (13é3lasAlasyY»i 3,235.9 3,235.9 3,235.9
YlaoA»fi)

31 Afadu

- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 3,235.9 3,235.9 3,235.9
a=Na=vai

U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 10,226.0( 10,226.0 10,226.0
31 Afadu

- TAZE»YIST3ICY YiasA»h ™ N3 - 406 2,471.1 24711 2,471.1
- TASYEAANT3ICY YiasA»i 7,644.0 7,644.0 7,644.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAni 110.9 110.9 110.9
2UE ~‘| ZEéoé 237.6 237.6 237.6
31 Afadu

P3fil»f, &3 31CA 1x3iAY»f ~ wWailA»i, afayo 237.6 237.6 237.6

2631302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U

»Y UGUI=Y6 YT=rU=0p

20lae=T 03-04-01



6¢¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y3T3Y 1263T20-U3Y 03 p=AYC 05

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

S ATa00 AST T7=-fiofiG

pi»3T3T31a03T3Y
N=0=T=-¢ &=Na=YaiU

=1 ATl Asr

AVIZU»YA - TS W3A40V»AC
158 =
PALT=0C 3Vi3YasUA - 40U3fA 0 T
(=i <3
1A30Y»Aar) < Ef %
A ) ’05):
(f)D 8 8 e
o e 0
> ) Eil|
< )
0
1 2 3
AU _2g°UA 12Eé°s 1,949,019.1] 1,949,019.1 1,949,019.1
3 A4l
AUAZOAT 12E6&°5 1,749,019.1| 1,749,019.1 1,749,019.1
3 A4l
2pE2T20pk 12802T6a0A0a00 1,171,834.9| 1,171,834.9 1,171,834.9
31 Afasl
_i30a1 1x3A140 SRESTST3A0»N ~ NS 13 1x3AY»A 1,171,834.9| 1,171,834.9 1,171,834.9
3 ATasl
- ZRE3TA0V»AC SRESTST3M0»N -~ NS 1oL 1x3AY»A 1,171,834.9| 1,171,834.9 1,171,834.9
12620a0A02000°8L ©1 24520g0°8k 553,735.7| 553,735.7 553,735.7
Ocep” ©5a00
3 A4l
P3RAYSTST3Y I3Ee»N 324523.0| 324,523.0 324,523.0
3 A4l
- WY»h >0 Gl 1363aAlaiY Y»h 296,775.2| 296,775.2 296,775.2
- Talay3E 1=63lachlany Vi 15,2451 15,245.1 15,245.1
- T3AC 1=63lasAlany Y»n 6,771.7 6,771.7 6,771.7
- 2330413 -A3T3Y 13Ee»n 3,850.0 3,850.0 3,850.0
- q1a0loC T ESAUSTanatUY»AC 13102 13taAlasy 1,881.0 1,881.0 1,881.0
Man1a60a60Y»1C ~ RAc= - SlasAladYY»AC 1SEex»n 4,519.1 4519.1 4519.1
a30=v= /=Y = 1=6=la0Ala0VV»AC O»étp»iiasU 208.8 208.8 208.8
31 ATasl
- I3AET3Y 1363aAaYY»h 208.8 208.8 208.8
2[fU=eY=-Cw=1=Y 1=26={a0Ala0YV»AC 0»60p»fial 180.6 180.6 180.6
31 Afasl
- D3EY2-CH313Y 1363a0Aa0y Y»h 180.6 180.6 180.6

200a56=3T N 03-05-01

20lae=T 03-05-01



(0154

1 2 3
AVASGCT Vara-ail - B=Na=Vail (156 A0Ra o 9128 912.8 9128
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAIUY-AC AYASGCT Yana-ail 9128 91238 9128
asNa=vail
UlaAon (ZAR=V0Y»h) 223391.4| 2233914 2233914
31 Atadu
TANSYeAAN T 3T Yiashnn 22,9429 22,942.9 22,942.9
TAV63031CY - NSYRSICY 8YYAG VIAbA 200,4485| 2004485 200,448.5
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 20,440.0]  20,440.0 20,440.0
31 Atadu
846CE>1=Y 0-VAAPY 1n=U= 127 S n=R=ln aA=Up 20,4400 20,4400 20,440.0
Ya3ewY»h (laoc»Co)
31 Atadu
T2EVASe T Yon HaicnCo 20,4400 20,4400 20,440.0
2UE ~‘| ZEéoé 3,008.5 3,008.5 3,008.5
31 Atadu
DERIoN, AR S1CR Tx2RT>n T alkoR, AHaT0 ‘ 2,6335| 26335 2,6335
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ U133 1Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 375.0 375.0 375.0
32 UEU=062120 2TTA1U°SE 1141 12E6°8 200,000.0  200,000.0 200,000.0
31 Atadu
D{EQL"JZTéU FzaoUed 200,000.0 200,000.0 200,000.0
31 Atadu
poUs©8 ©1 PEURDAUROUUCS 200,000.0]  200,000.0 200,000.0
31 Atadu
T B»YUmAC -~ RCYADRIAGYY»NG RCY SASNAAADY 200,000.0| _ 200,000.0 200,000.0

20lae=T 03-05-01



TeC

8§32 3VC DBVASA» T AIBY 2016 ATSTSYC 8» W 3T3Y idse»C US6CY 0D
Of»YUC 7-fi1 NAa1T2TAT paic» 120y T2Ee»AC - AR [36Y2T3Y 1263137 U2V 03 u=AYC 07

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200as6=3T N 03-07-01

=1 A7460 A6 1A= - finfiC
PP UVYA=T3Y TAUCT»C PP N=asT uvvasT3y
a=fla=va0 1=¢3l@h=Y a=la=vail
N 30 Afail Aer =31 A7450 Aer
AYI2U»YA - T3 3Ra0V»AC - T3 3/a0Y»AC
e moan e b 2
PaLi3IC 3Yi13YalUA -§6U3ﬁ~A 0') 0')
(= k= ¥ = =5
1A3UY»iar) < :0')_ A > S (?.)' R
3 05 3 S
i 53 i 220
X 3 % 851
1 2 3 4 5
AU b~2®?UA 12E68°56 1,092,205.3| 971,687.3 971,687.3| 120,518.0 120,518.0
=1 A7450
AQAZOET 12Eé°8 1,092,205.3| 971,687.3 971,687.3| 120,518.0 120,518.0
=1 A7450
2pE2T200k 12502T820A0a00 922,869.1| 815,996.9 815,996.9| 106,872.2 106,872.2
=1 A7450
. ﬁ3~Ué|' ‘|'><3ﬁ 7140 BRE3T3T310» ~ NBT»EBTx3AY»A 922,869.1| 815,996.9 815,996.9( 106,872.2 106,872.2
= A7450
- ZBE3'I'éOY»ﬁC SREST3T3A0»A " NS T»E3B Tx3AY»f 878,731.0( 795,669.2 795,669.2 83,061.8 83,061.8
- 630302600313, 137313V~ & =13V 3F 44,138.1| 20,3277 20,327.7| 23,8104 23,810.4
126240V »AC A=A -"=2Th4U
jZéZUéﬁAUéﬁUUoé/E o7 2482U0gU°dE 137,147.4] 124,930.4 124,930.4 12,217.0 12,217.0
0°eg” ©5a00
=21 A7450
D?ﬁ?ﬁY?'l'3'l'3Y 13Eé»i 95,298.2 87,805.4 87,805.4 7,492.8 7,492.8
=1 A7450
- WY»f >0 Gl 1363aAlarY Y»h 72,768.3| 67,508.2 67,508.2| 5,260.1 5,260.1
- TAU&Y3E 13é63(a0AIaY Y»hi 463.9 378.2 378.2 85.7 85.7
- T3AC 13é3(acAlasYY»h 18,751.0 16,759.0 16,759.0 1,992.0 1,992.0
- 283Nai3-A=13Y I=2Eé»i 3,315.0 3,160.0 3,160.0 155.0 155.0
Tanias0asUY»AC ~ BAc= - SlatAlacYY»AC 1SEé»h 5460.7| 4,956.7 4,956.7 504.0 504.0
a=[0=3v=- A=Y 2 1263a6Al0V VG 0»60p»fiail 8,7985| 7,8685 7,868.5 930.0 930.0
=1 A7450
- I3AEBT3Y 1363(AA5Y Y»hi 3,450.0 3,050.0 3,050.0 400.0 400.0
- D3U3'I'3ﬁ-é3UQY 13é3(a0AladYY»n 823.5 763.5 763.5 60.0 60.0
- DO BT T313Y 1263(a0Ala0YY »h 1,975.0 1,805.0 1,805.0 170.0 170.0

20lae=T 03-07-01



[4574

1 2 3 4
- T3E63T3AT3Y 136340AlasYY»A 400.0 350.0 350.0 50.0 50.0
- U»AI320640608313Y 12Eé»f 1,550.0 1,300.0 1,300.0 250.0 250.0
T AVINSYaADN pYAIAC SE 1363 R0N&Y YR 600.0 600.0 600.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0YI»TC O»6Upmiiall 2089] 2000 200.0 8.9 8.9
31 Atadu
TP -G 3137 12631600 Voh 208.9 200.0 200.0 8.9 8.9
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 53156| 5,0950 5,095.0 2206 220.6
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 53156| 5,0950 5,095.0 2206 220.6
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 22,065.5 19,004.8 19,004.8 3,060.7 3,060.7
31 Atadu
T qIR2EVIET3ICY Vidbhn ~ N2 -&06 1 7.5204| 66768 6,676.8 843.6 843.6
TANSYeAAN T 3T Yiashwn 12,600.7| 10,5781 10578.1| 2,0316 2,031.6
TAV63031CY - NSYRSICY 8YYAG VIAbA 454.9 304.9 304.9 150.0 150.0
DT &l YAS T ST3CY SE Viaohnh 1,4805| 14450 1,445.0 355 355
8a0k=t=120 Ua=é10°8 ©1 1°06=Aap=10°8 315411 30,173.1 30,173.1| 1,368.0 1,368.0
31 Atadu
846CE>1=Y 0-VAA=Y 1n=U= 127 S =R=ln aA=Up 31,5411 30,1731 30,173.1| 1,368.0 1,368.0
Ya3ewY»h (laoc»Co)
31 Atadu
“2EVASE T Yon HaicnCo 31,5411 30,1731 30,173.1|  1,368.0 1,368.0
2UE ~‘| ZEéoé 647.7 586.9 586.9 60.8 60.8
31 Atadu
D3AlI»A, &3AT31CA Tx3AY»A ~ waill», afayo 647.7 586.9 586.9 60.8 60.8

2631302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p

20lae=T 03-07-01



€ee

§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y dse»C US6CY 0D
Of»YUC 7-fi1 NA1T2TAT paic» W 2ICY T2Ee»AC - AR 136Y2T3Y 1263137 U3Y 04 u=AYC 01

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200as6=3T N 04-01-01

20lae=T 04-01-01

St ATaol AST TS - fofiC

TarT=1Ch CRE=VasARRY,
T3T3Y T36313AU3Y
NSYASES»T3T3Y
TSASMU3CY 1363 T3A0U3Y
U3AlCYY»AC a3Na3vaiu

TaRT=1CHh CRE 3V A0AI=3Y,
T3T3Y T36313AU3Y
NBYAS&»T3T3Y
TIASI0BCY 126313003y
USAUCYY»AC &3Na3Yasl
(Y2E3f=na5AlA0YY»AC

T SV13AT»AC
UR=TU3Y
13é3(aAlasYY»

AVI3(»YA SRESTST3W»AC US64T)
e T30 31 AT4s0 AST 31 AT400 AST s Aol A6
BatT=1G =Yi=vaUa (ﬁggrﬁ - T30 3040Y»AC - T=73740Y»AC - T3 3040Y»1C
1HB0Y»fAT) = - = o = o
\lmE E i i% > ;(OTS \lmE mg ;:g \lmE mg ;§
5 LEsls 5 S8 5 S8
) Aol 0o ) RCH) ) 0
7 cEti=g 0 S5 0 S5
R m O > R -~ R e
< SERTD < Tl < Tl
B8 = apd 2%
1 2 3 4 5 6 7
AU b~2®?UA 12Eé°sH 633,609.8 57,954.7 57,954.7 155,693.7 155,693.7| 2,388.1 2,388.1
31 AT40U
A‘UAZ(‘)/ET 12Eé°8 633,609.8 57,954.7 57,954.7 155,693.7 155,693.7| 2,388.1 2,388.1
31 AT40U
2pE=T20gk 1280=216a0A0a00 224,063.7| 51,704.3 51,7043  139,484.3 139,484.3 0.0 0.0
31 AT40U
. ﬁ3~Ué|' ‘|'><3ﬁ 140 SREST3T3A0»0A ~ NBT»E3 Tx3AY»ii 224,063.7 51,704.3 51,704.3 139,484.3 139,484.3 0.0 0.0
31 AT40U
- ZBE3'|'éOY»ﬁC SRE3T3T3A0»A NS I»E3 1x3AY»f 180,610.2 44,440.1 44,440.1 108,520.5 108,520.5 0.0 0.0
- Z3O§Q?OQ3'I'3Y, 1Y 3I3Y T T 3I3BY 3 43,453.5 7,264.2 7,264.2 30,963.8 30,963.8 0.0 0.0
1=63{a0Y»AiC &=h- =114l
?ZéZUéﬁAUéﬁUUoéﬁE o7 2582UgU°sE 34,380.1 6,220.5 6,220.5 16,072.8 16,072.8 0.0 0.0
0°ep” ©5260
31 AT40U
D?ﬁ?ﬁY?'l'3'l'3Y 13Eé»i 20,639.6 3,968.4 3,968.4 13,385.2 13,385.2 0.0 0.0
31 AT40U
- %Y»A -»'|'Q'I' 13é3a0AladYY»n 15,972.1 2,455.0 2,455.0 10,748.5 10,748.5 0.0 0.0
- TAUAY3E 1363(a0AladY Y»Fi 111.3 26.1 26.1 71.8 71.8 0.0 0.0
- T3AC 1363aAlasyY»i 3,956.2 1,287.3 1,287.3 2,248.9 2,248.9 0.0 0.0
- 233NAT3-A313Y I3Eé»i 600.0 200.0 200.0 316.0 316.0 0.0 0.0
anTas0alY»AC — Rc= - SasAlasYY»AC TSEe»n 4,110.0 781.7 781.7 1,050.0 1,050.0 0.0 0.0
a=l0=y=-1=cY 3E 1=263[a0Ala0Y V»AC 0»éup»fiadl 4,818.0 356.0 356.0 405.5 405.5 0.0 0.0
31 AT40U




vee

20lae=T 04-01-01

1 2 4 6 7
- D3U3T31-53CY 1363[a0AIA6YY»1i 76.1 20.0 20.0 56.1 56.1 0.0 0.0
- DO IBTT3T3Y 13¢3(aAlaiYY»h 1,831.8 82.8 82.8 49.0 49.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 86.0 50.0 50.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYAHAC 3 1363a0AlaiYY»h 2,824.1 203.2 203.2 300.4 300.4 0.0 0.0
ZUE U~3eY3 -CU313Y 1363(a6Ala0YY»AC Onéup»iiasl 2,168.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @3EY3-CU3I3Y 13é63(a0Ala0Y Y»ii 2,168.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 602.6 282.6 282.6 260.0 260.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 602.6 282.6 282.6 260.0 260.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 2,041.9 831.8 831.8 972.1 972.1 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406 500.7 142.1 142.1 312.4 312.4 0.0 0.0
- TASYEAANT3ICY YiasA»i 1,112.2 474.5 474.5 468.3 468.3 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 134 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaiAnii 215.6 15.2 15.2 191.4 191.4 0.0 0.0
- D30l YA3 W 313(CY 3 YiaiA»i 200.0 200.0 200.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 148,091.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ AW 313 I3W3T»AQ4a0AIAIYY»ACY 148,091.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- ééf]pé@lgs"Y»ﬁ 43 yCY3YE3T3Y a»r313Y 148,091.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 186,631.8 0.0 0.0 0.0 0.0| 2,388.1 2,388.1
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 186,631.8 0.0 0.0 0.0 0.0 2,388.1 2,388.1
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562~®2PU&690°6 2,536.3 2,536.3 0.0 0.0 68,318.2 68,318.2 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 2,536.3 2,536.3 0.0 0.0| 68,318.2 68,318.2 0.0 0.0
UST3AT=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " NSU3lYo=S(gY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- 2[E AYASACT 1i3U3RYAANY»f 2,536.3 2,536.3 0.0 0.0| 68,318.2 68,318.2 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I=e=T=AUSY T=p»i USTSAT=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI31U3Up
2 ISEé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




e

§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y dse»C US6CY 0D
Of»YUC 7-fi1 NA1T2TAT paic» 120y T2Ee»AC - AR I36Y2T3Y 1263137 U2Y 04 u=AYC 02

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200a56=3T N 04-02-01

20lae=T 04-02-01

S ATl ASH 1A= -fiofiC

&R T31CA CBE VA=Y,
&T3T3Y T3631303Y
N=Ya=a» =13y -

TarT=1Ch CRE=VasAl=Y,
T3T3Y T3E6313AU3Y
NSBYAS&»T3T3Y
T3AST03CY 1363 T3A03Y

é»AU»AC afi3TC érés-U=3Y
ai &1 3I3Y
ean T 3=-ano3nlu3y

~ &ile»Ac

A= asvaiAl=y

TSI 136373037 USAUCYY»AC A3Na3Yail I oitind UCca6=645UY »fi
USAUCYY»AC &3NAa=Y45U (Y2E=A=Aa0AA6YY»AC (eao=eatuy»n
AVI3(»YA SRESTST3W»AC U=38ar)
136C — — — —_—
PALT=IC =Y =Y45UA - &USTA =pATail Asw 3 ATa00 AST S ATal Aew S ATad0 AgT
(=%=h - 1= =/40Y»AC - 1= =/40Y»1C - 1= 3R40Y»AC - 1= =R40Y»1C
1H30Y»AAT) b : b : b : b )
- > > - > - >
= BiL 2L 7 = s = S = s
< 0B ERNZ < G < 0 g < D g
> BES S A 'S > o= A 'S
7 |BSIviLy| ® 8L 7 8L 7 8L
g ruscar o 4 s 7 4l g 4
< Qf B = < 9 < Q1 < 9
s> 0 8> g > 8>
1 2 3 ] 5 6 7 8 9
AU 2g°UA 12E6°5 6,025,653.0| 184,400.1 184,400.1]  103,628.9 103,628.9] 9,870.9 9,870.9| 53,464.7 53,464.7
3 A4l
AUAZET 12E6°5 5,001,537.0| 184,400.1 184,400.1|  103,628.9 103,628.9| 9,870.9 9,870.9| 53,464.7 53,464.7
3 A4l
2pEZT120Upk 1280216a0A0a00 271,011.6| 165,923.3 165,923.3 90,064.8 90,064.8 0.0 0.0 0.0 0.0
3 A4l
_ASUAT 1x2R140 SREST 313000 NS 163 Tx3AY»0 271,011.6| 165,923.3 165,923.3 90,064.8 90,064.8 0.0 0.0 0.0 0.0
3 A4l
“ZRESTAOV>AC SRES TS T3A000 N2 1563 TxSAY»1 215,340.7| 130,346.1 130,346.1 69,071.1 69,071.1 0.0 0.0 0.0 0.0
T B=03026C313Y, 1313137 A 12137 3F 55,670.9| 35577.2 35577.2 20,093.7 20,093.7 0.0 0.0 0.0 0.0
1=6=2(40Y»AC A=A =14
1262020A02000°3E ©1 2a52UgU°BE 326,615.4| 18,395.0 18,395.0 13,495.0 13,495.0 0.0 0.0| 53,464.7 53,464.7
0ceg” 3460
3 A4l
PSRAY S 1213V [SEéx 26,988.3| 13,576.3 13,576.3 9,8413 9,841.3 0.0 0.0 0.0 0.0
3 A4l
TI>f-»> WGl 1=262A0Aa0Y Vi 18,9142 10,250.6 10,250.6 7,580.3 7,580.3 0.0 0.0 0.0 0.0
- TAU&Y =3t 1=26=1a0AIa0Y Yo i 151.9 96.5 96.5 36.0 36.0 0.0 0.0 0.0 0.0
“T34C 136=laAa0YY»n 3,9942| 2,119.2 2,110.2 1,675.0 1,675.0 0.0 0.0 0.0 0.0
T2ASNa1 =2 =13 2B 1,460.0 960.0 960.0 500.0 500.0 0.0 0.0 0.0 0.0
- 9TA0ILC -~ E3AUS TaNAUY>AC 13101 StasAlaoY 2,468.0 150.0 150.0 50.0 50.0 0.0 0.0 0.0 0.0




e

20lase=T 04-02-01

1 2 3 4 6 7 8 9
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 1,804.8 1,086.3 1,086.3 718.5 718.5 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 573.5 483.7 483.7 89.8 89.8 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 69.1 47.0 47.0 22.1 22.1 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 404.9 387.2 387.2 17.7 17.7 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 30.0 30.0 30.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 69.5 19.5 19.5 50.0 50.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 22.0 0.0 0.0 22.0 22.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 22.0 0.0 0.0 22.0 22.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 1,097.5 760.9 760.9 246.6 246.6 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 1,097.5 760.9 760.9 246.6 246.6 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 296,129.3 2,487.8 2,487.8 2,576.8 2,576.8 0.0 0.0| 53,464.7 53,464.7
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 596.1 288.8 288.8 307.3 307.3 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 4,420.7 2,167.7 2,167.7 2,253.0 2,253.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 237,600.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 47.8 313 313 16.5 16.5 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 53,464.7 0.0 0.0 0.0 0.0 0.0 0.0| 53,464.7 53,464.7
eao” é/E‘b/EZUOB 2,960,679.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 2,960,679.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 2,537,926.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 422,753.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 291,9355 0.0 0.0 0.0 0.0 9,870.9 9,870.9 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 291,935.5 0.0 0.0 0.0 0.0 9,870.9 9,870.9 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 224,086.5 0.0 0.0 0.0 0.0 9,870.9 9,870.9 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 66,349.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 1,500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 1,151,295.1 90.8 90.8 69.1 69.1 0.0 0.0 0.0 0.0
31 Afadu
P3fl»h, A3 W 31CA 1x3AY»i ~ wWailA», afayu 159.9 90.8 90.8 69.1 69.1 0.0 0.0 0.0 0.0

126317302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p
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20lase=T 04-02-01

1 7
2E 1=2Eé»h 1,151,135.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a 0£U2082T20 ZTTE1U°3E T1a1 126695 1,024,116.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
DEDUZ120 Bk2a0U°8 1,024,116.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
poUg°8 ©1 PEU&sAUaU0°5 778,890.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=2 Ai 4ol
- P>YU»AC  BCYAOAAIYY»1C BCY=n=nasA&0y 778,890.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 168,160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
~—2EU»WY3Voi - 63A0S1aRa00Y > 168,160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pE@UZT20 0F2a00°8 77,0655 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
-USES 31371 3137 [SEén 77,0655 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




e

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC -aRT=26V=2T3Y 1263T20-U3Y 04 p=AYC 02

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

20lae=T 04-02-01

S ATl AS W 1A= -fiofiG

PA0»AC =-AAUCUCST3Y
s wr=varasii=y -

Nas0=wYr»e=T3Y

Masd=1=y

2Y=28Y3AAZESYCTSAC=(C,
EYYL2UASAUC SYT W 3Y-aAlBY -

u»ARCASAISY T»Y13YCY»AC EaflAr3 T 1313y ok o o e X i AL ) % £ AT
USAORAB6USY A3TT=6Tal 1363la6Ala0Y Y »it Haoe=e=YC W =NC=IC atan s Y»hiadl
UCca6=eai0Yi 1=6345Al45YY»AC U1 456400
DaLT=0C SYi=3VailA =1 AT400 Aer 31 ATa0 Aer =1 AT40U Aer =1 ATa0 Aer

- T2 =2040Y»AC - T2 =2040Y»AC - T=T2/a0Y»fC - T=7=2040Y»AC

B = B = B = b =

n VS n 0> 0 8> n 8>

e <L @ e <L @ e <L @ e <L @

= it = i< = B i< = B i<

5 28 5 28 5 28 5 28

7 8S ,g: £y 85 ,g: £y 85 ,g: £y 8< ,g:

o - o - o - o -

< S < S < S < S

8> 8> 8> 8>

10 11 12 13 14 15 16 17
AU _20°UA 12E6°5 11,0132 11,013.2| 341,219.4 341,219.4| 66,349.0 66,349.0 22,585.0 22.585.0
=1 AT450
AUAZOET 12E6°08 11,9132 11,013.2| 341,219.4 341,210.4| 66,349.0 66,349.0 22,585.0 22.585.0
=1 AT450
2pEZT20gk 12602T0a0Alasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 AT450
_ASUAT TX3AT40 SRES T 3130000 NS 1»E2 IxSAY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 AT450
“2RESTA0V»AC SRES T ST 20000 N2 1262 IxSAY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- g30=302003T3Y, 131313 -~ & 1S13Y 3E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
126=2(a0Y»AC &3 -"=Thasl
12&20a0A0a00UCBE ©1 2a52UgUoBk 0.0 0.0| 237,600.0 237,600.0 0.0 0.0 0.0 0.0
0°er” 3200
=1 AT40
P3RANST=13Y [=Eéx»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 AT450
“UY»ii-> 0 CT 12631A0AIE0Y Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- Talav=t 1=631a0Ala0Y V»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T3AC 1=2621a0Aa0Y Yh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~2&3Nai =317 [=2E6»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~9TA0IC ~ 62U TanalV»1C T 2R0= T 3ta0kaY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20lase=T 04-02-01

10 11 12 13 14 15 16 17
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0| 237,600.0 237,600.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0| 237,600.0 237,600.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
. 62~®2P0369006 11,913.2 11,913.2| 103,619.4 103,619.4| 66,349.0 66,349.0 22,585.0 22,585.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 11,913.2 11,913.2( 103,619.4 103,619.4| 66,349.0 66,349.0 22,585.0 22,585.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 11,913.2 11,913.2( 103,619.4 103,619.4 0.0 0.0 22,585.0 22,585.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0| 66,349.0 66,349.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
P3fl»h, A3 W 31CA 1x3AY»i ~ wWailA», afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

126317302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p
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20lase=T 04-02-01

10 11 12 13 14 15 16 17
2E 1=2Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4a 0£U2082T20 ZTTE1U°3E T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
DEDUZ120 Bk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
poUg°8 ©1 PEU&sAUaU0°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=2 Ai 4ol
- P>YU»AC  BCYAOAAIYY»1C BCY=n=nasA&0y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
~—2EU»WY3Voi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pE@UZT20 0F2a00°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
-USES 31371 3137 [SEén 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




Lve

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

YOG 7-fit Na1T3TAT pade» 1 3i0Y TSES»AC -afl=eYST3Y 1363130 U3Y 04 pSAYC 02
EUKG 01 136C 1A= -ivfiC - TaT KBS 21 K3 WT20400Y»AC T»AT3Va0Y Asr
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

20lae=T 04-02-01

S ATa00 AST 17 -fiofiG

NaE0= T Y I »EST3Y T»Y13YCY»AC
NCT=Y145Ala6YY»AC EBuan=nan

ai»640 NasUug * YIAAC, pasle»fc
T3ASYUCYC, -[400B=T3paskenic
padle»fic A3 A=YAAISY UCcA0Y»ic

BYV13UASANC EBPan=r 4f

+af0=30YYA0AlAGY Y »ii

lasd3 Y r»easAlBY %3 - 36U3Y
UCe3%-3{CY NcUY=1A3UC
3¢3T64ABUN CA3T3Y36T40
§111460=T3Y T31a0aAla5YY»fC
e»0Tal! 1A3U3RYARNSICY

NasO=1Yr»eaiABY
anwCY whR3U31i1a0
T3AT»AC

Talag31aasluy»fc
840peCI=TanU3Y IA=-CA

ESLATS AR ~AR0S0YYATAIAOYY »iC ii=-ch
CR=T=Y=6400
PALTIC 3YT3Y45UA 3 ATaoU Aew 3 ATaoU Ae 3 ATaoU Aew 31 ArasU Aer
\— T30 3ha0Y»AiC \-— T30 3na0Y»ic \-— T30 3na0Y»ic \-— T3 3na0Y»AC
zg i QS i QS > QS >
> > > > >
A 28 of o A 20 of o A 23 ya <8
\— k=) Sig > e \— =] Sig o> e \-— = \-— R=]
< 235 RN S < EEEETE < g0 < 23
< 083 RN L < 08 3RN =g < o i < Qg
A REgSan 8 3 |g=g5s18 3 an 3 =
(f)D Pl =RV m Pl <LV m 0 b.)- m 8?—::
d Pl VRS T 3 d =0 g A 'Y d R d =
(2 10')0 :lﬁ]')J = \; ofd n (z 10')0 :lﬁ]')J = \; of® n ’z :0')_ m& (z 10')0 :lﬁ]')J
BL°F gL®9 3 gy
18 19 20 21 22 23 24 25
AU . 2@°UA 12Eé°d 58,098.0 58,098.0| 1,500.0 1,500.0 51,600.5 51,600.5| 290,753.4 290,753.4
31 Afasl
AUAZ20LT 12Eé°5 58,098.0 58,098.0| 1,500.0 1,500.0 51,600.5 51,600.5| 290,753.4 290,753.4
31 Afasl
2pE2120 gk 12802T0a0AVa00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_ASUAT 1x3A140 SRES TS T3A0»0 NS T»ES Tx3AY»0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
TZRESTA0VAC SREST 3T 3A00A NS 162 Ix3AT»0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- p=030=0C= T3, ST By S13Y SF 0.0 0o[ 00 0.0 0.0 0.0 0.0 0.0
[363060Y»C A=A - 34U
12&20a0AlasuUCBE ©1 2462UgU°dA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°Peg” °dad
31 Afasl
P3AaiYST313Y I13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
I -1 CT 1363 A0NE0Y Y1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TaU&sY3t 1363a0Ala0Y Y» i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT3AC 1563 ANa0TYoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TZASNA1=2-A=13Y 12Ee»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TSIEOIG 6200 TARABUYSIG T=N0= 1 Sta0AA0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




8i¢

20lase=T 04-02-01

18 19 20 21 22 23 24 25
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” ek £E20°8 0.0 0.0 0.0 0.0 0.0 0.0| 290,753.4 290,753.4
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 290,753.4 290,753.4
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 290,753.4 290,753.4
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 58,098.0 58,098.0| 1,500.0 1,500.0 0.0 0.0 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 58,098.0 58,098.0| 1,500.0 1,500.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 58,098.0 58,098.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0 1,500.0 1,500.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 51,600.5 51,600.5 0.0 0.0
31 Afadu
P3fl»h, A3 W 31CA 1x3AY»i ~ wWailA», afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

126317302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p




617¢

20lase=T 04-02-01

18 19 20 21 22 23 24 25
2E 1=2Eé»h 0.0 0.0 0.0 0.0 51,6005 51,6005 0.0 0.0
4a 0£U2082T20 ZTTE1U°3E T1a1 126695 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
DEDUZ120 Bk2a0U°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
poUg°8 ©1 PEU&sAUaU0°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=2 Ai 4ol
- P>YU»AC  BCYAOAAIYY»1C BCY=n=nasA&0y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
~—2EU»WY3Voi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pE@UZT20 0F2a00°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
-USES 31371 3137 [SEén 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




0S¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC -aRT=26V=2T3Y 1263T20-U3Y 04 p=AYC 02

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

20lae=T 04-02-01

Sl ATa00 AST T7=-fiofiG

uaceT ¥=3i-3603Y
UCe3%-3(cY NCUY31A=Ug
3¢=T6a5AR0N
CA=T=2Y=26140
§77a30313Y
T=ra045A146YY»fiC
E»014001 TA=-CA

P3U3RE3ANZ3ICY u3YIC
3¢=T6aA=0p
CAZT=Y=26740 DUV UY»AC
-[@03 1Y T »83T3Y
E»840MBY»AC T2ESTIAUSY
Unoasy=TasAl=Y 1A= -CA

Mlas03 1Y »easAl=y
%31 -3603Y UCc3%-3(CY
NCUY=31A=0C 2¢3T6aiARUu
CA=T=2Y=26140 §40=T=3Y
T2Ra0aAIEYY»AC e w»0TasU!
A=-CA

Mas03 1Y T »8313Y
NSU3T3A3T NSRT36U3Y
Y2E3A3TAZ8T3T3Y
SRESITIVAY»AC
TSRS T»RA4 ~ SY6T=6450

PALTSIC YT SVAIUA 20 ATa0 AST = ATl AT 20 ATa00 AGT = ATl AS
\— T340V »A¢ — T3T3R40V»AC — T=T3ha0Y»A¢ \— T3 T3h40Y»A¢
gmc =R gmc <z g gmc =R \zmc . ,m> >
= 80 = Big = 30 = o= 8
< IC - < O G < il < Ui =z
3 mo 3 A 3 mo X neg
3 \= 3 8 \.;_ U] 3 \m ' 3 S g
) M m ) (s ) M m ) M o=0
d Oy d Pl d Oy d 0 (gJ
| fd z I < gt

2 g 2 =
26 27 28 29 30 31 32 33

AU _2g°UA 12Eé°3 534,892.0 534,892.0| 509,212.6 509,212.6]  321,389.6 321,380.6]  18,684.2 18,684.2

=1 Afagu

AUAZ6ET 12E6°8 78,732.3 78,732.3| 3925189 392,5189| 27,7737 27,7737| 18,6842 18,684.2

=1 ATadu

2pE=T20pk 12802T6a0A0a50 0.0 0.0 0.0 0.0 0.0 0.0] 15,0235 15,0235

=1 Afagu

_ASUAT 1x3A140 SRES T 313000 NS 1263 1x3AY»A 0.0 0.0 0.0 0.0 0.0 00| 15,0235 15,0235

=1 Afaiu

- 2RESTA0V»AC SRES T3 T30 N2 1»E3 Tx3AV»A 0.0 0.0 0.0 0.0 0.0 0.0] 15,0235 15,0235

- 63030200313, 137313V~ & =13V 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

1=263(a0Y»AC &3 - =4l

12&20a0A0a000°8E ©1 2a520gU°8E 0.0 0.0 0.0 0.0 0.0 0.0 3,660.7 3,660.7

0°ep” °5200

S E

P3AAVST=T3Y 13Eéxh 0.0 0.0 0.0 0.0 0.0 0.0 3,570.7 3,570.7

=1 Afaiu

- %>R -» 1 CT 1=263a6A&0Y Y»h 0.0 0.0 0.0 0.0 0.0 0.0 1,083.3 1,083.3

- 14046V 3t 1=363[a0Ala0Y Vi 0.0 0.0 0.0 0.0 0.0 0.0 19.4 19.4

- 1=4C 1363laAla6Y VA 0.0 0.0 0.0 0.0 0.0 0.0 200.0 200.0

- 23304132137 13Ee»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

- T140I0C T eSAGBTaR&UY»AC T3R0=T=Ea0A&0Y 0.0 0.0 0.0 0.0 0.0 0.0 2,268.0 2,268.0




15¢

20lase=T 04-02-01

26 27 28 29 30 31 32 33
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 90.0 90.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 90.0 90.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 78,732.3 78,732.3| 392,518.9 392,518.9 27,773.7 27,773.7 0.0 0.0
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ X3AY»A 'I'él’f)UA»ﬁ, anayu ‘ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =3p»fi USTSA1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI31U3Up




[4st4

20lase=T 04-02-01

26 27 28 29 30 31 32 33
2 1=E6»0 78,732.3 78,732.3| 392,518.9 392,518.9|  27,773.7 27,773.7 0.0 0.0
2a uEU20&2120 ZTTA1UCSE T1a1 126695 456,159.7 456,159.7| 116,693.7 116,693.7| 293,615.9 293,615.9 0.0 0.0
= A7 400
DEDUZ120 Bk2a0U°8 456,159.7 456,159.7| 116,693.7 116,693.7| 293,615.9 293,615.9 0.0 0.0
=1 A7 400
poUg®5 ©1 PEUASAUA0U°S 456,159.7 456,159.7|  73,493.7 73,493.7| 195,000.0 195,000.0 0.0 0.0
= A7 400
~ P»YU»AC ~ RCVABAIADYY»1C RCY SH=natAiasy 456,159.7 456,159.7|  73,493.7 73,493.7| 195,000.0 195,000.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0| 43,2000 43,2000 64,960.0 64,960.0 0.0 0.0
=1 A7 400
—2EU»ir V3ol - E2A0=TARa0UY»A 0.0 0.0| 43,2000 43,2000 64,960.0 64,960.0 0.0 0.0
20k pEGUZT20 OE=2ao0°58 0.0 0.0 0.0 0.0] 33,6559 33,655.9 0.0 0.0
= A7 400
CUSE=- 13 1 S/AT 2137 126 0.0 0.0 0.0 0.0] 33,6559 33,655.9 0.0 0.0




€6¢

§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y dse»C US6CY 0D
Af»YOC 7-A1 NALT=2TAT piaicr T 3ICY TSEE»AC - 4R 1=26Y=T3Y 1363T3-U3Y 04 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC

20lae=T 04-02-01

Pa1T=1¢ =Yi=VaslA

S ATadl AT TS - fofiC

_3VC3T3Y A3 - 314RaABY
3¢3T64a0AB 0N CAZT3Y=6140
§74603T=Y T=3na04a0AA6YY»AC

e»0T4aU! 1A3U=3RYAANSICY

[fi=-CA

P3U3RE3ANZUCY p3YIC 3¢3ToasAISUn
CA3T=Y26740 Ttau=t (Tafa-C3T3Y

NCUY=1a=UC¢ Ta0UCo W A3U31ATST
P3U3YUY»AC -([Ei03 T Y1 »83T3Y
é»8A0NBY»AC T363T3AU3Y
Un6asY=TasAl=yY 1i=U3RYARNSICY

[fi=-CA

P=USRE=ANS(CY p3YIC
3¢3T640AIR0p CAST3Y=36140
P3U=YUY»AC -[ai03 T Y1 »E313Y
é»840fBY»AC T363T3A03Y
UrioasY3TasAl3Y »flfant 1A= -Ch

2 A4l A6
T=212ha0V»AC

21 Afal A6
T=02Ra0V»AC

21 Afal AST
T2 2ha0Y»AC

\mm \mm \mm

;S > ;S > ’S >

% 22 3 <3 & = 3

= 30 = B = 8L

< i - << O G < D G

> mn > A e N s

[ v 7 sk T 3£

3 i 3 o 3 0 4l

< X < Y < S

2 8> 5>

34 35 36 37 38 39
AU 2@°UA 12E&°5 32,760.8 32,760.8 20,000.0 20,000.0 621,712.5 621,712.5
31 AT 40U
AUAZ0KT 12EE&°5 32,760.8 32,760.8 20,000.0 20,000.0 507,475.4 507,475.4
3 AraoU
2PE2T2Ugk 12802T6a0A0a00 0.0 0.0 0.0 0.0 0.0 0.0
32 ATaoU
L ABUAT Tx3AT40 SREST3T30»1 ~ NS T»E3Tx3AY»0 0.0 0.0 0.0 0.0 0.0 0.0
32 ATaoU
- 2RE3TA0V»AC SREST3T3A0»A ~ NS T»E3 Tx3AY»i 0.0 0.0 0.0 0.0 0.0 0.0
- #303030C313Y, 13313V~ 31313V 3f 0.0 0.0 0.0 0.0 0.0 0.0
1=6=10Y»iC &= - =wnail
1282020A0a000°8K 21 2462UgU°8k 0.0 0.0 0.0 0.0 0.0 0.0
0°eg” °5ai%
3 AraoU
P3&Y3T=T3Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0
32 ATaoU
- WY»ii-»WCT 1363[a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0
- TaUabY3t 13e3{a0AlasYV»h 0.0 0.0 0.0 0.0 0.0 0.0
- T340 1363[a0Ala0Y Y»ii 0.0 0.0 0.0 0.0 0.0 0.0
- 233Nai3-A313Y I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
- 400G 630 TanaslY»ic T3A0=T3tasAlary 0.0 0.0 0.0 0.0 0.0 0.0




1514

20lase=T 04-02-01

34 35 36 37 38 39
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 0.0 0.0 0.0 0.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 32,760.8 32,760.8 20,000.0 20,000.0 507,475.4 507,475.4
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ X3AY»A 'I'él’f)UA»ﬁ, anayu ‘ 0.0 0.0 0.0 0.0 0.0 0.0
1=e=T30U3Y 1 =3p»fi USTSA1=1Y»C 1a0UCo 1CA=ératy
»Y UCUIBY6 YI31U3Up




G5¢

20lase=T 04-02-01

34 35 36 37 38 39
2E1=Ee»h 32,760.8 32,760.8 20,000.0 20,000.0]  507,475.4 507,475.4
4a 0£U2082T20 ZTTE1U°3E T1a1 126695 0.0 0.0 0.0 00 1142371 114,237.1
= Ai 4ol

DEDUZ120 Bk2a0U°8 0.0 0.0 0.0 00| 1142371 114,237.1
3 Ai 4ol

poUg°8 ©1 PEU&sAUaU0°5 0.0 0.0 0.0 0.0 54,237.1 54,237.1
=2 Ai 4ol

- P>YU»AC  BCYAOAAIYY»1C BCY=n=nasA&0y 0.0 0.0 0.0 0.0 54,237.1 54,237.1
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0 60,000.0 60,000.0
32 Ai 4ol

~—2EU»WY3Voi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 60,000.0 60,000.0
20E pEPUZ120 0Eza00°5 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol

-USES 31371 3137 [SEén 0.0 0.0 0.0 0.0 0.0 0.0




9G¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT=2TAT piaicr T 3ICY TSEE»AC - 4R 1=26Y=T3Y 1363T3-U3Y 04 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

20lae=T 04-02-01

S ATa0l ASH T7= - ffiG

4031 Y »eaiAlBY %3h-3603Y
UCe3%-=(cY NCUY=31/30C
3¢=T6a5ARUp CAZT2Y=26140
§OVA=T=6456 T=TUV»AC
-[450=T3Y yCY=3ve3ranusy
3¢=T640A146Y 1 TH=-CA

uaceT %3 -36U3Y UCe3%- 3(cY
NCUY=31A=0C 2¢3T640ARUu
CA=T=2Y=26740
§OVAST=6456 T2 TUY»AC
-[450=3T3Y yCY3ve3ranlu=y
3¢=1640A146Y1 TH=-CA

ofA=UCAsAIRY

+an03nTU3Y é»y»iinYe
U>>A<’511Yl»ﬁé’l',0>>9r”1()’"‘ orsy
=+an03uYYailAladYY»fic

1=é6=3{45AIA5Y Y »fi

A0 T Y W »E=T3Y

Nada - w=-anTadY»icy

USTaHC - ’Y.» ﬁ~él'
A3ASAT3YAAAC
O»éup»l=3Y K303

a»T3T3Y 3¢3T16a0AlasY

PATTSTC SYTSVAIUA SR ATail AT = ATal AST = ATal AET =i Afad A6

\— I3 3A40Y»AC \— 1= 13ha0Y»A¢ \— 131 3A40Y»AC \— 1= 3A40Y»A¢

2 ~ 2 = 2 - 2 =

((?_: 22 \z(?_: 2R ((?_: i% [ gi > \f?_; 1% 3

< g0 < g < SSCEn S < B

= o S o S LR - B A

A3 = 'm 3 = - S 8o RF Ly o 80

m 0 m 0 m me -t m s

s i s i s rasCAr| S i 41

< — mﬂ < — mﬂ < QM > = < Q'

3 2 g> 0 8>

40 41 42 43 44 45 46 47
AU 2g°UA 12E€°3 57,117.1 57,117.1 26,566.1 26,566.1] 18,000.0 18,000.0| 2,537,926.0 2,537,926.0
3r ATédU
AUAZGAT 12E€°3 13,707.5 13,707.5 26,566.1 26,566.1| 18,000.0 18,000.0| 2,537,926.0 2,537,926.0
3r ATédU
2pE2T200k 12502T820A0a00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3r ATédU
L i=0aT 1x311a0 SRE=U=T=R0o N2 1= [x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3r ATédU
- 2RE3TA0V»AC SREZT T30~ NS T»E3 Tx3AV»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 63030200313, 137313V~ & =13V 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1=263(40Y»AC A=A - =1A&U
1262020A02000°8& ©1 2a520gU°3K 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°ep” ©5asD
3r ATéiU
P=3faY=T=1=Y 1=Eé»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3r ATédU
U »A-»> W GT 1263A0AA6Y Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 14046V 3t 1=363[a0Ala0Y Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1=4C 1363laAla6Y VA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 23304132137 13Ee»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- &0 3RS TanaUV»AC 1300 T StasAlaY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




1S¢

20lase=T 04-02-01

40 41 42 43 44 45 46 47
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303(CY " NSYASICY eYY1C YlaoAni 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0| 2,537,926.0 2,537,926.0
31 Afadu
ééﬁHéClg3Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 2,537,926.0 2,537,926.0
31 Afadu
_—_ééqué_glc3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0 0.0 0.0 0.0 0.0 2,537,926.0 2,537,926.0
13%U3T»A&40AIA6Y Y»ACY
- ééf!uéClCQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 18,000.0 18,000.0 0.0 0.0
31 Afadu
AYA36Q-I- 1r~}3U3,BYéﬁN“(»ﬁ AT3I3YN3TI131C 3 0.0 0.0 0.0 0.0/ 18,000.0 18,000.0 0.0 0.0
UST3AL=TY»CY
31 Afadu
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a»T313Y " N3U3IYO=3(CY 4 0.0 0.0 0.0 0.0/ 18,000.0 18,000.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6YY»ACY
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 13,707.5 13,707.5 26,566.1 26,566.1 0.0 0.0 0.0 0.0
31 Afadu
P3fl»h, A3 W 31CA 1x3AY»i ~ wWailA», afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

126317302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p




85¢

20lase=T 04-02-01

40 41 42 43 44 45 46 47
2E1=Ee»h 13,707.5 13,707.5]  26,566.1 26,566.1 0.0 0.0 0.0 0.0
4a 0£U2082T20 ZTTE1U°3E T1a1 126695 43,409.6 43,409.6 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
DEDUZ120 Bk2a0U°8 43,409.6 43,409.6 0.0 0.0 0.0 0.0 0.0 0.0
3 Ai 4ol
poUg°8 ©1 PEU&sAUaU0°5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=2 Ai 4ol
- P>YU»AC  BCYAOAAIYY»1C BCY=n=nasA&0y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
~—2EU»WY3Voi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pEPUZ120 0Eza00°5 43,409.6 43,409.6 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
-USES 31371 3137 [SEén 43,409.6 43,409.6 0.0 0.0 0.0 0.0 0.0 0.0




65¢

§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y dse»C US6CY 0D
Af»YOC 7-A1 NALT=2TAT piaicr T 3ICY TSEE»AC - 4R 1=26Y=T3Y 1363T3-U3Y 04 p=AYC 02
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w

TSE6»AC WY I »83-CT3T3Y 1363137-U3Y (a1 T 2 TY»AC

S ATa0l AST 17 -fofiC

W 3I3Y 3¢3T10a0Ala0Y
- (403 T Y »e3T3Y
NadG - w=-anfady»icy
USTHIC - Y»AaT 1ChE3ICY
T36é»ECUC O»éup»il=3yY

N30
PATT3IC 3YT3Ya5UA 3 Avasl Aew

- =1 37/a0Y»AC

;S >

" U

e <L @

= B

> AT

i -

3B >

48 49
AU 2@°UA 12E&°5 132,000.0 132,000.0
3 Afas0
AUA20KAT 12EE&°8 132,000.0 132,000.0
3 Afasy
2PE2T2Ugk 12802T6a0A0a00 0.0 0.0
3 Afasy
L ABUAT Tx3AT40 SREST3T30»1 ~ NS T»E3Tx3AY»0 0.0 0.0
3 Afas0
- 2RE3TA0V»AC SREST3T3A0»A ~ NS T»E3 Tx3AY»f 0.0 0.0
- 23030206C313Y, 137313V 7 & w313V 3 0.0 0.0
=2630a0Y»AC &3 -3 al
1282020A0a000°8K 21 2462UgU°8k 0.0 0.0
0°eg” °5ai%
3 Afasy
P37iaV=T=T3Y ISEeéxf 0.0 0.0
3 Afasy
- W -» TGl 1363/a0AlasYY»i 0.0 0.0
- TaUAY3E 1363asAlasY Vi 0.0 0.0
- T3AC 1363a0AlaY Y»i 0.0 0.0
- 253(ai=-A313Y I13Eé»n 0.0 0.0
- &l e3AUSTanasuy»AC 1303 T3ta0AlasY 0.0 0.0

20lae=T 04-02-01



09¢

48 49
Tan1ai0aUY»AC ™ RAc= - SatAlasYY»AC 1SEé»f 0.0 0.0
aSU=V> Y SF 158G T>G O iai 00 00
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0
- DO IS TT3T3Y 1363(40AIa0YY»h 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0
- AYIN3YAH7 pYadlAc 3 1=3¢3a0AlaiY Y»i 0.0 0.0
2UE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0
AYAS6CT Yana-ail - a3Na3vaol (13¢31a0AlasY Vi 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vai
Ugéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0
- 2640¢3&3N313Y 7 EBpan=3Tan YiaiA»h 0.0 0.0
- T»Y6303(CY " NBYAZ(CY 8YY1C YIasA»h 0.0 0.0
- D3l YA3SW313(CY 3k YiaiA»i 0.0 0.0
eao” ek £E20°8 132,000.0 132,000.0
31 Afadu
ééﬁp{é@lg?’Y»ﬁ a3 &> 313Y IBW3T»AA4aAlAIYY»ACY 132,000.0 132,000.0
31 Afadu
_—_ééfgué_gl@3Y'»ﬁ 44 & W3I3Y adyCyY3VesI3y 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
- ééfguéClQQ’Y'»ﬁ a4 &» 1 313Y yCY3Ye313Y 132,000.0 132,000.0
I3%U=3T»A&40AIA6Y Y»ACY
)6%@290369006 0.0 0.0
31 Afadu
AYA36Q-I. 1r~)3U3jBYéﬁN“{»ﬁ AT3I3YN3TI131C 3 0.0 0.0
UST3AL=TY»CY
31 Afadu
~AVES ST TRSUSETANTof B v STS7 ~ NEUSNiaGY & 00 00
3¢ TASICY 133 T»RA40AI6YY»ACY
TAVESET TREUSRTARY T B 5137~ NEUSNiokY 00 00
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
- 2[f AYAS4CT 13 U3RYAANY»f 0.0 0.0
=0E 12665 00 00
31 Afadu
P3fl»h, A3 W 31CA 1x3AY»i ~ wWailA», afayu 0.0 0.0

126317302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U
»Y UCUIBY6 YT=3wU=30p

20lae=T 04-02-01



T19¢

48 49
2E 12Eé»n 0.0 0.0
3a UE020&2T20 Z11£10°0K T1a1 126695 0.0 0.0
31 Afal
DEGUZ12U OkeadUod 0.0 0.0
3 Afal
po0s°8 @1 PEUAAU200USS 0.0 0.0
31 Afal
~P»YOAC ~ RCYABAAOYY»1C BCY SRS AatARY 0.0 0.0
2°g°020°8 ©1 &2002120a600°0 0.0 0.0
3 Afal
~2EUntnYSTof - 62hU=1a7a007 1 0.0 0.0
20E pEGUZ120 #2009 0.0 0.0
31 Afal
- USES T3l 1o/ 1313 [SEéh 0.0 0.0

20lae=T 04-02-01



29¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC -aRT=26V=2T3Y 1263T20-U3Y 04 p=AYC 02

EUNC 02 136G 1A= -AvfC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200a563T N 04-02-02

31 ATai0 Aew TA= - AnfAiC
, . e 2V 13430cY 1T 3T3Y
YU SEASNASYST=Y i UéeY UEYa,?)}' =Y
TSe3laskiany» averancy-¢
CAZI3Y30ail
AVI3(»YA =t ATaiU Aer = Atadl Aer
130 \— T37r3na0Y»fic \— T30 3na0Y»fic
PALT=TC =Y T=V400A - 430=RA 2 - 2 -
(=3 0 0> o] S
1AZ0Y»AAT) = S = S
< © g < 0 g
R A kN A
® a £ ,g: 7 a £ g:
o - o -
> 04U > 0
< =N < QM
8> 8>
1 2 3 4 5
AU _20°UA 12E6°8 234,774.5| 225,647.0 225.647.0| 9,127.5 9,127.5
3 A4l
AUAZOAT 12E6°5 234,7745| 225,647.0 225,647.0| 9,127.5 91275
3 A4l
_3202pUasbuos 234,7745| 225,647.0 225,647.0| 9,127.5 91275
3 A4l
AVAS6CT LASUSEYANNY »i &» T S13Y NS 1 121G SE 234,7745| 225,647.0 225,647.0| 9,127.5 91275
UST2AI=TY»ACY
3 A4l
~AVASOCT LASUSRYARNY »A & 1 =137 - N2USN U=y 48 234,7745| 225,647.0 225,647.0| 9,127.5 91275
3¢ TASCY T3WST>A&AAIAY Y»ACY

20la6e=T 04-02-02



€9¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC -aRT=26V=2T3Y 1263T20-U3Y 04 p=AYC 02

EUNC 04 136G 1A= -AvfC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P3i»ET31 N 5 - | »é30&(3T
200a56=3T N 04-02-04

20lae=T 04-02-04

S ATa0U ASH 115 fofiC

aéa-U3Y 1=3¢31a0AlasYY»h
U31as6a0
AYT»AaAlasYY»ACY
YCY3VE3T3Y 3¢3T1604A3Y
TASUS1AAU

Tab»TTan

S1finY=AS(CY

63Y6C &=3Na3vasl
R=R=-anTadl, -Aasy =gy
Ci»AC USTSALSTY»AC
af=1C anaRu=y
SRESTIVUV»A

@IS THEYCTSTSY
T364016Y»fC

aéa-U=y (=013 - »iG
NGUY=Varfia-aiU

AY1=(»YA
DAL T2 TC =Y fSVATUA P = ATl Aer = A4l Aer = Aaol Aer = Afaol Aer
¢ an - T3 3a0Y»A¢ - T30 340Y»A¢ - | T3 w3adv»ic - T3 U3ha0Y»AC
(N=¥%=n G G G @
A3OY»iaT < > T A < > T A < > T A < > ¥ oa
) 0 L f B0 f B0 f B g
= LT o &= U= S &= LT o &= =0T o
= T8 W = T DT = SRR = I W
< LB R - < LT R - < LB R - < LT R -
X ol -Ra A ol Yl A -l N ¥ -t
7 | BELSE [ 7 | BSLZE | 7 | 2LEEE | 7 | BSlEE
d -'m"m d -'m"m d -'m"m d -'m"m
= nwnl | S pwxnl | X 0y s s
' Qmn < - < Qn < - < Qmn < - < Qn < -
8> 8> 8> B> 4
O O O O
1 2 3 4 5 6 7 8 9
AU _ 2@°UA 12E&°% 6,305,333.4| 4,086,383.4 4,086,383.4| 32,166.7 32,166.7| 2,389.2 2,389.2| 177,000.0 177,000.0
=1 ATaiu
AUAZGET 12EE&°8 5,328,431.6| 4,086,383.4 4,086,383.4| 32,166.7 32,166.7| 2,389.2 2,389.2 0.0 0.0
=1 ATaiU
2pEZ12Ugk 1280210a0A0a00 1,661.9 0.0 0.0 0.0 0.0 16619 1,661.9 0.0 0.0
31 AT400
_ASUAT 1x2n140 SRES 13130000 NS 163 X3T» 1,661.9 0.0 0.0 0.0 0.0 16619 1,661.9 0.0 0.0
=1 AasU
- 2RESTA0Y»AC SRES 13130000 - NS 1263 [x3AY»h 1,661.9 0.0 0.0 0.0 0.0[ 16619 1,661.9 0.0 0.0
12620a0A0a0UU°BE ©1 2a62UpsU°dk 7273 0.0 0.0 0.0 00[ 7273 727.3 0.0 0.0
0ceg” ©3aid
=1 ATaiU
P3RaVST313Y 1SEé»h 1445 0.0 0.0 0.0 00| 1445 1445 0.0 0.0
=1 ATaiU
“I>R-» W CT 12€63A0Aa0Y Yo 1247 0.0 0.0 0.0 00| 1247 1247 0.0 0.0
-~ T34 12631a0Aa0YYoh 198 0.0 0.0 0.0 0.0 198 198 0.0 0.0
Man1a00a00Y»nG -~ BAG= - Sa0AlAYY»AC 1SEé»n 277.3 0.0 0.0 0.0 00| 2773 2773 0.0 0.0
a3U3V= A3y 3E 12631a0AA0Y Y»C 0»60p»Naty 178 0.0 0.0 0.0 0.0 1738 1738 0.0 0.0
31 AT46U
- D3U3130-23KY 12631a0AA0Y Y »n 178 0.0 0.0 0.0 0.0 1738 1738 0.0 0.0
AVAS6CT Yana-ail -~ &= a=YaiU (12363laoAasyy»n - 23.8 0.0 0.0 0.0 0.0 238 238 0.0 0.0
YU@@/S:»F]) i
31 AT460




¥9¢

20la56=T 04-02-04

1 2 3 4 5 6 8 9
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-ail = 23.8 0.0 0.0 0.0 0.0 23.8 23.8 0.0 0.0
a=Na=vail
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 263.9 0.0 0.0 0.0 0.0 263.9 263.9 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 24.2 0.0 0.0 0.0 0.0 24.2 24.2 0.0 0.0
- TASYEAANT3ICY YiasA»i 239.7 0.0 0.0 0.0 0.0 239.7 239.7 0.0 0.0
eao” é/E‘b/EZUOB 875,511.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ B>W 313 I3W3T»AQ4a0AIA0YY»ACY 875,511.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 875,511.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
. 62~®2P03690°6 4,118,550.1( 4,086,383.4 4,086,383.4 32,166.7 32,166.7 0.0 0.0 0.0 0.0
31 Afadu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ T3I3YN3TI31C 3 4,118,550.1| 4,086,383.4 4,086,383.4| 32,166.7 32,166.7 0.0 0.0 0.0 0.0
USTSR1STY»ACY
31 Afadu
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 32,166.7 0.0 0.0| 32,166.7 32,166.7 0.0 0.0 0.0 0.0
3¢ TA3ICY 133 T»RA40AIGY Y»ACY
- 2[E AYASACT 13 U3RYAANY»f 4,086,383.4| 4,086,383.4 4,086,383.4 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 331,981.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
2[F IZEé»i 331,981.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 976,901.8 0.0 0.0 0.0 0.0 0.0 0.0| 177,000.0 177,000.0
31 Afadu
D{EQL"JZ?ZU PExAOUCS 976,901.8 0.0 0.0 0.0 0.0 0.0 0.0| 177,000.0 177,000.0
31 Afadu
Dc"['{ﬂoa 1 bEUaAUaUUPS 839,450.3 0.0 0.0 0.0 0.0 0.0 0.0| 177,000.0 177,000.0
31 Afadu
- P»YU»iC ** RCYAGAIAGY Y»AIC RCYSASAAAIA0Y 662,450.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- P»YO»AC " BCYASAIAIYY»AC T2 ACTH 3t 1»A3Yafia-ail 177,000.0 0.0 0.0 0.0 0.0 0.0 0.0 177,000.0 177,000.0
@?Z?U?U°6 °i é28g2T1a6aigu°s 137,451.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafailY»i 137,451.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




S9¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT=2TAT piaicr T 3ICY TSEE»AC - 4R 1=26Y=T3Y 1363T3-U3Y 04 p=AYC 02
EUUC 04 126G Th=-fvAC - TaT N2 =7 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363130-U3Y NaLT2TV»AC

20lae=T 04-02-04

S ATa00 AST 17 -fiofiG

aéa-al ¢hi=é
CizT3Y=06v40
T3 T»AA4a0AAGYY»ACY
YCYSVe3T3Y 3¢3ToaABY
WABUS140U0

P3U3RE3ANZICY u3VYIC
3¢3T64AR0n
CAsT3Y=36140 aéa-U3Y
N=0=T37-»AC
SAaYS T» T ABY
p3AoA=6U3Y 1A=-CA

OTAZECT2Y %=1 - 26U3Y
u3YTC 3¢3164aAR0u
CA=T=Y=6740 a64-U=3Y
A=0=T=/-»AC
%=1 -2603Y TA=-Ch

M»AU3YC3IC =3 -360=3Y
I3AT»AC u3YTC
=¢3T6aA=0u
CAST=3Y36140 2E 4=y
-» 1 C ¢ASICY é»easiaY»fic
CY W »-AT31 T2E3T3A0U3Y
1i=-Ch

i ey S Aray Aw it Ara) AT S Arao) AT i Arao) Aew
113 33 33 - ~ - ~ - - P - .-
BatT=1G =Yi=vaUa - IS 3a0V»AC - IS 3RA0VAC - =7 3A0VAC - =0 3a0V»AC
;S - ?’)- N ;S - ?’)- N ;S - ~§ N ;S - ~§ N
> Yo > o > o > oy
a Si=n a 2i=n a 2i=n 2 Sien
\— K< © D \— T ® D \— T ®@ D \— T @D
< SR < SR < SR < SR
>£ S - > >£ = - > >£ = - > >£ = - -
7 | 3STEE [ 7 | BLTER | 7 | BELEE | ¢ | BLLLE
d -'m"m o -'m"m o -'m"m o -'m"m
s 0! s e s e s e
< spos | < sfos | < sfos | < 2 o
>0 4 >0 .4 >0 .4 >0 4
O O O O
10 1 7 13 12 15 16 %
AU.20°UA 12E6°5 8755111 8755111 727,70L3 727,701.3| 149,078.8 149,0788| 185,406.1 185,406.1
=1 Afasl
AUAZGET 12E6°55 875,511.1 875,511.1| 65,2510 652510 40,553.9 40,553.9| 1854061 185,406.1
=1 Afasl
2pEZT2U0k 126021620A0a00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
TASUAT Tx=RT40 SRES TS TSR0 B T3 Tx3nVoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
TSRESTA0VoNC SRES TS TS0 -~ NS 1265 TxSToR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1262020AURUUSBE ©1 2a62UoUSBE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Oces” ©5a00
=1 Afasl
EEEEIETS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afasl
TR - wCT 156SRNaT Yoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TTSAC 1565 RNaTR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANTa0AUTAC ~ R = - STAREY»AC TSE&R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=1=Y= 1= S | S6SEAROT TG 0»60>Aa0l 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Af 4ol
TPSUST=R-23KY 1565 1aRaTIn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVASOCT Vana- &l -~ A=NA=Ta (156 TaoRRVan 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YU@@/S:»F]) i
31 Af 40U




99¢

20la56=T 04-02-04

10 11 12 13 14 15 16 17
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-ail = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vail
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eao” é/E‘b/EZUOB 875,511.1 875,511.1 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ B>W 313 I3W3T»AQ4a0AIA0YY»ACY 875,511.1 875,511.1 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 875,511.1 875,511.1 0.0 0.0 0.0 0.0 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ T3I3YN3TI31C 3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1STY»ACY
31 Afadu
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " NSU3lYo=SgY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TA3ICY 133 T»RA40AIGY Y»ACY
- 2[E AYASACT 13 U3RYAANY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 65,251.0 65,251.0| 40,553.9 40,553.9| 185,406.1 185,406.1
31 Afadu
2[F IZEé»i 0.0 0.0 65,251.0 65,251.0| 40,553.9 40,553.9| 185,406.1 185,406.1
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 0.0 0.0| 662,450.3 662,450.3| 108,524.9 108,524.9 0.0 0.0
31 Afadu
D{EQL"JZ?ZU PExAOUCS 0.0 0.0 662,450.3 662,450.3| 108,524.9 108,524.9 0.0 0.0
31 Afadu
Dc"['{ﬂoa 1 bEUaAUaUUPS 0.0 0.0 662,450.3 662,450.3 0.0 0.0 0.0 0.0
31 Afadu
- P»YU»iC ** RCYAGAIAGY Y»AIC RCYSASAAAIA0Y 0.0 0.0| 662,450.3 662,450.3 0.0 0.0 0.0 0.0
- P»YO»AC " BCYASAIAIYY»AC T2 ACTH 3t 1»A3Yafia-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@?Z?U?U°6 °i é28g2T1a6aigu°s 0.0 0.0 0.0 0.0 108,524.9 108,524.9 0.0 0.0
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafailY»i 0.0 0.0 0.0 0.0| 108,524.9 108,524.9 0.0 0.0




19¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabc» 20y T2ES»AC -aRT=26V=2T3Y 1263T20-U3Y 04 p=AYC 02

EUNC 04 136G 1A= -AvfC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

Pa1T=1¢ =Yi=VaslA

S ATa00 AST T7=-fofiG

UA3YeCc3(c
D3YAZA» T AARY
T36313n40A3Y
3¢2To40AR0p
CAST3Y=36140 1»14)
cAZUPSAC T36406U3Y

[i=-CA

21 Afal A6
T2 =2040Y»AC

Y\]{Elﬁlsi»ﬁ) i
31 Afadu

5
= > (?’)- A
>0 2
1 2E2s
\— K< ® D
< 28RS
R 2
7 | Ll
o - '(f)
> TPl
< L0 TR
8>
o
18 19
AU _2@°UA 12Eé&°d 69,696.8 69,696.8
=1 ATaiu
AUAZOET 12Eé°d 40,770.2 40,770.2
=1 ATaiU
2pE2T2Ugk 12802Tda0AUacU 0.0 0.0
=1 ATaiU
_ABUAT 1x31T40 SRESTST3A0»0 NS> Tx3Y»h 0.0 0.0
=1 AasU
- 2REZTA0Y»AC SRESTST3A0»A NS I»ES Tx3MY»f 0.0 0.0
12&2Ua6AlasuUUCHE 2T 25020gU°sE 0.0 0.0
0°ep” 232060
=1 ATaiU
D?ﬁ?ﬁY?_I-3_I-3Y I3Eé»i 0.0 0.0
31 Afadu
- WY»h -»WCT 13é3aiAla5YY»i 0.0 0.0
- 13AC 13é3aAlasy Y»h 0.0 0.0
Tan1ai0aUY»AC ™ RAc= - SlatAlasYY»AC 1SEé»f 0.0 0.0
aSI7= 7Y SE 1565 ARG 060 Aa 00 00
31 Afadu
- D2U3T31-53(CY 1363[a0Ala5Y Y»i 0.0 0.0
AYA=4CT Yaiia-ail ~ &3Na3YaiU (1363asAlasyy»h 0.0 0.0

20lae=T 04-02-04



89¢

18 19
- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-ail = 0.0 0.0
a=Na=vail
U\‘Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»h ™ N3 - 406 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0
eao” é/E‘b/EZUOB 0.0 0.0
31 Afadu
ééﬁ[{éQ1Q3Y»ﬁ B>W 313 I3W3T»AQ4a0AIA0YY»ACY 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0
13%U3T»A&40AIA6Y Y»ACY
362~®2PU&690°6 0.0 0.0
31 Afadu
AYA3OQ| ?_ﬁ3U?BYéﬁN“{»ﬁ T3I3YN3TI31C 3 0.0 0.0
USTSR1STY»ACY
31 Afadu
TAVASGCT TTUSTYARNTT Bt STV~ NSUSN oY 00 00
3¢ TA3ICY 133 T»RA40AIGY Y»ACY
- 2[E AYASACT 13 U3RYAANY»f 0.0 0.0
2UE ~‘| ZEéoé 40,770.2 40,770.2
31 Afadu
2[F IZEé»i 40,770.2 40,770.2
aa QEU?UéZTZU 21TEIUCBE T1ai I12Eé°d 28,926.6 28,926.6
31 Afadu
D{EQL"JZ?ZU PExAOUCS 28,926.6 28,926.6
31 Afadu
Dc"['{ﬂoa 1 bEUaAUaUUPS 0.0 0.0
31 Afadu
- P»YU»iC ** RCYAGAIAGY Y»AIC RCYSASAAAIA0Y 0.0 0.0
- P»YO»AC " BCYASAIAIYY»AC T2 ACTH 3t 1»A3Yafia-ail 0.0 0.0
@?Z?U%U°6 °i é28g2T1a6aigu°s 28,926.6 28,926.6
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafailY»i 28,926.6 28,926.6

20lae=T 04-02-04



69¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 04 p=AYC 03

EUNG 03 136G 1A= -AvfiC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

S ATa00 AST T7=-fiofiG

T4ATS1Ch CRESVaIAISY,
& T3T3Y 136313037
N=ya=a» =Ty -

T3ASIUSCY 13637303y

U=AlCYY»i¢ a=N&a=vasl

AY1=20»YA Lo .
136¢ o Arany A
PALT=IC 3YT=VaiUA -40USTA = I==1a0Y»Ne
(== = =5 A
1ASUY»AAT) n AR
= TE2Ll3
5 ﬁgﬁ%f
7| gefil
T | fEEEL
5" @
1 2 3
AU_=0°UA 12E6°5 47.6972| 47,6972 47,6972
3j1 Afas0
AUAZOET 12E6°5 47.6972| 47,6972 47,6972
31 Afasl
2PE>T2Upk 12602 16a80A0a00 36,0463| 36,0463 36,0463
301 Afasl
_ABUAT Tx=N180 SRES TS T30000 N2 T oE= X 0Yon 36,0463| 36,0463 36,046.3
31 Afasl
TZRESTA0V»AC SRES TS T3A00A ~ N3 122 130V 28,987.0] 28,987.0 28,987.0
~0=0=0=6C13Y, ST By w2137 Ik 7,0693|  7,059.3 7,059.3
[36340V»AC &3A- 3 1fiail
T12820R0AURUUCBE ©1 2a5=UpUcsk 11,6332| 11,6332 11,6332
0°es” ©3a00
301 Afal
PSRANYST=T>Y SEenh 3,9905| 3,9905 3,990.5
301 Afal
IR > U CT 13631a0Aa Y Vo 28304 28304 2.830.4
“Talav =t 1563la0Na Vo 151 151 151
TTSAC 1565 aRavT»n 985.0 985.0 985.0
TZESNaTS - AoISY ISEeoR 160.0 160.0 160.0
Tan1a00&0V>1C ~ BAC= - SIAABIYY»AC TSEé»n 1532 1532 1532
A3IU=7= - A3KY S 1262TA0NA0T Vo1 O»eUimiatl 6,8520] 68520 6,852.0
301 Afasl
TD3UST3R-53KY 1563laAaYYoh 12.0 120 120

P31»ET31 N 5 - | »é308(3T

200a56=3T N 04-03-03

20lae=T 04-03-03



0L¢

1 2 3

- DO IBTT3T3Y 1363aAlaiYY»h 20.0 20.0 20.0
- U»fil3[3064004=313Y 13Eé»h 30.0 30.0 30.0
- AYLIN3YaA pYAHAC 3 1363a0AlaiYY»h 6,790.0 6,790.0 6,790.0
AYA36CT Yana-ail =~ &3Na3YaoU (1363[acAlasyY»n 82.4 82.4 82.4
YlaoA»fi)

31 Afadu

- P»U»Y3Y»C ~ 63AUS TanasUY»Ac AYAS6CT Yana-aiu = 82.4 824 82.4
a=Na=vai

U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 555.1 555.1 555.1
31 Afadu

- TAZE»YIST3ICY YiasA»h ™ N3 - 406 94.1 94.1 94.1
- TASYEAANT3ICY YiasA»i 443.2 443.2 443.2
- T»Y6303ICY " NSYASICY eYY1C YlaiAni 17.8 17.8 17.8
2UE ~‘| ZEéoé 17.7 17.7 17.7
31 Afadu

P3fil»f, &3 31CA 1x3iAY»f ~ wWailA»i, afayo 17.7 17.7 17.7

2631302 T3P USTSA1STY»AC TA0UC6 TCR=6T40U

»Y UGUI=Y6 YT=rU=0p

20lae=T 04-03-03



|74

§D3BET3VC DBVASA» T AAIBY 2016 ATSTSYC 8 W 3T3Y dse»C US6CY 0D
Of»YUC 7-fi1 NA1T2TAT paic» W 2ICY T2Ee»AC - AR 136Y2T3Y 1263137 -U3Y 04 u=AYC 03

EUNC 04 136G 1A= -AvfC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200a56=3T N 04-03-04

Sl ATa00 AST T7=-fiofiG

P23U3RE3ANZICY u3VYIC
=¢3164aAB0u
CAZT=2Y=26140

JY»fi- 3EY3(a0a0AI3Y
1/=30=3RY4AN3ICY TA=-CA

& . 3¢316aA=0p
CAST3Y=36140 D3N=3T3Y
2%T-C N 2 ¢ Y»fA-Sufalc
R=N=-anil3yY Y2E=-13(CY
ASUT»1C »AT3A36U3Y
1A3USRYARNSICY 1/=-Ch

P3U3RE3ANZ3ICY u3YIC
3¢3T6a0AR U
CA3T=3Y36140

ORTASC»AUSICY
N» 1 3Ea3T3Y
NaA3TU3Y

20lae=T 04-03-04

AVI30»VA 1RBUSRYARNSICY 172 -G
134C = Rt An Ada o o ro
PO PR, A £ L ATadU Aér 3L ATadu Aé 31 Atadu Aén
113 33 33 - 3 - ~ - ~ . . ~
BatT=1G =Yi=vaUa (ﬁ";’l ) :-?,? - IS0 3/A0V»AC - IS 3AA0V»AC - IS 34a0V»AC
4 @ @ @
~ W~ L ey . (&% e . (&Y e . (&)
1ASBUY»nal ) 0’)‘ Q 1% ?C_) 0’)‘ Q 1% ?C_) 0’)‘ Q 1% ?C_)
= nes = nes = nes
< ol g < ol g < oL g
A '-m e A I-m ple A I-o’) e
S A o M S A o M S A o M
] . i U] f = 0 A '
o z% > o z% > o z% > )
P =0 4w P =0 4w P SR
20 2 20 20l
R ~>_ R \ R \
8 8 8%
1 2 3 4 5 6 7
AU _2g°UA 12E&°s 1,726,877.8] 33,424.9 33,424.9] 1,475,704.3 1,475,704.3] 153,194.0 153,194.0
=1 Afasl
AUAZOET 12E6°8 251,173.5| 33,424.9 33,424.9 0.0 0.0| 153,194.0 153,194.0
=1 Afasl
20 12Eé°s 251,173.5| 33,424.9 33,424.9 0.0 0.0| 153,194.0 153,194.0
=1 Afasl
2 [SEé»h 251,173.5| 33,424.9 33,424.9 0.0 0.0] 153,194.0 153,194.0
aa uEU=20é2120 Z1TE1UCBE T1a1 12E6°95 1,475,704.3 0.0 0.0| 1,475,704.3 1,475,704.3 0.0 0.0
=1 Afasl
PEPUZ12U pExaoU°d 1,475,704.3 0.0 0.0| 1,475,704.3 1,475,704.3 0.0 0.0
=1 Afasl
poUg°s ©1 bEUaAUA0UCS 284,687.0 0.0 0.0| 284,687.0 284,687.0 0.0 0.0
=1 Afasl
“P»YU»AC -~ RCYABAIAYY»AC T=AC T =t T»A=Yana - aiu 284,687.0 0.0 0.0| 284,687.0 284,687.0 0.0 0.0
2°9°020°8 ©1 é28p21ad8a00U°8 1,191,017.3 0.0 0.0| 1,191,017.3 1,191,017.3 0.0 0.0
=1 Afasl
—2E U»tnY3Y»h -~ 63003 TanasUY»h 1,191,017.3 0.0 0.0| 1,191,017.3 1,191,017.3 0.0 0.0




cle

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b
Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4f1=26Y=T3Y 1363137 U=Y 04 p=AYC 03
EUUC 04 126G Th=-fvAC - TaT N2 =7 =1 K= T=6a00Y»1C T»il=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363130-U3Y NaLT2TV»AC

St ATaol AST TS - fofiC

P3U3RE3ANZ3ICY u3YIC
=c2T645A20p CA2T2Y=26140
1R202RYAAN SALAYSp-A=TSY
US6RW3uC 3i3CY ¢ Y»A-C3(C
1A=-AC Y3E3&3TA3eU3Y
N=U= 16=303RYaAN=3ICY TA=-Ch

T SV anil = Afasl Asr
PATT3IC 3YT3V45UA - TS W SAAOTAC
s -
0 0%z
= TS
7 2oy L
d w0
> S0
'< BN P (f)
81>
=3
8 9
AU _2@°UA 12E&°8 64,554.6 64,554.6
= ATas0
AUAZ20ET 12Eé°d 64,554.6 64,554.6
= AfasU
20t 12Eé°d 64,554.6 64,554.6
= AfasU
2[f I3Eé»h 64,554.6 64,554.6
aa ukU=20é2120 2T1TE1UCSE TT1ai 12Eé°d 0.0 0.0
= AfasU
PEGU212U @fxaoUCd 0.0 0.0
= Afas0
peUg°d 21 bAEUacAUaUUCH 0.0 0.0
= Afas0
“P»YU»AC -~ RCYABAIAYY»AC T=AC T =t T»A=Yana - aiu 0.0 0.0
gegeU=20°s ©i1 é2dp2T1adasgued 0.0 0.0
= AfasU
- 2 U»UnY3Y»fi - 63A03 TanaiuY»h 0.0 0.0

20lae=T 04-03-04



€LC

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AG -aRT=26Y2T3Y 1263T20-U3Y 04 p=AYC 03

EUKG 05 136G 1A= -AvfiC - Tal N2e = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 163 -Cr3T3Y 1363T37- 037 N4 T2 1V»A¢

P3i»ET31 N 5 - | »é30&(3T
200as6=3T N 04-03-05

20lae=T 04-03-05

S[ATa00 ASH TR fofiG

TaRT=1Ch CRE3YA0AI=Y,
T 3T3Y T26313AU3Y
NSYASS»T3T3Y
T3AST0BCY 1363 13/0U3Y
U=AlCYY»AC &=3Na=vail
(Y2E=/2180AIYV»AC

»AUBYC3IC %30 - 26U3Y T3AT»AC
U3YTC 3¢3T6aA=0p
CAZT3Y=6140 §Tai 1363y
o TTAZN=0aRA10U3Y 63Y6 I
P3BeT3Y-1i3eT3Y (3047i1C4
-CIHYAST3BYY»AC 1A=-Ch

28C3T3Y =30 -36U3Y u3YI1¢
3¢3T16a5AB 0N CAzT3Y=306T40
TS Y»h -C3IC N=30an1U=3y
63Y6C T»A3T36456U=3Y
RAG3Y=TY»fas0 22011
§2.3f=1-21 " §pCYAIN=(A}
»YASTI[BYY»AC T»AST3¢ai0U3Y

AY13U»YA SRE3T313YU»NC U3ear) i7=-Ci
1=eC — — P
PALT=IC =Y =Y45UA - 460=A 3 ATadl Ae 3 ATail Ae 3 ATal AsT
(=%=h - TS 3Aa0V»fC - TS S3Aa0V»fC - TS TSAA0V»AC
1A30Y»har) 2 e 2 e 2 e
2% 25 A%
£ S £ S £ rE8
< ol < QU < (R
3 TR 3 YN 3 N
g g g g g g
< LU < LU < EURTH
gL gL% g%
=1 =1 =1
1 2 3 4 5 6 7
AU_2p°UA 12E6°0 1,972,161.1]  154,5415 1545415 41,000.0 41,000.0]  1,770,702.1 1,770,702.1
S Aral
AUAZOET 12E6°5 221,1422| 1545415 1545415 41,000.0 41,000.0 19,6832 19,683.2
S Arail
2PE2120pk 120021020A0a0U 1354805| 1354895 135,489.5 0.0 0.0 0.0 0.0
S Arail
_=Ual 1x=N1a0 SRESTSTM000 NS 162 [xSAT»h 1354895| 1354895 1354895 0.0 0.0 0.0 0.0
S Aral
- 2RESTA0Y»C SBEST 13000~ NS 1762 1x2AT»1 105362.7|  105,362.7 105,362.7 0.0 0.0 0.0 0.0
~ =05 0=00T3Y, IS ST1SY -~ & =13 SF 30,126.8 30,126.8 30,1268 0.0 0.0 0.0 0.0
136340Y»MiC &3 -3 1aU
1282020AUa00U°SE ©1 2462UgU°0k 18,9645 18,964.5 18,9645 0.0 0.0 0.0 0.0
0°ep” ©5a00
S Arail
PSRaY =131y 1SEé»n 15,7411 15,741.1 15,741.1 0.0 0.0 0.0 0.0
S Aral
B RS o ER Oy 10,086.1 10,086.1 10,086.1 0.0 0.0 0.0 0.0
- TaU&Y >t 156=1a0Na0 Yo h 64.6 64.6 64.6 0.0 0.0 0.0 0.0
“TSAC 1563/a0NaToh 1,694.8 1,694.8 1,694.8 0.0 0.0 0.0 0.0
~233Na1=- =12 1=Eenn 320.0 320.0 320.0 0.0 0.0 0.0 0.0
~9T&0INC ~ E3NU=TaRAIUY>NC 1210 1 0N 35756 3575.6 35756 0.0 0.0 0.0 0.0




vie

20la56=T 04-03-05

1 2 4 6 7
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 1,697.6 1,697.6 1,697.6 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 244.3 244.3 244.3 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 34.0 34.0 34.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 145.3 145.3 145.3 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 55.0 55.0 55.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 10.0 10.0 10.0 0.0 0.0 0.0 0.0
AYA~30C| Yafia-ail " A3Na3YaiU (13é3lasAlasyy»i 159.8 159.8 159.8 0.0 0.0 0.0 0.0
YiaoA»h)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 159.8 159.8 159.8 0.0 0.0 0.0 0.0
a=Na=vas
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 1,121.7 1,121.7 1,121.7 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YISTIICY YiasA»n ™ N3 - 406 292.2 292.2 292.2 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 809.5 809.5 809.5 0.0 0.0 0.0 0.0
- D3 a6l YA3SW313(CY 3k YiaiA»i 20.0 20.0 20.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 66,688.2 87.5 87.5 41,000.0 41,000.0 19,683.2 19,683.2
31 Afadu
D3>, é’l?'ﬁjl'31()ﬁ fX?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, aﬁaYu ‘ 87.5 87.5 87.5 0.0 0.0 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu
»Y UCUIBY6 YI3T1U3Upn
2 I3Eé»f 66,600.7 0.0 0.0 41,000.0 41,000.0 19,683.2 19,683.2
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 1,751,018.9 0.0 0.0 0.0 0.0 1,751,018.9 1,751,018.9
31 Afadu
D/!E@pz |‘2L"J DExAOUCS 1,751,018.9 0.0 0.0 0.0 0.0 1,751,018.9 1,751,018.9
31 Afadu
Dc"['{ﬂoa 1 bEUaAUaUUCS 331,018.9 0.0 0.0 0.0 0.0 331,018.9 331,018.9
31 Afadu
- b»YU»AC * RCYABAIAGYY»AC TS ACTH 3E T»A3Yana-ail 331,018.9 0.0 0.0 0.0 0.0 331,018.9 331,018.9
@?Z?U?U°6 °i é28g2T1a6a6gues 1,420,000.0 0.0 0.0 0.0 0.0 1,420,000.0 1,420,000.0
31 Afadu
- 2E U»U»Y3Y»h ~ 63A03 TafaiuY»i 1,420,000.0 0.0 0.0 0.0 0.0 1,420,000.0 1,420,000.0




74

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

YOG 7-fit NaTT3TAT pade» 1 3i0Y TSES»AC -afl=ey3T3Y 136313- U3Y 04 p=AYC 03
EUKG 05 136C 1= -ivfiC - TaT NS w= 121 K3 wT20400Y»AC T»AT3Va0Y Asr
IBEe»AC TV 163 -Cr3T3Y 1363T37- 037 N4 T2 1V»A¢

Pa1T=1¢ =Yi=VaslA

St ATaol AST TS - fofiC

T»AST26400U3Y " %37 - 20U » TRAAST3Y
UBYTC 221645420 CAZT2Y=26140
T TAZN=04A1U3Y 63Y6C u3»E3TU3Y
BACSYSTY»fi400 §2RY=T! »YAST2(=2YC
T»AST26400U3Y (b THAZ Vofi-» W CTST3Y
N3U=3T30-C T363TAUSY pSint3TU3Y

Ifi=-CA

2 Afal AST
T2 =2ha0Y»AC

\o=
g —
; =

= rom L

o >

> ;\: VeIt

< o:m— (2_

B>

8 9
AU_2g°UA 12E&°5 59175 5917.5
=1 Afadu
A‘L"JA:Z(‘)/E 1 12Eé°05 59175 5,917.5
=1 Afadu
2PI§?’|‘%UZ/E 12802Tda0Alasu 0.0 0.0
=1 Afadu
A3Uar Ix3i1ao0 SRES W ST3A0»0 NS T»ESTx3AY»A 0.0 0.0
=1 Afadu
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 0.0 0.0
- g30=302003T3Y, 131313 -~ & 1S13Y 3E 0.0 0.0
136=3[a0Y»AC &= -3 hail
?ZéZUéﬁAUéﬁUUOB/E °1 2a620gU°sE 0.0 0.0
0°eg” 26a00
=1 Afadu
D?ﬁ?ﬁY?_I-3_I-3Y 13Eé»ii 0.0 0.0
=1 Afadu
“UY»ii-> 0 CT 12631A0AIE0Y Y»h 0.0 0.0
- TAUAYS3E 13é63(a0Ala0Y Y»ii 0.0 0.0
“T3AC 1=2621a0Aa0Y Yh 0.0 0.0
- 233Na13-A313Y IBEé»i 0.0 0.0
- F&dloC  83AUS TaRasUY»AC T30S T3ta0AlasY 0.0 0.0

20lae=T 04-03-05



9/¢

Tan1ai0aUY»AC ™ RAc= - SatAlasYY»AC 1SEé»f 0.0 0.0
aSI7= 7Y SE 165 GRANTHIG 060 Aa 00 00
31 Afadu

- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0
- DO IS TT3T3Y 1363(40AIa0YY»h 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0
- AYIN3YAH7 pYadlAc 3 1=3¢3a0AlaiY Y»i 0.0 0.0
AYAS6CT Yana-ail ~ a3Na3vaol (13¢31a0AlasyYV»h 0.0 0.0
YiaoA»h)

31 Afadu

- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0
a=Na=vas

Ugéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0
31 Afadu

- TiAZE»YISTIICY YiasA»n ™ N3 - 406 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0
- D3 a6l YA3SW313(CY 3k YiaiA»i 0.0 0.0
ZQE ~‘I 2Eé°6 5,917.5 5,917.5
31 Afadu

D3>, é?ﬁjl'f‘lgﬁ fx?ﬁY>>ﬁ . 'I'él’f)UA»ﬁ, éﬁéYU ‘ 0.0 0.0
I=€=T=AUSY =i USTSA1=TY»AC 1a0UC6 1CA=¢éTaiu

»Y UCUIBY6 YI3T1U3Upn

2 I3Eé»f 5,917.5 5,917.5
aa QEU?UéZTZU 21TEIUCBE T1ai 12Eé°d 0.0 0.0
31 Afadu

D/!EQ}"JZ I‘ZU DExAOUCS 0.0 0.0
31 Afadu

Dc"L"{ZO(j 1 bEUaAUaUUCS 0.0 0.0
31 Afadu

- b»YU»AC * RCYABAIAGYY»AC TS ACTH 3E T»A3Yana-ail 0.0 0.0
@?Z?Uéuoé °i é28g2T1a6a6gues 0.0 0.0
31 Afadu

- 2E U»U»Y3Y»h ~ 63A03 TafaiuY»i 0.0 0.0

20lae=T 04-03-05



112

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

Of»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y2T3Y 1263T20-U3Y 04 p=AYC 04

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

S ATa00 AST T7=-fiofiG

AVL»AUC U=6CY

0> T3T TaiABY

TABU=S1AU=Y

13é3(asAlasy
AY13(0»YA = Afa0 Ae
o 13¢ w | T=rsha0vsic
PALT=1C =Y T=YaiUA - 400=fiA = —
(N=y%=H R LS
HIOY»RAT) | € = f§
< ol g
2 =0
S A o M
) A i
d s>
z =0 4w
507
=
1 2 3
AU_2g°UA 12E&°3 3,4455| 3,4455 3,4455
=1 Afasl
AUAZOET 12Eé°5 3,4455| 3,4455 3,4455
=1 Afasl
&ao” ek _k=0°5 3,4455| 3,4455 3,4455
=1 Afasl
BABUECICZY A Br T =13 1% I»NAaabAasy Y »ACY 3,4455| 3,4455 3,4455
=1 Afasl
- GAIECICIY o &3 YOV BYeS 13 a» 12137 3,4455| 3,4455 3,4455
T3U=T»AAAARIAY Y»ACY

P31»ET31 N 5 - | »é308(3T

200a56=3T N 04-04-01

20la6e=T 04-04-01



8¢

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y3T3Y 1263T20-U3Y 04 p=AYC 05

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

P31»ET31 N 5 - | »é308(3T

200a56=3T N 04-05-01

20la6e=T 04-05-01

S ATa00 AST T7=-fiofiG

a1y Vp2v=Tahi=y
S TTax3Y2&3ANY»AC
NQUY=Vaha - iU

BCcA»T3T3Y
NBYA3E&» T 3T3Y
YR2Y3TaAI=Y
ST ax3Y3a3ANY»Ac
0U»é3(cY &=3Na=3vaiU,
AYA=6CT &3Na=3vail
R3N=-affasl

=20y YREYSTAHABY ST ax3Y2AZNY»A¢ OU»e=(CY
a=la=vail, AYA=oCT a=a=vail * R=N=-anlasl

AY13U»YA
b 1=1C =27 12Y4UA P = ATai0 As =i ATa00 AeT =R Afadl Aer
=y=i - 1371 3/a0Y»AC - 13713na0Y»N¢ - 13713/a0Y»AC
1A30Y»Aar) 0')C . 0')C P 0')C o
NIO NIO O \ \ S50 \
£ = 3 £ = 3 e | Zi | e | gl | S8 i
< 5,5 < S5 < sy oo | Sn | &7 | &7
~>,: off 1 ;g ~>,: o =y ;g ~>/: - ' lmC - M lm D D
> @ °C 1 > @ 0 1 > 03 0 'a 2'a = A 38 'A
U] (?.)' ,0')_ i [U] (?.)' ,0')_ i [U] ) of I offy < o zmo of o
d 0= d i) d LS NS N 25 ol
> I ul > = it} > N I e e = I e
< - < - < f an | 81 0 0
Q > [ > 85 D > 2> S
1 2 3 4 5 6 7 8 9 10 11
AU _2@°UA 12Eé&°d 8,174,259.5| 109,400.0 109,400.0| 1,109,911.2 1,109,911.2| 225,178.0( 26,775.0| 9,982.0| 3,340.0| 25,875.0( 7,427.0
=l A4l
AUAZOET 12Eé°d 2,583,982.2 0.0 0.0( 1,109,911.2 1,109,911.2| 225,178.0( 26,775.0| 9,982.0| 3,340.0| 25,875.0( 7,427.0
=l Atasl
jZéZUéﬁAUéf)UUoé/E °i1 25620gU°sE 1,335,089.2 0.0 0.0 1,109,911.2 1,109,911.2| 225,178.0( 26,775.0| 9,982.0| 3,340.0| 25,875.0( 7,427.0
0°ég™ 2oadd
=l Arasl
AVAS6CT Yaia-ail ~ A=NA=YaiU (126=la0Aa0VY»h - 1,335,089.2 0.0 0.0 1,109,911.2 1,109,911.2| 225178.0| 26,775.0| 9,982.0| 3,340.0| 25875.0 7,427.0
YIa0A»R)
=t Atasl
T P»YUnAG ~ T3EA06V»AC AYASOCT Yana-aU ~ a=Na=vyail 1,335,089.2 0.0 0.0 1,109,911.2 1,100,011.2| 225,178.0| 26,775.0| 9,982.0| 3,340.0| 25,875.0| 7,427.0
. 62@2pUashues 513,418.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3t Atasl
AVAZ6CT TnSUSRYANNY»N 80 1 213V NS 1 131 3E 513,418.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
UST3ATSTY»ACY
31 ATédU
~AVES6CT 6A01T»Y6C3VoR NSUSNUV»ACY 426,900.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~AVASECT TR2USRYARNY»A 8r 1T 213Y -~ NSUSNU3CY 44 46,518.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY T3S T»AA4AIAYY»ACY
“2F AVAZ6CT 1= U=RYArNT > 40,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE 12Eé°0 735,474.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=l Atasl
2 ISEé»f 735,474.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




6.2

20la5e=T 04-05-01

1 2 3 8 9 10 11
aa uEU=082120 ZITE1U°GE T1a1 126695 5590,277.3| 109,400.0 109,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 A7 400
DEDUZ120 Bk2a0U°8 5590,277.3| 109,400.0 109,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 A7 400
PoUg°8 ©1 PEU&sAUaU0°5 5,563,731.6] 106,400.0 106,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
~P»YUSAC  RCVABAEOYY»1C RCY == natkiasy 5,145,877.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
—P»YU»iC ~ RCYAOABIYY»NC TSACT 3t T»N3Yana-aU 417,854.2 106,400.0 106,400.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 15,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 A7 400
“2E UtV 3o~ 62003 T ANA0UY» 1 15,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pEGUZT20 OE=2ao0°58 11,545.7 3,000.0 3,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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CUSE=- 13 1 S/AT 2137 126 11,545.7 3,000.0 3,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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DEDUZ120 Bk2a0U°8 0.0 0.0 0.0 0.0 0.0] 259,381.7 259,381.7 0.0 0.0
=1 A7 400
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DEDUZ120 Bk2a0U°8 1,738,870.0 1,738,870.0 934,648.3 934,648.3| 334,999.9 334,999.9]  300,112.0 300,112.0
=1 A7 400
PoUg°8 ©1 PEU&sAUaU0°5 1,738,870.0 1,738,870.0 934,648.3 934,648.3| 311,454.2 311,454.2]  300,112.0 300,112.0
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~P»YUSAC  RCVABAEOYY»1C RCY == natkiasy 1,738,870.0 1,738,870.0 934,648.3 934,648 3 0.0 0.0]  300,112.0 300,112.0
~P»YUSAC ~ RCVASAROYY»MC TSAC T 3t [»n=Yana-aol 0.0 0.0 0.0 0.0| 311,454.2 311,454.2 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0| 15,000.0 15,000.0 0.0 0.0
=1 A7 400
—2EU»ir V3ol - E2A0=TARa0UY»A 0.0 0.0 0.0 0.0| 15,000.0 15,000.0 0.0 0.0
20k pEGUZT20 OE=2ao0°58 0.0 0.0 0.0 0.0| 85457 8,545.7 0.0 0.0
= A7 400
CUSE=- 13 1 S/AT 2137 126 0.0 0.0 0.0 0.0| 85457 8,545.7 0.0 0.0
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PoUg°8 ©1 PEU&sAUaU0°5 1,573,505.9 1,573,505.9 339,359.5 339,359.5 0.0 0.0 0.0 0.0
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~P»YUSAC  RCVABAEOYY»1C RCY == natkiasy 1,573,505.9 1,573,505.9 339,359.5 339,359.5 0.0 0.0 0.0 0.0
~P»YUSAC ~ RCVASAROYY»MC TSAC T 3t [»n=Yana-aol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 6250=1a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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—2EU»ir V3ol - E2A0=TARa0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20k pEGUZT20 OE=2ao0°58 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7 400
CUSE=- 13 1 S/AT 2137 126 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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AUAZ20LT 12Eé°5 1,078,558.3 4,036.5 4,036.5( 85,760.5 85,760.5 3,459.6 3,459.6 0.0 0.0
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2pE2120 gk 12802T0a0AVa00 39,0255 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT45U
_ASUAT 1x3A140 SRES TS T3A0»0 NS T»ES Tx3AY»0 39,025.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 AT48U
TZRESTA0VAC SREST 3T 3A00A NS 162 Ix3AT»0 39,0255 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1282020A0a00U°8E ©1 2a52UgU°Bk 506,347.8 0.0 0.0[ 857605 85,760.5 3,459.6 34506 0.0 0.0
Oces” ©8200
31 AT48U
b=REI=T=T>Y 15Een 8,400.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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I -1 CT 1363 A0NE0Y Y1 180.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TT3AC 1263 ANa0TY-h 1,055.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“ZA30a12-A=213Y 12Ee»n 7,165.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NanTA080Y»NC ~ RACS - SIROABIYY»NC TSEenh 9,618.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A0SV A=Y SE 126S1R0NA0YT»C O»6Up»Tiall 289,580.1 0.0 0.0 85,7605 85,7605 3,459.6 3,459.6 0.0 0.0
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- DO ISTT3T3Y 136340AlA6YY»A 5,030.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3E63T3AT3Y 136340AlasYY»A 43,251.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaADN pYAIAC SE 1363 R0N&Y YR 238,448.7 0.0 00| 857605 85,760.5 3,459.6 3,459.6 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0YI»TC O»6Upmiiall 11,160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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TP -G 3137 12631600 Voh 11,1600 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 4,900.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 4,900.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
UlaAon (FAR=Y0Y»h) 182,689.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
T qIR2EVIET3ICY Vidbhn ~ N2 -&06 1 10,160.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 8.290.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T 26ANCSASNII3Y - EBpanSTan Yok h 154.879.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 360.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TDST&T YAS T ST3CY SE ViaoA h 9,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®2PU&690°6 303,431.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVAS6CT 1i=USRYARNY »ft &0 1 212 N1 121G SF 303,431.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT 1i=USRYARRY »1 8o 1 =T=Y ~ NSUSNU=KY aa 277,493.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUUST»ARAAAAEYY»ACY
- AYA3C')Q-|- f'-ﬁ3U?BYéﬁNY»ﬁ S»>T3I3Y " N3USYU3ICY 21,914.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUUST»ARAAGAIAEYY»ACY
“2EAVAS6CT TnSUSRY AR 4,023.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 40365 40365 4,036.5 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1>Y 0-VARA=Y 1n=U= 127 S =R=ln aA=Up 4,0365| 40365 4,036.5 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (laoc»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 4,036.5 4,036.5 4,036.5 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 225,717.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
D3RIoN, A=A S1CR Tx2RT»n T alkoR, AHaT0 ‘ 35,2000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 190,517.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°SE 1121 12E6°8 2,293,102.6 0.0 0.0 0.0 0.0 0.0 0.0] 31,0000 31,0000
31 Atadu
PEBU=2T2U gFzaoU°d 2,293,102.6 0.0 0.0 0.0 0.0 0.0 0.0] 31,000.0 31,000.0
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7°g°020°8 ©1 628¢=1a0a0U°3 1,013,152.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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- 12Aa= 127 63A0=1aRa00Y > 16,787.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
—2EU» WY 3Voi - 63A0S1aRa00Y > 996,365.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20E pE@UZ120 0Eza00°5 34,407.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES - 13> 1 S/a 12137 1SEeh 34,407.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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s L S o s o S o
< S0 < S0 < S0 < S0
e e e e
10 11 12 13 14 15 16 17
AU b~2®?UA 12E68°56 65,132.8 65,132.8 7,984.0 7,984.0| 13,635.2 13,635.2| 9,000.0 9,000.0
=1 A7450
AQAZ(‘)EI 12Eé°0o 65,132.8 65,132.8 7,984.0 7,984.0| 13,635.2 13,635.2| 9,000.0 9,000.0
=1 A7450
2PI§?T?UZ/E 12802T6a0Avacv 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 A7450
. ﬁ3~Uél' ‘|'><3ﬁ 140 BRE3T3T3A0»A ~ NBT»E3 1x3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= A7450
- ZBE3'I'éOY>>ﬁC SREST3T3A0»A ~ NSBT»E3 Tx3iY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
jZéZUéﬁAUéﬁUUOB/E o7 2482U0gU°dE 65,132.8 65,132.8 7,984.0 7,984.0| 13,635.2 13,635.2| 9,000.0 9,000.0
0°ea” ©3a00
=1 A7450
P2RAV=T=1=Y 1=Eé»h 0.0 0.0 0.0 0.0 0.0 00 6250 625.0
=1 A7450
—I»h-» 1 Cl 1=6=1a0MasyY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-T=AC 1=631a0Aa0Y Yo 0.0 0.0 0.0 0.0 0.0 00| 6250 625.0
- 2A3NAT3-A313Y I3Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Tan1a60800Y»1C ~ RAC= - SIA0ARBYY»AC 1SEéxh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3U=37=- A=Y 3 1263a0A1E0VV»1C 0»60»aoU 65,132.8 65132.8] 7,984.0 7,984.0| 13,635.2 13,635.2| 8,375.0 8,375.0
=1 A7450
-D=0=1=30-521CY 1=6=1a0Masy Y»h 0.0 0.0 0.0 0.0 0.0 0.0| 2,850.0 2,850.0
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10 11 12 13 14 15 16 17
- DO ISTT3T3Y 136340AlA6YY»A 0.0 0.0 0.0 0.0 0.0 0.0] 2,300.0 2,300.0
- T3E63T3AT3Y 136340AlasYY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaADN pYAIAC SE 1363 R0N&Y YR 65,132.8 65132.8| 7,984.0 7,984.0| 13,6352 13,635.2] 3,225.0 3,225.0
2EUSEY= -0 =T 1363 1R0AA0YI»TC O»6Upmiiall 0.0 0.0 0.0 0.0 0.0 00[ 00 0.0
31 Atadu
TP -G 3137 12631600 Voh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
UlaAon (FAR=Y0Y»h) 0.0 0.0 0.0 0.0 0.0 00] 00 0.0
31 Atadu
T qIR2EVIET3ICY Vidbhn ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T 26ANCSASNII3Y - EBpanSTan Yok h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TDST&T YAS T ST3CY SE ViaoA h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®2PU&690°6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
AVAS6CT 1i=USRYARNY »ft &0 1 212 N1 121G SF 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT 1i=USRYARRY »1 8o 1 =T=Y ~ NSUSNU=KY aa 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUUST»ARAAAAEYY»ACY
- AYA3C')Q-|- f'-ﬁ3U?BYéﬁNY»ﬁ S»>T3I3Y " N3USYU3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUUST»ARAAGAIAEYY»ACY
“2EAVAS6CT TnSUSRY AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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31 Atadu
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T AVINSYaADN pYAIAC SE 1363 R0N&Y YR 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0YI»TC O»6Upmiiall 0.0 0.0 0.0 0.0 11,160.0 11,160.0
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TP -G 3137 12631600 Voh 0.0 0.0 0.0 0.0 11,160.0 11,160.0
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
UlaAon (FAR=Y0Y»h) 0.0 0.0 0.0 0.0 22,230.0 22,230.0
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T qIR2EVIET3ICY Vidbhn ~ N2 -&06 1 0.0 0.0 0.0 0.0 9,800.0 9,800.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 3,430.0 3,430.0
T 26ANCSASNII3Y - EBpanSTan Yok h 0.0 0.0 0.0 0.0 0.0 0.0
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 0.0 0.0 0.0 0.0 0.0 0.0
TDST&T YAS T ST3CY SE ViaoA h 0.0 0.0 0.0 0.0 9,000.0 9,000.0
_520=pUasdbU"s 0.0 0.0 0.0 0.0 0.0 0.0
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846CE=1>Y 0-VARA=Y 1n=U= 127 S =R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (laoc»Co)
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- 2F Ya3ewY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 6,279.3 6,279.3 112,494.0 112,494.0 0.0 0.0
31 Atadu
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31 Atadu
PEBU=2T2U gFzaoU°d 48,302.0 48,302.0 2,193,633.6 2,193,633.6 3,380.0 3,380.0
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“2&=0a1= =12 12Ee»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ManTa60a00V»NC ~ RAG= - SIAGAIABYY»AC TS Eexh 0.0 0.0 0.0 0.0 0.0 0.0] 3,600.0 3,600.0
a3lU=Y3 - A3Y SE 12631a0ARIYV»1C O»EUH»Tail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
- D=0=T20-4210Y 1=6=1a0AE0Y Y »h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




9G€

20lase=T 07-06-01

32 33 34 35 36 37 38 39
- DO ISTT3T3Y 136340AlA6YY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3E63T3AT3Y 136340AlasYY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T AVINSYaADN pYAIAC SE 1363 R0N&Y YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0YI»TC O»6Upmiiall 0.0 0.0 0.0 00| 00 0.0 0.0 0.0
31 Atadu
TP -G 3137 12631600 Voh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
asNa=vail
UlaAon (FAR=Y0Y»h) 0.0 0.0 0.0 00| 00 0.0 0.0 0.0
31 Atadu
T qIR2EVIET3ICY Vidbhn ~ N2 -&06 1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T 26ANCSASNII3Y - EBpanSTan Yok h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TDST&T YAS T ST3CY SE ViaoA h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
562~®2PU&690°6 0.0 0.0 0.0 0.0] 1,785.7 1,785.7 0.0 0.0
31 Atadu
AVAS6CT 1i=USRYARNY »ft &0 1 212 N1 121G SF 0.0 0.0 0.0 00| 1,785.7 1,785.7 0.0 0.0
USTSASTY»icY
31 Atadu
~AVES6CT 1i=USRYARRY »1 8o 1 =T=Y ~ NSUSNU=KY aa 0.0 0.0 0.0 00| 1,785.7 1,785.7 0.0 0.0
3¢ TASICY TIUUST»ARAAAAEYY»ACY
- AYA3C')Q-|- f'-ﬁ3U?BYéﬁNY»ﬁ S»>T3I3Y " N3USYU3ICY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY TIUUST»ARAAGAIAEYY»ACY
“2EAVAS6CT TnSUSRY AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 00| 00 0.0 0.0 0.0
31 Atadu
846CE=1>Y 0-VARA=Y 1n=U= 127 S =R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (laoc»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 64,619.1 64,619.1 7,125.1 7,125.1 0.0 0.0 0.0 0.0
31 Atadu
D3RIoN, A=A S1CR Tx2RT»n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 00| 00 0.0 0.0 0.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 64,619.1 64,619.1 7,125.1 7,125.1 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°SE 1121 12E6°8 0.0 0.0 0.0 00| 00 0.0 0.0 0.0
31 Atadu
D{EQL"JZTéU FzaoUed 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
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20lase=T 07-06-01

32 33 34 35 36 37 38 39
poUg°5 1 PEDatAUas U035 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
- P>YU»AG ~ BCYADAABYY »AG RCY SA=RacAlanY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~P>YUnAC - BCYAOABIVY»IC T=AC 1 SE 1 »i=Vana - 23U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628¢=1a0a0U°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- 12Aa= 127 63A0=1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
—2EU» WY 3Voi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pE@UZT20 0E2a00°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES - 13> 1 S/a 12137 1SEeh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y3T3Y 1263T20-U3Y 07 p=AYC 06

EUNC 01 136G 1A= -AfiC - Tal N2 = 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T3A-03Y N4 T2 1V»A¢

20lae=T 07-06-01

Pa1T=1¢ =Yi=VaslA

S ATl AS W 1A= -fiofiG

§°fi»E3Y»fi¢ 3éa0¢
&Yaooaslt N=3YasIicy
CA3Y»TU3Y

PABACT3EY»AC

H&GAT>

THAC PART=T3Y

TMtap=3t NCUY=1/=0C
2c3T640A200 CRZT2Y26740

§D=(=2EW3YC

1=é6=3{a5AIA5Y Y »fi

a=la=val -
R=N=-afilasl

D3Vi=&» 1 asAlasVail
TaATASHAAC 15U A==AC

aA»0=6450" 1H=03RYARN=ICY

17=-CA

TMtap=t NCUY=31A=3UC 3¢=2T64AIB0p
CA=T=Y=6140 §8D=(=6=YC
PYASA»T A4SV A0 BE2T/

OE2D-C 15U AZWBAC 3%- 30V
7= -ACY S¢=T6aAlasY !
1330=3RY4AN3ICY TA=-Ch

2 A4l A6
T=212a0Y»AC

21 Al A6
T2 =2040Y»AC

20 A4l AST
T=02R80V»AC

20 Af 4l AST
T=02R40V»AC

5 5 5 5

i - = 7 = - = -

" P " L= " P " %

. & s . > G . @ S . @ S

5 = 5 0 5 =3 5 =

3 R g 0 3 o0 = Ry =) B

] 0w ] 20 ] 0 9 0w

s S > (RN > Sl > Sl

< S ) < of® () < S (M) < S )

O > > D > D >
) 2 ) )

40 41 42 43 44 45 46 47
AU _20°UA 12E6°8 1,015.0 1,015.0| 4,000.0 4,000.0] 355,986.7 355,086.7 241,564.2 241,564.2
3 A4l
AUAZGET 12E6°5 1,015.0 1,015.0| 4,000.0 4,000.0|  339,199.7 339,199.7 241,564.2 241,564.2
3 A4l
2pE2120pk 1200218a0A0a0U 0.0 0.0 0.0 0.0 25,000.0 25,000.0 8,787.5 8,787.5
3 A4l
_A=Ual 1x2A180 SRES T 3120000 N2 103 1x2AY»A 0.0 0.0 0.0 0.0 25,000.0 25,000.0 8,787.5 8,787.5
3 A4l
- 2RESTA0V»AC SRES T ST 20~ N2 1562 1xSAY»A 0.0 0.0 0.0 0.0 25,000.0 25,000.0 8,787.5 8,787.5
12820a6A0a600°8K ©1 2a020sU°0k 1,015.0 1,0150| 4,000.0 4,000.0 50,753.7 50,753.7 163,400.4 163,400.4
0Cep” C5a0
3 A4l
P3RaV=1=13Y ISEé»n 0.0 0.0 0.0 0.0 6,313.7 6,313.7 1,211.9 1,211.9
=1 Afas0
%>R > 1 CT 1=263a0Ka0Y Yo i 0.0 0.0 0.0 0.0 180.0 180.0 0.0 0.0
“T=AC 1=26=laAa0Y Y»h 0.0 0.0 0.0 0.0 180.0 180.0 0.0 0.0
“2a3Mar=- =137 1266 0.0 0.0 0.0 0.0 5,953.7 5,953.7 1,211.9 1,211.9
MaRTa00aUY»NC ~ BAC= - SAbAAYY»AC 1=Eéx»n 0.0 0.0 0.0 0.0 1,568.0 1,568.0 450.0 450.0
a3lU=Y3 - A3Y SE 12631a0ARIYV»1C O»EUH»Tail 1,015.0 1,015.0 0.0 0.0 33,974.0 33,9740 9,277.4 92774
=1 Afas0
- D=0=12A-4210Y 1=2631a0AE0Y Y i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




65€

20lase=T 07-06-01

40 41 42 43 44 45 46 47
- DO ISTT3T3Y 136340AlA6YY»A 1,015.0 1,015.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3E63T3AT3Y 136340AlasYY»A 0.0 0.0 0.0 0.0 33,974.0 33,974.0 9,277.4 9,277.4
T AVINSYaADN pYAIAC SE 1363 R0N&Y YR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2EUSEY= -0 =T 1363 1R0AA0YI»TC O»6Upmiiall 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
TP -G 3137 12631600 Voh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAS6CT Vara- a0~ =Na=Yai (126> A0Ra Vo 0.0 00| 4,000 4,000.0 900.0 900.0 0.0 0.0
YiaoA»h)
31 Atadu
DIV 3YHRC - 63003 1ARAUY-AC AYASGOCT Yana-ail 0.0 00| 4,000 4,000.0 900.0 900.0 0.0 0.0
asNa=vail
U\:Jéﬁé»ﬁ (‘Zéﬁ3Yl‘JY»ﬁ) 0.0 0.0 0.0 0.0 7,998.0 7,998.0 152,461.1 152,461.1
31 Atadu
T qIR2EVIET3ICY Vidbhn ~ N2 -&06 1 0.0 0.0 0.0 0.0 360.0 360.0 0.0 0.0
TANSYeAAN T 3T Yiashwn 0.0 0.0 0.0 0.0 4,860.0 4,860.0 0.0 0.0
T 26ANCSASNII3Y - EBpanSTan Yok h 0.0 0.0 0.0 0.0 24180 2,418.0 152,461.1 152,461.1
TAV63031CY ~ NSYRSICY 8YYAG VIAbA 0.0 0.0 0.0 0.0 360.0 360.0 0.0 0.0
TDST&T YAS T ST3CY SE ViaoA h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 62~®2P03690°6 0.0 0.0 0.0 0.0 243,246.0 243,246.0 54,376.3 54,376.3
31 Atadu
AVAS6CT 1i=USRYARNY »ft &0 1 212 N1 121G SF 0.0 0.0 0.0 00| 243.246.0 243,246.0 543763 54,3763
USTSASTY»icY
31 Atadu
~AVES6CT 1i=USRYARRY »1 8o 1 =T=Y ~ NSUSNU=KY aa 0.0 0.0 0.0 00| 243.246.0 243,246.0 32,4614 32,461.4
3¢ TASICY TIUUST»ARAAAAEYY»ACY
- AYA3C')Q-|- f'-ﬁ3U?BYéﬁNY»ﬁ S»>T3I3Y " N3USYU3ICY 0.0 0.0 0.0 0.0 0.0 0.0 21,914.9 21,914.9
3¢ TASICY TIUUST»ARAAGAIAEYY»ACY
“2EAVAS6CT TnSUSRY AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8a0k=t=120 Ua=é10°8 ©1 1°U6=Aap=10°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Atadu
846CE=1>Y 0-VARA=Y 1n=U= 127 S =R=ln aA=Up 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ya3ewY»h (laoc»Co)
31 Atadu
- 2F Ya3ewY»h pladc»Co 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE ~‘| ZEéoé 0.0 0.0 0.0 0.0 20,200.0 20,200.0 15,000.0 15,000.0
31 Atadu
D3RIoN, A=A S1CR Tx2RT»n T alkoR, AHaT0 ‘ 0.0 0.0 0.0 00 20,2000 20,200.0 15,000.0 15,000.0
I3e3|'3ﬁU3Y 'I'E?ﬁp?)ﬁ USI3A131Y»AC 1a0UCO ICA3éTaiu
»Y UCUBY6 YI=T1U3Upn
2[f I3Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 UEU=062120 TTA1U°SE 1121 12E6°8 0.0 0.0 0.0 00|  16,787.0 16,787.0 0.0 0.0
31 Atadu
D{EQL"JZTéU FzaoUed 0.0 0.0 0.0 0.0 16,787.0 16,787.0 0.0 0.0
31 Atadu




09€

20lase=T 07-06-01

40 41 42 43 44 45 46 47
poUg°5 1 PEDatAUas U035 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
32 Ai 4ol
- P>YU»AG ~ BCYADAABYY »AG RCY SA=RacAlanY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~P>YUnAC - BCYAOABIVY»IC T=AC 1 SE 1 »i=Vana - 23U 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7°g°020°8 ©1 628¢=1a0a0U°3 0.0 0.0 0.0 00[  16,787.0 16,787.0 0.0 0.0
= Ai 4ol
- 12Aa= 127 63A0=1aRa00Y > 0.0 0.0 0.0 00  16,787.0 16,787.0 0.0 0.0
—2EU» WY 3Voi - 63A0S1aRa00Y > 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2UE pE@UZT20 0E2a00°8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= Ai 4ol
- USES - 13> 1 S/a 12137 1SEeh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




T9€

§D=BETSYC D2YAS8» 1 AAIBY 2016 ATST2YC 8» =13V aic»C U=6CY! b

f»YUC 7-it NALT=TAT plabcr 20y T2ES»AC -aRT=26Y3T3Y 1263T20-U3Y 07 p=AYC 06

EUNC 02 136G 1A= -AvfC - Tal N2 =0 121 3 T20a00V»AC T»AT=V&00Y AT
IBEe»AC TV 1»63-Cr3T3Y 1363T37-03Y N4 T2 1V»A¢

P3i»ET31 N 5 - | »é30&(3T
200a56=3T N 07-06-02

S ATa0l ASH T7= - fofiG

TaRT=1Ch CRE 3V A0AI=3Y,
T 3T3Y T26313AU3Y
NSYASS»T3T3Y
TIASIU3BCY T263 13003y
USAUCYY»AC &3Na3Yasl
(Y2ESA2180AIYV»AC

AVIS(sVA SRESTSTUSAC US64T)
DALT=1C =V F=V4iUA aURA S ATay Aew
¢ A - T3 3A40V»AC
(=%=h =
A3OY»iaT < .
) f =
= i< g
. R
§ = @
A m bl
7 Bog L
g L
< *% .(")
n >
1 2 3
AU _20°UA 12E6°8 341,396.0|  341,396.0 341,396.0
3 ATasl
AUAZ20ET 12Eé°d 341,396.0 341,396.0 341,396.0
3 A4l
2pE2T2Ugk 12802Tda0AlascU 316,289.7 316,289.7 316,289.7
3 A4l
. A3VAT 1x3AT40 SREST3T3A0»A " NS T»E3 1x3AY»f 316,289.7 316,289.7 316,289.7
3 A4l
- 2RE3T1A0Y»AC SRES TS T3A0»A NS I»ES X3 Y»f 270,741.6 270,741.6 270,741.6
- a303030C313Y, 13T 33Y 7 »T3I3Y 3 45,548.1 45,548.1 45,548.1
1263140V»AC A=A - 31 Rao0
1282020A0a600°3k ©1 2a0620s0°3k 24,3421 24,342.1 24,3421
0o  ©5260
3 A4l
P3AaYST313Y I13Eé»h 18,355.9 18,355.9 18,355.9
3 A4l
- %Y»A-» 0 Cl 13é3(a6AIadYY»h 9,338.5 9,338.5 9,338.5
- TaU&sY3t 1363a0Ala0Y Y» i 239.2 239.2 239.2
“T=3AC 12631a0Ka0Y V»hi 5,618.2 5,618.2 5,618.2
- 233NAT3-A=13Y I3Eé»A 640.0 640.0 640.0
~A0I0C 6310 1aNa0UY»1C T 2n0= 1 SLa0Aia0y 2,520.0 2,520.0 2,520.0
ManTa0a0UY»1C ~ BACS - SIABARIYY»NC 12 Eé»h 3,231.8 32318 32318

20la6e=T 07-06-02



29€

1 2

a3UQ3Y3 -A3(CY 3E 1=3é63a0AIA0Y Y»AC O»éup»hasl 259.8 259.8 259.8
31 Afadu

- D3U=T13n-531CY 1363(a0AlasYY»h 50.0 50.0 50.0
- DO IBTTSI3Y 13¢3(aiAlaYY»h 113.5 113.5 113.5
- AYIN3Y4H7 pYadlAc 3 1=363a0AlaiY Y»i 96.3 96.3 96.3
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 462.5 462.5 462.5
YiaoA»h)

31 Afadu

- D»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu 462.5 462.5 462.5
a=Na=vas

U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 2,032.1 2,032.1 2,032.1
31 Afadu

- TiAZE»YISTIICY YiasA»n ™ N3 - 406 400.6 400.6 400.6
- TASYEAANT3ICY YiasA»i 1,543.9 1,543.9 1,543.9
- T»Y6303ICY " NSYASICY eYY1C YlaoAnii 87.6 87.6 87.6
2UE ~‘| ZEéoé 764.2 764.2 764.2
31 Afadu

P3fl»f, &3 W 31CA 1x3AY»i ~ wWailA», afayo 764.2 764.2 764.2

126317302 T3P USTSA1ISTY»AC TA0UC6 TCR=6T40U

»Y UGUI=Y6 YT=rU=0p

20la6e=T 07-06-02
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O -

a

rASETUSY
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CTRSEALC AN
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AY13U»YA N=1T=645U
13e(; =1 R T4A AA-e- N ANz o N N f e o
PO e 2a A L A [+ ATadU Aé S Araou Aé 3 A1adu Aér 3 Ataiu Aér
173 33 3 - = - P - ~ - . ~ .’ - ~ -
BATT=IC =YT=vaa (ﬁ";’l o . I=¥3RA0V»AG = [FEwEnednc [ |TEwERaobac | - [ TERAOTC
HBUY»AAT = . < > < . < .
) f b = f 5 f = f . =
= g 8 = = = g © = -
< o @ Ulg < \© -m < o & Ulg < [S4 & Ulg
= = o C G = LS > = o C @ = = o C @
A c i A A m M A c e A A c e A
> SIS > \ e > g N2 M > @ M) 2 M
0] o(‘U:mmzC 0] mm U] c(‘U;mmzC 0] c(‘U:mmzC
d oM 20 d Oy d o L0 d oM 20
> 8 o Bl > " i~ > 8 . Bl > 8 . Bl
< o 0 < =1 < o 0 < o 0
IE > 8 l% > l% >
1 2 3 4 5 6 7 8 9
AU _2@°UA 12Eé&°3s 760,248.8 354,844.0 354,844.0| 23,200.3 23,200.3| 10,243.4 10,243.4] 3,637.3 3,637.3
=1 ATaiu
AUA20LT 12Eé°8 760,248.8 354,844.0 354,844.0| 23,200.3 23,200.3| 10,243.4 10,243.4] 3,637.3 3,637.3
=1 ATaiU
jZéZUéﬁAUéﬁUUOB/E °1 23620gU°sE 71,898.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°eg” ©daid
=1 ATaiU
Ola6A»n (ZAn=YUY»h) 71,898.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATaiu
- IASE»YIEI3ICY YiabAsA ~ N=-406 1 71,898.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
. 02@2pUaspU°s 30,545.7 0.0 0.0 23,200.3 23,200.3 0.0 0.0 3,637.3 3,637.3
=1 ATaiU
_ASUSRYARANY»N UCC3-3I0Y 1303 1> aabAasYY»1icY 7,345.4 0.0 0.0 0.0 0.0 0.0 0.0 3,637.3 3,637.3
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31 Arasl
b3AaY 31313V 1SEExh 4,3845| 4,3845| 3,7543| 6302 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
“WY»0-» Gl 1263(A0AIA0Y i 2,440.3| 2,4403| 24403 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 1aUa0Y 3t 1363la0Aany Y»n 22.0 22.0 22.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T3AC 1363(a0Aa0Y Vi 16422 16422 111320 5102 0.0 0.0 0.0 0.0 0.0 0.0 0.0
-25330ai=-n313Y 13Eé»n 280.0| 2800 160.0 120.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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1 2 3 4 5 6 7 8 9 10 11
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 2,057.8( 2,057.8| 1,087.8 970.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 8,938.8( 2,639.0/ 2,139.0 500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 67.0 67.0 67.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 6,821.8 522.0 22.0 500.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 50.0 50.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 2,000.0( 2,000.0| 2,000.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 13.1 131 13.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 13.1 131 13.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 215.1 215.1 135.1 80.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 215.1 215.1 135.1 80.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 846.4 846.4 522.1 324.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 120.4 120.4 78.7 41.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 702.0 702.0 425.6 276.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 24.0 24.0 17.8 6.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 34,6734 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
€aipeCIC=Y»i > 3I3Y 33 T»AA40AIATY Y»ACY 34,6734 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 34,6734 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
. 6%@290369006 1,397,238.8|] 1,250.0( 1,250.0 0.0] 965,591.5| 19,220.0( 946,371.5| 150,055.1 150,055.1| 17,185.7 17,185.7
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 1,250.0/ 1,250.0( 1,250.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 1,250.0/ 1,250.0( 1,250.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA3OQ| ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 1,216,128.5 0.0 0.0 0.0| 965,591.5| 19,220.0( 946,371.5| 150,055.1 150,055.1| 17,185.7 17,185.7
USTSR1=TY»ACY
31 Afadu
- AYA3OQ| f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " N3U3YO=3(CY & 10,520.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA&AIY Y»ACY
- AYA3OQ| ?—ﬁ3Uf3BYéﬁNY»ﬁ a» 313y " NSU3lYo=SgY 1,205,608.5 0.0 0.0 0.0| 965,591.5| 19,220.0( 946,371.5| 150,055.1 150,055.1| 17,185.7 17,185.7
3¢ TASICY 133 T»RA40AI6Y Y»ACY
T?jég'l'3_E_}ﬁ3U?BYéﬁNY>>ﬁ a»T3I3YN3TI131C 3F 179,860.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- T2ACT 3t 1ABU3RYAANY»A &» 1 3T3Y " N3U3Yu3(CY 179,860.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20la5e=T 08-03-01

1 2 3 4 5 6 7 8 9 10 11
2(UE 12Eé°3 255 25.5 25.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afaiu
D3AT»fi, A3AW31CA 1x3MiY»A ~ wailA»f, afayu 255 25.5 25.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

12637302 T3P USTSALISTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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S ATl AS W 1A= -fiofiG
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P=6=A=T=T3Y T2AICUC

T
1»AEa0 1 A0ALAGY Y »AC
13¢3{a0AlasyY»h

TV&UY»AC - aTAVA=6G
NA=a=a=T3(yasAl=y

=5=Narai

31 ATaiU Aer 3 Atal Aer 31 Arasl Aer 3 Atal Aer
T=T340V»AC TS 1340V AC T3 13740V AC TS T3Aa0Y»AC
PALT3IC 3YT3YaiUA - - = - -
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z(?: O3 z(?: L= e =2 e 28
\ zg ;2 \ D \ S m \ A ;2
< T ] < 0% < = = < o 8
~>’: :E e ~>’: = % ~>’: m m ~>’: ~§3 e
d =0 d 0 f?v d N mLJJ d QM
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< 8% < o ) < =5 < 27
> Q :(D 8 >
0 g
%
=
12 13 14 15 16 17 18 19
AU _2@°UA 12Eé°3s 36,260.3 36,260.3| 7,623.2 7,623.2( 34,673.4 34,673.4 6,299.8 6,299.8
31 Arasl
AUA20LT 12Eé°8 36,260.3 36,260.3| 7,623.2 7,623.2( 34,673.4 34,673.4 6,299.8 6,299.8
31 Arasl
2pE2T2UgkE 12802TdatAlacU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
_ABUAT Tx3AT140 SREST3T3A0»A ~ NS T»E2 Tx3AY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
~ =05 0=00T3Y, IS STSY -~ & h 213 SF 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1363140V»AC A=A -3 Th&0
12&20asAladuUCBE @1 2482UgU°BE 0.0 0.0 0.0 0.0 0.0 0.0 6,299.8 6,299.8
0ceg” °daid
31 Arasl
P3faiYST3T3Y ISEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Arasl
%>R - > 1 CT 1263a0AE0Y Yo i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TAU&GY3E 13é3(adAladYvY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“T1=AC 12631a0Aa0Y VA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- 243Nai=3-A313Y I2Eé»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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12 13 14 15 16 17 18 19
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 6,299.8 6,299.8
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 6,299.8 6,299.8
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0| 34,673.4 34,673.4 0.0 0.0
31 Afadu
€aipeCIC=Y»i > 3I3Y 33 T»AA40AIATY Y»ACY 0.0 0.0 0.0 0.0| 34,673.4 34,673.4 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0| 34,673.4 34,673.4 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
562~®2PU&690°6 36,260.3 36,260.3| 7,623.2 7,623.2 0.0 0.0 0.0 0.0
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 36,260.3 36,260.3| 7,623.2 7,623.2 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " N3U3YO=3(CY & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA&AIY Y»ACY
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a» 313y " NSU3lYo=SgY 36,260.3 36,260.3| 7,623.2 7,623.2 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6Y Y»ACY
TE‘_élC'I'3E_3!-ﬁ3Uf3BYéﬁNY>>ﬁ a»T3I3YN3TI131C 3F 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- T3§lC'IT3’Efﬁ3p3_f3_YéﬁNY»ﬁ a» 313y " N3U3Yu3cY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ T A3ICY 133 T»RA40AIGY Y»ACY
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12 13 14 15 16 17 18 19
2(UE 12Eé°3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 Afaiu
D3AT»fi, A3AW31CA 1x3MiY»A ~ wailA»f, afayu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

12637302 T3P USTSALISTY»AC TA0UC6 TCR=6T400
»Y UCUIBY6 YT=3wU=30p
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Af»YOC 7-A1 NALT2TAT pidic» T =3CY T2Ee»AC - 4i1=26Y=T3Y 1363T37-U=Y 08 p=AYC 03
EUUC 01 126G Th=-f»AC - TaT N2 =7 =1 K= T=6a00Y»7C T»iAT=Ya0Y A6w
[SE6»AC WY 1»63-Cr313Y 1363120-U3Y NAaLT2TV»AC

20lae=T 08-03-01

S ATadU AT 7= - fofiC

p3[EeTr3Y-6aséu -anI3ToasAIBY
A»U=lar
N»éasew=3N30an1asUy»iac =
T»e3NAFAT3TY»AC A3 A=36wail

ba-"af- UB3-I-36A?DQY
N»€aie 1 31 »e3(CY
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R»YU - RCYAGAIAGYY»AC

8D3[=ew3Y( N=YASICY
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§p=3=¢w3YC N=3YASIcY
N »éé@é'l'3AY-l-’» f éﬁ/Z\UéﬁY: H
67 A-C T»EYCI3T3Y

"~ 63031400, Onéup»iasy fCUY=Yana- 460 T»ASHCY AU
H=10=6400
3 ATasU Aer 3 ATadU Ae 3 ATaU Aer 3 ATl Aer
T2 T3R40V»AC T2 T2R40V»AC T=T3/40V»AC T2 T23740V»AC
PA1T30C 3VT=3ValA - 5 - E - E - E
b = b > b > b >
- 3 - &'3 - o3 - &'3
0 = 0 5’2: i 0 5’2: i 0 5’2: <
= ,(?; = (?')- >—A_ = (?')- >—A_ = (?')- >—A_
S i S =3 S =< S =3
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9 > 9 no ] o ] no
> S > - > - > -
< @ < o (0 < o (0 < o (0
3 o o o o o o
] b b g
Eo) \93 \9\) *9\)
5 2 2 Z
20 21 22 23 24 25 26 27
AU _2@°UA 12Eé°3s 10,520.0 10,520.0| 28,892.7 28,892.7 50,000.0 50,000.0 129,860.3 129,860.3
SENYEN
AUAZ20ET 12Eé°d 10,520.0 10,520.0| 28,892.7 28,892.7 50,000.0 50,000.0 129,860.3 129,860.3
SEWYEN
2pE2T2Ugk 12802Tda0AlasU 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Afasu
_A=UAT x2A140 SRES TS T20000 N2 1562 Tx2AY»1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 ATasu
- 2RE3TA0Y»AC SRESTST3A0»A NS I»E3 Tx3Y»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- g30=30=003T3Y, 131313 -~ & 1S13Y 3E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
126=2180V»AC A=A - =1l
12&20a0AlasuUCBE ©1 2462UgU°dA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0°eg” ©5asD
31 Atadu
P3AaYST313Y I1SEé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 Afasu
“UY»ii-> 0 CT 12631A0AE0Y Y»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T TAU&0Y =t 126 =1a0Aa0Y Yo 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“ T340 1=26=1a0Aa0Y Yh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
“2&=0a1= -2 1= 12Ee»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20 21 22 23 24 25 26 27
Man1a0a00Y»AC ~* RAc= - S(aGAlAYY»AC 1S Eéxf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a3UQ3Y3 -A3(CY 3E 1=3é63(a0AIA0Y Y»AC Onéup»hasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- D3U=T13n-531CY 1363(a0AlasYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- DO IBTT3T3Y 1363(aAlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- U»fil3[3064004=313Y 13Eé»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- AYIN3YaA pYASAC 3 1363a0AlaiYY»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZUE U~3eY3 -CU313Y I363(a6Ala0YY»AC O»éup»iiasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- @2EY3-CH 313Y 1=3é63a0AlasyYYr»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AYA~30C| Yaiia-ail - A3Na3YaiU (13é3lasAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
YlaoA»fi)
31 Afadu
- P»U»Y3Y»C ~ 63AUS TanasUY»AC AYAS6CT Yana-aiu = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a=Na=vai
U\:Jéﬁé»ﬁ (‘Zéﬁ3YUY»ﬁ) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- TiAZE»YIST3ICY YiaiA»n ™ N3 - 406 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- TASYEAANT3ICY YiasA»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
- T»Y6303ICY " NSYASICY eYY1C YlaiAnii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eas” é/E?/EZUOB 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
€aipeCIC=Y»i > 3I3Y 33 T»AA40AIATY Y»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
_—_éé@pégl@s"Y»ﬁ 44 yCY3YE3T3Y a»r313Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13%U=3T»A&40AIA6Y Y»ACY
. 62~®2P03690°6 10,520.0 10,520.0( 28,892.7 28,892.7 50,000.0 50,000.0/ 129,860.3 129,860.3
31 Afadu
. r‘~13~U3BYéﬁNY»ﬁ UCe3%-3CY T3S T»NAasAAsYY»ACY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
31 Afadu
- AYA3OC| 1A3U3RYAANY »A UCe3Y- 3(CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
I3%U=3T»A&40AIA6Y Y»ACY
AYA3OQI ?_ﬁ3U?BYéﬁN“{»ﬁ AT3I3YN3TI131C 3 10,520.0 10,520.0( 28,892.7 28,892.7 0.0 0.0 0.0 0.0
USTSR1=TY»ACY
31 Afadu
- AYA3OCI f'-_r1~_3Uf3f3_Y_éﬁNY>>ﬁ a»T313Y " N3U3YO=3(CY & 10,520.0 10,520.0 0.0 0.0 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA&AIY Y»ACY
- AYA3OCI ?—ﬁ3Uf3BYéﬁNY»ﬁ a» 313y " NSU3lYo=SgY 0.0 0.0| 28,892.7 28,892.7 0.0 0.0 0.0 0.0
3¢ TASICY 133 T»RA40AI6Y Y»ACY
TE‘_élC'I'3E_3!-ﬁ3Uf3BYéﬁNY>>ﬁ a»T3I3YN3TI131C 3F 0.0 0.0 0.0 0.0 50,000.0 50,000.0| 129,860.3 129,860.3
USTSR1=TY»ACY
31 Afadu
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